5 Port Solenoid Valve

VQC4000/5000 Sseries

B Compact and large flow capacity

el [i\lilo]l Possible to drive cylinders up to 3160
\'[e[e:s[1[ ]} Possible to drive cylinders up to @180l e erge seea s 200 e,

VQC4000: 25 mm pitch
C[dm?¥/(s-bar)]: 7.3*

vQac5000: 41 mm pitch iz
Cl[dm3/(s-bar)]: 17* 45

* 2-position single, rubber seal: 4/2 — 5/3 (A/B — R1/R2)

2

(%]
<
[

=
0
E~Y

HEE

=
o

=
o

=
INI=
(]

B Extensive range of
protocols available
ooog® EthercAT_“- CONCpo

Ethen'et/IP ';“F' Devicei'et

P ' (CCrink  powertnk @ TO-Link
'ﬁ # W EtherNetIP™ and PROFINET are

B Connector type
manifold

=
-
(7]

=
|
m

Va7
(’ ’ compatible with wireless systems.

vQc ‘ @né} (0.95) =

Current product (1.0) 07 . e
e .0 °
= Low wattage type ( ): Standard /\ ;‘(«: /\

M Long service L RIISIEETES ol S

. (Metal seal) x .el’)i;/{ o ] ° .

Ilfe * According to SMC life test conditions S '_\“ ’ e ;(;f; - (. 2 . %‘\f;;p ;“;\].

. E e GhaaS 3352 o,

mEnclosure IP67 compliant "‘ .. 68 RS .3 2

+ Except F and P kits e B »

603 ©

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000/5000 series

m Compact and large flow

isti Note)
Model Valve pitch — IFlovlv rate characterlsnc; = |
(Series) [mm] Elallea ubber seal
C[dm%(s-ban)] | b Cv_| C[dm3¥(s-ban] | b Cv
VQC4000 25 6.9 0.17 | 1.7 7.3 0.38 | 2.0
VQC5000 41 14 0.18 | 3.4 17 0.31 | 47

Note) Flow rate characteristics: 2-position single, 4/2 — 5/3 (A/B — R1/R2)

m Applicable to EX600 (Input/Output) serial transmission system
(Fieldbus system)

B Compatible Protocols Reduction in wiring time with
V ® SPEEDCON (Phoenix Contact).
(CCLinkI’# Device ‘et Just insert and make

~ o 1/2 rotation!
Ethen'et/IP EtherCAT — zoioz’

HEtherNet/IP™ and PROFINET are compatible
with wireless systems.

= Handheld 4
_—+ Terminal .,

| Self diagnosis function

It is possible to ascertain the maintenance
period and identify the parts that require
maintenance, by an input/output open circuit
detection function and an input/output signal
ON/OFF counter function. Also, the monitor-
ing of input and output signals and the set- ¢
ting of parameters can be performed with a
Handheld Terminal.

.'Analog Unit can be connected
with analog input device or

analog output device.

As well as a Digital (switch) Input/Output Unit, a
Unit applicable to analog signal is provided, and
can be connected with various device for control.

| Max. 9 Units " can be connected in any order.

The Input Unit to connect input device such as an auto switch, pressure
switch and flow switch, and the Output Unit to connect output device such
as a solenoid valve, relay and indicator light can be connected in any order.

Note) Except Sl Unit
® 604

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



5 Port Solenoid Valve

B EX260 (Output device for driving 5 port solenoid valves)

Compatible Protocols

pevicortet = Link

—
® EtherCAT.
Eth ‘ t/IP ETHERNET Il o Bl i
%E ene POWERLINK [
Q@ I0-Link SYJ

Each 32/16 digital output type available in the series.
(Only the 32 point digital output type is available for IO-Link compatible units.)

Each negative common (PNP)/positive common (NPN) type available in the series.

Number of outputs 3
OUtpm polarity (Only the negative common (PNP) type is available for Ethernet POWERLINK and 10-Link compatible units. \t& of

| .\

>
By
3
!

=
-l
E~Y

Enclosure IP67 (For Units with D-sub connector, and when connected with S0700 manifolds, it is IP40.) va
12

Internal terminating ON/OFF switching is possible with an internal terminating resistor for communication. Va

resistor (Only for Units compatible with M12 PROFIBUS DP, CC-Link communication connectors) 4/5
vac
12

m A wide variety of prepackaged wiring configurations

la Kit Ii Kit I :I Kit i I Kit I ! Kit Kit
(Serial transmission) (D-sub connector) (Flat ribbon cable) (Terminal block box) (Lead wire) (Circular connector)

i

5

=
o
N

VFR
26 pins vu7
IP67 enclosure IP40 enclosure PR P40 enclosure IP67 enclosure IP67 enclosure IP67 enclosure
compliant compliant compliant compliant compliant compliant
© QOur six standard wiring packages bring a world of ease to wiring and maintenance work, while the protective enclosures of four of them conform to IP67 standards.
® The S kit is compatible combined I/0 Unit. (Not applicable to Gateway Unit)
[ | Con nector ty i Connector Wiring Diagram (Mixed wiring)
12 3 45 6
® The use of multi-pin connectors, to\replace wiring inside | oupu 4% ? o A
i : : : —JT 1——11 1o 1771T 10
manifold blocks provides flexibility whes adding stations or 1 —p5 A2 / - Bl 5
changing manifold configuration. g;, 3/ 31 / 3]s / 3[[[]s a[[
o All kits use multi-pin connectors, so swit s —|/ e i Aite il
(D-sub connector) to the S kit (serial tran g _ |l 6[[[le s[[]]e 6|[[le 6l
. . N . 17 717 7[[][7 7117 71|
done simply by changing the kit section. ; s STTTe i T8 o[
9 9 ol [[le ollllo 9[ll]e 9 |
D \ 10— |10 10([[ o 10[ [[jio 10[ || 10 10
| (Rgfer to the cgnnector wiring.diagram.) Nig 198 B 10 198 M10 198 Mg 197
¢ Printed circuit board patterns \e- | com. { 20 20[ [[]20 20[[[[20 20| [ |20 20
2 < tween connectors are shifted at sye o B -
= " I B station. This allows for viable conn Station 1 Station 2 Station 3 Station 4
[ E f ’I WL E -/ tions to take place without necessaril Double wiing ~ Single wiring ~ Double wiring ~ Single wiring
= <_> " specifying whether the manifold sta-
S tion is double, single, or mixed wiring.
Connector
m Connector entry direction can be
changed with a single push. r ki
The connector entry direction can be changed from the top to the side by
simply pressing the manual release button.
It is not necessary to use the manual release button when switching from
the side to the top.
605 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000/5000 series

Sub-plate/Base Mounted: Variations

Sonic
conductance

C [dm?¥/(s-bar)]
Serial transmission
Values:
(CYL — EXH) Gateway-type Integrated-type (1/0) Integrated-type (for output)
(4/2 — 5/3) EX500 EX600 EX245 EX250 EX260 EX126
. ok Compatible Compatible Compatible Compatible Compatible Compatible
\ = he 99 protocol protocol protocol protocol protocol protocol
4 -EtherNet/IP™ | .PROFINET* | -PROFINET -EtherNet/IP™ | . PROFINET -CC-Link
-PROFINET -EtherCAT -PROFIBUS DP | -EtherCAT
Sub-plate -PROFIBUS DP | - EtherNet/IP™* -DeviceNet™ | -EtherNet/IP™
-DeviceNet™ | . PROFIBUS DP -AS-Interface | -PROFIBUS DP
-DeviceNet™ -CANopen -DeviceNet™
-CC-Link -CC-Link
# Compatible with -Ethernet
’\\ wireless systems POWERLINK
. -10-Link

¥

L)

ta®
Single/Double

3-position (Closed center)

3 - -
J‘J..:. -~ i
. e, ™y L =t
Base mounted R Ly o \3 o

P40 compliant
IP67 compliant IP67 compliant P65 compliant IP67 compliant IP67 compliant IP67 compliant

vQCc4oo| 6.9 6.3

vac4dot | 7.3 6.4

vQcsoo | 14 11

vaQcsot | 17 13

]
3
12

=
]

=
=
3
2
3

2

=
S

=

]
3
12

=
]

=
=
2

2

k=]
S

=

vQc4oo | 6.9 6.3

Metal seal

[ J [ J [ J [ J [ J (]
Page 614 Page 614 Page 614 Page 614 Page 614 Page 614

vac4dotl | 7.3 6.4

Rubber seal

Base Mounted

vacsioo | 14 1

Metal seal

[ J [ J [ J [ J [ J
Page 652 Page 652 Page 652 Page 652 Page 652

vacsot | 17 13

Rubber seal

® 606

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



5 Port Solenoid Valve

Manifold options are the same as those for the VQ4000/5000 series. Refer to page 445.

Port size
D-sub connector | Flat ribbon cable | Terminal block box | Electrical entry | Circular connector %(’5 port |Cylinder port
D-sub connector | Flat ribbon cable | Terminal block box Lead wire Circular connector
Compatible with D-sub Compatible with flat (Terminal blocks) IP67 enclosure with IP67 enclosure with
connector that complies ribbon cable connec- use of multiple wire ( use of waterproof SV
with MIL standard. tor that complies with | | Terminals are con- ||cable with sheath and multiple connector
MIL standard. centrated in compact | \waterproof connector SYJ
clusters within the ter-
minal block box.
Sz
VE_
1,3 2,4 VP4
(P, R) (A, B) va
12
. . (1]
26 pins/20 pins 4/5
1P67 compliant 1P67 compliant 1P67 compliant
1P40 compliant P40 compliant vac
12
v
4/5
vVaz
SQ
VFS
1/4 1/4
3/8 3/8 VFR
(Re, NPT, NPTF, G) | (Rc, NPT, NPTF, G)
Va7
1/2 1/2
(Re, NPT, NPTF, G) | (Rc, NPT, NPTF, G)
C6 (for 26)
<SUP port> | C8 (for 28)
1/2 C10 (for 010)
(Re, NPT, NPTF, G)| €12 (for 212)
N7 (21/4")
[ ] [ ] [ ] [ J [ N9 (25/16")
Page 626 Page 628 Page 630 Page 632 Page 634 N11 (23/8")
<EXH port> |1/4
3/4 3/8
(Re, NPT, NPTF, G) | 1/4 (Bottom ported)
(Re, NPT, NPTF, G)
<SUP port>
D side 1/2
(Re, NPT, NPTF, G)
U side 3/8
(Re, NPT, NPTF, G) :132
[ J [ J [ J ([ ] [ ]
Page 664 Page 666 Page 668 Page 670 Page 672 | <EXH port> | /2 (Botiom ported)
. (Re, NPT, NPTF, G)
D side 1/2
(Re, NPT, NPTF, G)
U side 3/8
(Re, NPT, NPTF, G)
ZS\NC 607

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Cylinder Speed Char

VQC4000 This chart is provided as guidelines only. ' -
For performance under various conditions, use SMC's Model Selection Software before making a judgment.
Bore size
CJ2 series CM2 series MB, CA2 series CS1, CS2 series
Average speed | Pressure 0.5 MPa Pressure 0.5 MPa Pressure 0.5 MPa Pressure 0.5 MPa
[mm/s] Load ratio 50% Load ratio 50% Load ratio 50% Load ratio 50%
Stroke 60 mm Stroke 300 mm Stroke 500 mm Stroke 1000 mm
26 010 | 216 | 620 | @25 | 032 | 40 | 040 | 050 | 663 | @80 | 6100 | @125 | 6140 | 6160 \ 2180 \ 2200 \ 2250
1;32 | ‘ [ 1] Vertically upward
900 | \ [ 1 Horizontal
800 B B
700 B B
600 3 il il il
500 I il il il
400 i H i i
300 s il il il il il 1
200 i H i i i
100 1 , 1 1 1 -
il AR R

# Values at extension of a directly coupled cylinder when meter-out speed controllers are used with the needle full open.
* The average speed of the cylinder is obtained by dividing the stroke by the total stroke time.
* The load ratio is obtained by the following formula: ((Load mass x 9.8)/Theoretical output) x 100%

Conditions
Base mounted CJ2 series CM2 series MB, CA2 series ‘ CS1, CS2 series
Tube x Length T0604 x 1 m T1075x1m T1209x 1 m
Speed controller AS3002F-06 AS4002F-10 AS4002F-12
Silencer AN40-04 | AN40-04

Conditions [With SGP (Steel Pipe)]

Body ported MB, CA2 series ‘ CS1, CS2 series
Tube x Length SGP10AXx1m
Speed controller AS420-03
Silencer AN40-04

vVQC5000

This chart is provided as guidelines only.

For performance under various conditions, use SMC's Model Selection

Software before making a judgment.

Bore size
MB, CA1 series CS1 series
Average speed | Pressure 0.5 MPa Pressure 0.5 MPa
[mm/s] Load ratio 50% Load ratio 50%
Stroke 500 mm Stroke 1000 mm
050 | 063 | 080 | 0100 | o125 [ 0140 | 0160 | 2180 | 0200 } 9250
12)88 ‘ (1] Vertically upward E
900 ‘ I 1 Horizontal
800 —
700 — —
600 1 1 1
500 — — —
400 — — 3 3 |
300 - - - - '
oo BT il ]

+ Values at extension of a directly coupled cylinder when meter-out speed controllers are used with the needle full open.
= The average speed of the cylinder is obtained by dividing the stroke by the total stroke time.
+ The load ratio is obtained by the following formula: ((Load mass x 9.8)/Theoretical output) x 100%

Conditions
Speed controller Silencer | SPG (Steel pipe) dia. x Length
AS420-04 AN40-04 10Ax1m
608

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Sub_plate/Base Mounted Vanatlons ...................................................................................................... Page 606

Cyllnder Speed Chart .......................................................................................................................... Page 608
VQC4000 series

PIUGAIN: SINQGIE UNTE - oo oo et Page 610

Plug-in UNits MANIFOIE --ovvoreerree e eem e mee sttt Page 614

()
=<
-

S Kit (Serial transmission kit): EX600 [IP67)/EX500 [IPE7] «xrrewerrrrrrrersssrensnseees Page 618
EX260 [IP40/IP67]/EX245 [IP65]/
EX250 [IP67)/EX126 [IP67]

==
5|5 |5||K
=

SR
2 ||°R |

Page 626
Page 628
Vv
Page 630 4/
Vv
Page 632 |y,
Page 634
Page 636
Exploded View of ManifOld ....................................................................................... Page 637
specific PI’OduCt Precautions .................................................................................... Page 642
v
VQC5000 series v
Plug_in: single Unit .................................................................................................. Page 648
Plug_in Unit: Manifold ............................................................................................... Page 652
S Kit (Serial transmission kit): EX600 [IPE7]/ «xrrrererrrrrrrrrrsssrsressessesesesseesneeees Page 656
EX500 [IP67)/EX260 [IP40/IP67]/
EX250 [IP67)/EX126 [IP67)/
F Kit (D-sub connector Kit) [IP40] «««----x--veremmreemereiieniii i Page 664
P Kit (Flat ribbon cable Kit) [[P40] +--+-x--veremmeeemireiieii i Page 666
T Kit (Terminal block box Kit) [IPE7] +«-+-«x-veeermreeureiiiniiiiii i Page 668
L Kit (Lead wire klt) [|P67] .............................................................................. Page 670
M Kit (Circular connector Kit) [IPB7] «--«--xxxsueeermreiieniiiiii i Page 672
CONSEIUCHION v cverrrent ittt ettt e Page 674
Exploded View of Manifold -« «c ovremmri Page 675
SPecific Product Precautions ««---cccocveeeiii Page 680
609 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

<

I =

NS
o

=~
=

o
~



Base Mounted
Plug-in: Single Unit

VQC4000 Series (¢

Model
—
Flow rate characteristics Response time [ms] .
Series | Configuration Model Portsize| 11— 4/2 (P — A/B) 4/2 — 5/3 (A/B — EA/EB) | Standard: Lowl Wigyage V"[i'g]h‘
Comi(sbar) | b Cv |Crmista)]| b Cv 0.95W oﬁ) w
, Metal seal |VQC4100 6.2 019 | 15 6.9 017 | 1.7 20 22
S Single 0.23
= Rubber seal |VQC4101 7.2 0.43 | 2.1 7.3 0.38 | 2.0 25 27
8 Metal seal | VQC4200 6.2 019 | 15 6.9 017 | 17 12 16
N Double 0.26
Rubber seal |VQC4201 7.2 043 | 2.1 7.3 0.38 | 2.0 15 17
Closed Metal seal | VQC4300 5.9 023 | 15 6.3 0.18 | 1.6 45 47 028
center | Rubber seal |VQC4301 7.0 0.34 | 1.9 6.4 042 | 1.9 50 52 ’
VQC4000 3/8
Exhaust | Metalseal |vQC4400 6.2 0.18 | 1.5 6.9 017 | 1.7 45 47
< aus 0.28
2| center | Rubberseal |VQC4401 7.0 0.38 | 1.9 7.3 0.38 | 2.0 50 52
:‘?; Pressure | Metal seal |VQC4500 6.2 0.18 | 1.6 6.4 0.18 | 1.6 45 47 028
center Rubber seal |VQC4501 7.0 038 | 1.9 7.1 0.38 | 20 50 52 '
Double Metal seal | VQC4600 2.7 — — 3.7 — — 55 57 0.50
check Rubber seal |VQC4601 2.8 — — 3.9 — — 62 64 '

Symbol

2-position single
(A)(B)
42

513
(R1)(P)(R2)
2-position double (Metal)
(ﬁ)(g)

513
(R1)(P)(R2)

2-position double (Rubber)
»e

513
(R1)(P)(R2)

Plug-in unit

3-position closed center
(ﬁ)(g)

513
(R1)(P)(R2)
3-position exhaust center

(A)(B)

513
(R1)(P)(R2)
3-position pressure center

(A)(B)

513
(R1)(P)(R2)

Note 1) Cylinder port 3/8: Value for valve on sub-plate

Note 2) Based on JIS B 8419: 2010. (Supply pressure: 0.5 MPa, with indicator light and surge voltage suppressor,
clean air. This will change depending on pressure and air quality.) The value when ON for the double type.

Note 3) Table: Without sub-plate, With sub-plate: Add 0.41 kg.

Standard Specifications

Valve construction Metal seal ‘ Rubber seal
Fluid Air/Inert gas
[ Max. operating pressure 1.0 MPa
S ] ~ [single 0.15 MPa [ 0.20 MPa
g | Min. operating [, pre 0.15 MPa
?, i 3-position 0.15 MPa ‘ 0.20 MPa
& | Ambient and fluid temperature ~10 to 50°C Note 1)
g Lubrication Not required
s Manual override Push type/Locking type (Tool required)/Locking type (Manual)
Impact/Vibration resistance 150/30 m/s2 Note 2)
Enclosure Dust-tight (IP67 compatible) Note 3)
o Coil rated voltage 12,24 VDC
E .% Allowable voltage +10% of rated voltage
E % Coil |nsulat|lon type Class B or equivalent
w8 | Power [24 vDC 0.95,0.4
@ | m [12vDC 0.95,0.4

Note 1) Use dry air to prevent condensation when operating at low temperatures.

Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial direction
and at the right angles to the main valve and armature in both energized and de-
energized states every once for each condition. (Values at the initial period)
Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was

3-position double check
A) (B

» 610

performed at both energized and de-energized states in the axial direction and at
the right angles to the main valve and armature. (Values at the initial period)

Note 3) Only applicable to S, T, L and M kits

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Plug-in: single unit VQC4000 Series

How to Order Valves

Type of actuation

2-position single
P (éHg) 9

3-position closed center
1{4\)15)

1 3
513 513
(R1)(P)(R2) (R1)(P)R2)
2-position double 3-position exhaust center
= (NE) A)(B)
< 42 42
15} 4
=
513 513
2 R1)P)R2) R1)(P)R2)
2-position double 3-position pressure center
o) ®)®) (GG
2 4
= 5
S
[+
513 513
(R1)(P)(R2) (R1)(P)(R2)

Note)

3-position double check
A)(B)

513
(R1)(P)(R2)

Note) For double check type,

refer to page 478 of the
VQ4000/5000 series.

n Metal seal
n Rubber seal

Seal

Function

Nil Note 1)

Standard (0.95 W)

Y Low wattage type (0.4 W)

R Note 2)

External pilot

Note 1) When the power is energized continuously, refer to “Specific
Product Precautions 1” on page 642.

Note 2) For details about external pilot type, refer to page 481 of the
VQ4000/5000 series. In addition, external pilot type cannot
be combined with a double check spacer.

Note 3) When multiple symbols are specified, indicate them
alphabetically.

How to Order Sub-plates

VQ4000

Porting specifications
m Side ported
[ B_[Bottom ported ")}

PW_‘Q

Port sueI

Thread type
02 1/4
03 \ 3/8 \ N NPT
Note) For bottom ported, T NPTF
port size is 1/4 only. F G

ofo -L LI 1-L ]

€

m Side ported
“ Bottom ported

Manual override

Porting specifications

Nil: Non-locking
push type
(Tool required)

&

B: Locking type
(Tool required)

C: Locking type

(Manual)
b

Light/Surge voltage suppressor

[ il

Yes |

|__E_ | ithout ight, with surge voltage suppressor |

Coil voltage
[5] 24 VDC |
e ] 12 VDC |

C€

[Option]

CE-compliant

CE-compliant

+ Replacement of pilot valve assembly

+ (Voltage)
- Refer to page 640 for pilot valve assembly

part numbers.

- Refer to page 643 for replacement method. &

611

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

Thread type Y]
Nil
N NPT
| [SYd
F G |:
Port size sz
q Without sub-plate
Il (For manifold) ‘VF
02 1/4
03 3/8 VP4

| <
S0 RS

=
NS
(]

s
ﬁ

=
[=]
N

8

HEE
~N|| || on



VQC4000 series

Dimensions: Plug-in Type

Conduit terminal

2-position single: VQC410%-01

2 -+
2 156 0
106
Indicator light 90 50
11 (12.5) 11 (12.5) e €
4(A) port 2(B) port ,\
& = _ _ _ 2 ¥ Z_ 1% Yglw
i £ n
8 =]
7—%:———@5&7; | 382 s 2 2
,@ 9 (w8 0 o =@ 2x056 13_5.~_‘15J
- 30 45
30 45 ‘ 2 % 05.6 Mounting hole
Manual override Mounting hole
(5(R1), 3(R2) port: 1/4")
Bottom ported drawing
| | |
g
| (| 5
T H }@ = ‘ ~
3 8 b
0 g 8 vI
= oood I
G1/2 19.5 1195 1/8"
Electrical entry 1/8" (21) | (21) External pilot port
PE. port 31 31 1/4", 3/8"

1(P), 4(A), 2(B), 5(R1), 3(R2) port (): Values for 3/8"
2-position double: VQC4203-01 3-position double check: VQC4603-01
3-position closed center: VQC4303-01
3-position exhaust center: VQC4403-0
3-position pressure center: VQC4503-C] 2 106

Indicator light
2 165 Indicator light
106 59
90 50
11 (12.5) 11 (12.5) 4% 7% L ﬁiw @
4(A) port 2(B) port N
[ (O E Bl a o ——*
(o000l
> £ Cl ol o Manual override 2
—- ———«Jﬁ)ﬂ —{— ——b—— < B R x 05.6
il }' D B 4@‘ Nl Mounting hole
,m, ‘ (e} ‘ m @ m @ @@7
Geooouol] 30 45| \2xo56
Manual override Mounting hole
} | }
I
ol 1
| | | © G1/2 d i
%\ [ } ; | - ~ Electrical entry U
8 L © - 13
o %g H fam i A b B ol |2
e ¥ ; = = 'y i
118" [19.5 195 1/8" B i ‘ =
PE. port (121) (213)1 External pilot port 1/8" ‘ 1/4" 3/8"
G1/2 114", 3/8" PE. port 1(P),4(A),2(B),5(R1),3(R2) port
Electrical entry 1(P), 4(A), 2(B), 5(R1), 3(R2) port

® 612

[ Values for 3-position
(): Values for 3/8"

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Base Mounted
Plug-in Unit

VQC4000 Series (¢

How to Order Manifold

Vv5QC41 -

I

Vv5QC 4 1

VQC4000 serles

Base mounted plug-in

0 Valve stations

i

S kit
The selectable items vary for each series. Select
from the applicable item numbers in the table below.

Series ltem number (Refer to pages 614, 615 and 615-1)
EX600 0060 (/,(/,@, . ®
EX245 006006600
EX250 00,0060 0,060
EX500, 260, 126 @, ©. ©. 5, @/1

TDO

RxIErTrEeY

@ With or without I/O modules

o S BlPsis]

@ Number of input blocks

[o1 ] 1 station \ (Enter EX245-compliant S kit only.) Enter only for S kit with EX250.)
8 T - - Nil Without SI Unit (SDO)
1l : | [N Without /0 module o Wi
The maximum number of stations differs depending on ‘ Y ‘ With 1/0 module '_ ou llnpu oc
the electrical entry. (Refer to Il ®) 1 With 1 input block
Note) In the case of compatibility with the S kit/As-Interface, H H
the maximum number of solenoids is as shown below, @ Number of I/0 modules 4 With 4 input blocks
so please be careful of the number of stations. E EX245. liant S ki " = =
8in/8 out: Maximum 8 solenoids (Enter -compliant S kit only.) g :
4 in/4 out: Maximum 4 solenoids Nil Without I/O module 8 With 8 input blocks
TR & ! (Without SI Unit)
ILAEALIEAL 1 1 station (2 Input block type
g : (Enter only for S kit with EX250.)
S 8 8 stations Nil Without input block
Emama e 1 M12, 2 inputs
[Dside] Stations- 123456780 End plate type 2 M12, 4 inputs
* Stations are counted from station 1 on the D-side. (Enter only for EX600-compliant S kit.) 3 M8, 4 inputs
Nil Without end plate
Q Cylinder port size 2 | M12 power supply connector, B-coded @ :25:}0':10%': gko“M with EX250.)
C6 | With 06 One-touch fitting | N 11 For 03/8" 3 7/8 inch power supply connector Y NP - -
(C8 | With 08 One-touch fitting| 02 1/4 4 | M12 power supply connector INJOUT, A-coded, Pin arrangement 1 Nil orwith:jtniz(;[:ltng\g‘ck
C10| With 910 One-touch fitting | 03 3/8 5 | M12 power supply connector IN'OUT, A-coded, Pin arrangement 2 N NPN sensor nput
C12 With 12 One-touch fiting| B | Bottom ported 1/4 Note) Without SI Unit, the symbol is nil. Inpul
N7 For g1/4" cm Mixed * The pin layout for “4” and “5” pin connector is
N9 For 05/16" different. @ Option
Nil None

e Thread type
Nil Rc
F G
N NPT
T NPTF
® 614

1/0 Unit stations
(Enter only for EX600-compliant S kit.)

K | Special wiring (except for double wiring)

N With name plate (available for T kit only)

SNete)|  Direct EXH outlet with built-in silencer

Nil None
1 1 station
9 9 stations

Note 1) Without SI Unit, the symbol is nil.

Note 2) S| Unit is not included in I/O Unit stations.

Note 3) When I/O Unit is selected, it is shipped
separately, and assembled by customer. Refer
to the attached operation manual for mounting
method.

Note 4) Refer to page 646 for details about the enclosure.

Note) The silencer is built into the R port passage of the end
plate and the silenced air is exhausted from the R port.
+ When two or more symbols are specified, indicate
them alphabetically.
Example: -KNS

Refer to Best Pneumatics No. 1-1 and the Operation Manual for the details of
EX600 Integrated-type (For I/O) Serial Transmission System. Please download
the Operation Manual via our website, http://www.smcworld.com

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




n Kit type/Electrical entry/Cable length

pug-nunit VQC4000 Series

number of stations is

+ Numbers in parentheses represent the maximum number of solenoids in case of mixed single and double wiring. The maximum

by the total number of solenoids. When ordering mixed wiring, please add the option symbol “-K”.

kit
(D-sub connector)

kit
(Circular connector)

kit
(Terminal block box)

kit
(Lead wire)

€

(%]
<
[

s|<||
V(M| N
E~Y

| <
S0 RS

=
NS
(]

s
ﬁ

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

P67 compliant
FDO | D-sub connector (25P) without cable | 11,42  [MDQ | Gircular connector (26P) without cable| 1 15 1o VQZ
FD1 | D-sub connector (25P) with 1.5 m cable stations [MID1 | Circular connector (26P) with 1.5 m cable stations 110 10 stations | LDO | Lead wire 0.6 m lead wire 110 12 stations
b comector (25P) with 0 m cable | (16 stations, (MID2 | Circular connector (26P) with 30m cable | (16 stations, | TDO| Terminal block box (16 stations, |LD1 | Lead wire 1.5 m lead wire (16 stations,
D-sub comector (25P) wih 50mcable_| 24 POIntS) [VID: 3 Circuar comnector (26P)with 50m cable | 24 points) 20points) [ D2] Lead wire 3.0 m lead wire 24 points) SQ
kit <
(Flat ribbon cable) 23 VFS
N
S
IP40 compliant vu7
Note) For a 20P flat ribbon cable, the cable assembly must be ordered separately.
PDO |Flat ribbon cable (26P) without cable
PD1 |Flat ribbon cable (26P) with 1.5 m cable 1 to 12 stations
PD2 |Flat ribbon cable (26P) with 3.0 m cable (16 stations, 24 points)
PD3 |Flat ribbon cable (26P) with 5.0 m cable
PDC | Flat ribbon cable (20P) without cable 1o 9 stations (16 stations, 18 points)
615 ©



VQC4000 series

@ Kit type/Electrical entry/Cable length

+ Numbers in parentheses represent the maximum number of solenoids in case of mixed single and double wiring. The maximum
number of stations is determined by the total number of solenoids. When ordering mixed wiring, please add the option symbol “-K".

kit
(Serial transmission kit (Fieldbus system) :

kit

(Serial transmission kit: EX500 gateway-type)

kit

(Serial transmission kit: EX260 integrated-type (for output))

EX600 integrated-type (for 1/0))
IP40 compliant
Sl unit: EX260
Sl unit: EX600 Protocol Nun:betv of Commu:w;anon Stations
_ ) outputs connector
g 0Q \[/)\Ilthou;\‘ s:‘t’:mt Sl unit: EX500 Without SI unit 110 12 stations
eviceNet i
D6N | PROFIBUS DP ) DeviceNot™ (22— iz ({10 salons 24 pfﬁ‘;::[;
D6V CC-Link Note) A separate gateway unit and ‘ L
D6F | PROFINET 1t0 12 communication cable are required. 32 Mip | Hof2seors[16salors 2gofis)
D6ZE | EtherNetIP™ (1 port) stations  "SHGA T without S1 unit — = PROFIBUS DP |—1 ! gty
eret po! (16 stations, 32 1o 12ions 16 sions 24 gt
D6EA | EtherNet/IP™ (2 port) 24 points) | SDA3 EX500 Gateway Decentralized| 32 11012 talions 16 D-sub 1 Tpors)
D6D | EtherCAT System 2 (128 points) outputs | (16 satons, 24 ponts) SVA 32 o T2:82rs (16 s, 2400 l;)
[SDBWE | EtherNetIP™ compatible wireless base 1 CC-Link M12 m P
g EX500 Gateway Decentralized| 16 | |108saions |SVB 16 1 1airs)
SD6WF | PROFINET wireless base SDA2 System (64 points) outpus| (16 tators, 16 32 T T2 1o 24 o)
SD6WS | Wireless remote points) EtherCAT 16 M12 1 Topun)
kit 32 1o 12 statons (16 satons, 24 pos)
(Serial transmission: EX245 integrated-type (for 1/0)) PROFINET 16 M2 1 16 poins|
32 Mi2 11012 stations (16 satons, 24 pint)
16 16 points)
C icat c v Ethernet 32 Mi2 11012 safon (16 statons, 24 pont)
Symbol | Protocol | SO O | renedticatons| Stations POWERLINK[ 16 108 sl o, 6 o)
SDOB Without ST unit 10-Link 32 M12 |t 4 painls)
SDAAN Push/Pull (SCRJ): | Push/Pull 24 V): | 1to12 Kit
2 pes. 2 pes. stations (Serial transmission kit: EX126 integrated-type (for output))
> PROFINET | Push/Pull (RJ45): | Push/Pull (24 V): | (16 stations,
Sl unit: EX245 S 2 pes. 2 pes. 24 points)
) SDACN M12: 2 pes. 7/8 inch: 2 pcs.
kit
(Serial 1 kit: EX250 ir type (for 1/0)) S unit: EX126
| P67 compiant |
SDo Without SI unit 110 12 stations
SDQ DeviceNet™ (16 stations, 24 points) SDVB][CC-Link [1to8 sates (1 saons 16 o
SDN PROFIBUS DP
SDTA | ASinterace, 8in/8 out, 31 slave modes, 2 power supply systems | 1o 4 stations (8 stations, 8 paints)
SDTB | ASintertace, 4in/4 out, 31 slave modes, 2 power supply systems | 1 to 2 stations (4 staions, 4 paints)
SDTC | ASinterface, 8in/8 out, 31 slave modes, 1 power supply systems | 1o 4 stations (8 stations, 6 paints)
SDTD | ASinterface, 4in/4 out, 31 slave modes, 1 power supply systems | 1o 2 tations (4 stations, 4 paints)
Sl unit: EX250 M [SDY | CANopen 110 12 stations
. SDZEN | EtherNet/IP™ (16 stations, 24 points)
@ Sl unit output polarity
Sl unit EX250 integrated-type (I/O) serial transmission system
output polarity DeviceNet™ PROFIBUS DP AS-Interface CANopen EtherNet/IP™
Nil [Positive common — — — — —
N_|Negative common o o 0] o o
Sl unit EX2.45 |ntegrateq-type (/o) EX260 integrated-type (for output) serial transmission system
el serial transmission system
put P i PROFINET DeviceNet™ | PROFIBUSDP | CC-Link EtherCAT | PROFINET | EtherNet/IP™ |EthemetPOWERLINK|  10-Link
Nil [ Positive common — @) @) @) @) [¢) [¢) — —
N_|Negative common @) [@) @) @) @) @) [¢) [¢) [¢)

Sl unit
output polarity

EX500 Gateway Decentralized System 2 (128 points)

EX500 Gateway Decentralized System (64 points)

Nil [Positive common — 16}
N_|Negative common @) [¢)
St unit EX600 integrated-type (I/O) serial transmission system
unit . . EtherNetIP™ compatble | PROFINET compatible [~ Wireless
output polarity DeviceNet™ | PROFIBUS DP CC-Link EtherNet/IP™ EtherCAT PROFINET R T .
Nil [Positive common [¢) [@) [¢) [@) [¢) @) [®) [¢) [®)
N_|Negative common [¢) [@) [¢) [@) [¢) [@) [¢) [¢) [¢)

# Leave the box blank for without SI Unit (SDOLJ, SD60).

® 615-1

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




VQC4000 series

How to Order Valves

VQc4[1]o

VQCc4000 series—l_ ®

3 I

®) Type of actuation Seal type (® Light/Surge voltage
2-position single 3-position exhaust center ‘ 0 ‘ Metal seal ‘ suppressor
(AA) (ZB) (Ag (ZB) ‘ 1 ‘ Rubber seal ‘ Nil Yes
1 4 E Without light, with surge
© Function voltage suppressor
513 513 - Tote 1)
(R1)(P)(R2) (R1)(P)(R2) Nil "o Standard (0.95 W) @ Manual override
Y Low wattage type (0.4 W)
2-position double (Metal) 3-position pressure center RNoe?) External pilot Nil
A) (B B) .
¢ l (2 ) , 4 (2 ) Note 1) When the power is energized con- Non-locking
5 tinuously, refer to “Specific Product push type
Precautions 1” on page 642. (Tool required)
513 5'13 Note 2) For details about external pilot type,
2 (R1) (P)(R2) (R1)(P)(R2) refer to page 481 of the VQ4000/5000
2-position double (Rubber) 3-position double check . thnsrz[:ﬁiu.le symbols are specified, indi-
®® ® (ZB) cate them alphabetically.
e LB ]
513 513 Push-turn
(R1)(P)(R2) (R1)(P)(R2) locking type A
3-position closed center @ Coil voltage (Tool required)
®® 5 ] 24 VDC Note) |
3 [ 6 | 12 VDC |
Note) S kit is only available for 24 VDC.
513
(R1)(P)(R2) ﬁ
&5}
Turn locking
type (Manual)
© 616

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

How to Order Manifold Assembly: EX600*

Example (VV5QC41-[1SD6L])

Digital Input Unit  Digital Output Unit 2-position single

EX600-DXPD EX600-DYPB VQC4100-51 (3 sets)
End plate Note) Sl Unit Note) 2-position double
EX600-ED2 EX600-SDN1A \VQC4200-51 (2 sets)

Ty

Bl
ael
ael
ael
&l

How to Order Manifold Assembly: EX245*

Example (VV5QC41-SDAANC])

Digital output module  Digital input module

EX245-DY1 EX245-DX1
End plate Note) Sl unit Note) 2-position single
EX245-EA2-4 \EX245-SF‘N1 A VQC4101-51 (4 sets)
&l S —Tee)

HEE]
¢ ¢ ¢ @
» P PP
P L [
2 1--- /O module stations 1 2 3 4---Valve stations

VV5QC41-0502SD6Q2N2---1 set (S kit 5-station manifold base part number)
*VQC4100-51- 3 sets (2-position single part number)
+*VQC4200-51-. 2 sets (2-position double part number)
*EX600-DXPD. 1set 1/0 Unit part number (Station 1)
*EX600-DYPB. 1set 1/0 Unit part number (Station 2)

The asterisk denotes the symbol for assembly.
Prefix it to the part numbers of the valve etc.

- The valve arrangement is numbered as the 1st station from the D side.

- Under the manifold part number, state the valves to be mounted, then the I/O Units in
order from the 1st station as shown in the figure above. If the arrangement becomes
complicated, specify on a manifold specification sheet.

Note) Do not enter the Sl Unit part number and the end plate part number together.

VV5QC41-04C8SDAANY2----1 set (S kit 4-station manifold base part no.)
*VQC4101-51.... -4 sets (2-position single part no.)
*EX245-DX1 -1 set I/O unit part number (Station 1)
*EX245-DY1 -1 set I/0 unit part number (Station 2)

The asterisk denotes the symbol for assembly.
Prefix it to the part numbers of the valve etc.

- The valve arrangement is numbered as the 1st station from the D side.

- Under the manifold part number, state the valves to be mounted, then the 1/0
module in order from the 1st station as shown in the figure above. If the
arrangement becomes complicated, specify on a manifold specification sheet.

Note) Do not enter the SI Unit part number and the end plate part number together.

* The EX245/250 I/0 module (block) station arrangement is numbered starting from the Sl unit side.

Manifold Specifications

Piping specifications Note2) | Applicable 5-station
Series Base model Connection type Port Port size Note 1) Applicable solenoid weight
direction 1,3 (P, R) 2,4 (A B) stations valve [a]
WF kit: D-sub connector C6(foro6) | g\ m, piit
WP kit: Flat ribbon cable _ P /2 C?ﬁ gfjﬁ 2?2)) (1 to12 S‘aﬁons) 2282
VQC4000 | Vv5QCat.I | T K Teminalblookbox | S 7 6 WINPT | 12 10r012) (1110 tatons)| 272" | out vty
WS kit: Serial transmission R: 3/4 VARCGNPTNPTR) | (| VQCATOT51 | Not nciuing
ML kit: Lead wire (Re, G, NPT/NPTF) | 3/8 (RcGNPTINPTF) ( it ) valve weight.
a TloTosis 5 085
MM kit: Circular connector Bottom (Re,G,NPT/NPTF) | \1108saiors EXS0, EXG0

Note 1) One-touch fittings in inch sizes are also available.

Note 2) An optional specification for special wiring is available to increase the maximum number of stations.
Note 3) Depending on the protocol, there is a limit to the number of stations an S kit can be applied to. Refer to page 615-1 for details.

® 616-1

Courtesy of Steven Engineering, Inc - (800) 258-9200 -

sales@steveneng.com - www.stevenengineering.com




pug-nunit VQC4000 Series

Sl Unit Part Number Table

EX600 Integrated type (For Input/Output) EX126 Integrated type (For Output)
Symbol Applicable S| Unit part no. Page \Symbol\ Applicable protocol \ Sl Unit part no. \ Page \
Y protocol Negative common (PNP) | Positive common (NPN) 9 \SDVB\ CC-Link, Positive common (NPN) \ EX126D-SMJ1 \ 639 \
SD6Q| DeviceNet™ EX600-SDN1A EX600-SDN2A
SD6N| PROFIBUS DP | EX600-SPR1A EX600-SPR2A EX500 Gateway Decentralized System 2 (128 points)
SD6V| CC-Link EX600-SMJ1 EX600-SMJ2 ST Unit part no. SV
SD6F | PROFINET EX600-SPN1 EX600-SPN2 Symbol Negative common (PNP) Page
EtherNet/IP™
speze| (herls EX600-SEN1 | EX600-SEN2 SDA3 EX500-5103 s | 1SV
™
SDeEA| hertiet!P EX600-SEN3 | EX600-SEN4 | 638 Sz
P EX500 Gateway Decentralized System (64 points)
SD6D| EtherCAT EX600-SEC1 EX600-SEC2 =
EtherNetIP™ compatble Symbol S i i page | \IF
SD6WE witeless base No‘ef EX600-WEN1 EX600-WEN2 Positive common (NPN) | Negative common (PNP)
T -
SDGWF | PROFINET conpatble | x600-WPN1 | EX600-WPN2 SDA2 EX500-Q001 EX500-Q101 e3s | IP4
SDBWS| Wireless remote ™) EX600-WSV1 EX600-WSV2

=<
NS

Note) The wireless system is suitable for use only in a country where it is in
) y y v EX250

accordance with the Radio Act and regulations of that country. Integrated type (For Input/Output)

) 5 v
EX245 Integrated type (For Input/Output) Symbol Applicable protocol Sl Unit part no.| Page ‘ 4/%
Symbol | Compatible protocol Sl unit part no. Page SDQ | DeviceNet™, Negative common (PNP) | EX250-SDN1 vac
gg:g": EX245-SPN1A SDN | PROFIBUS DP, Negative common (PNP)| EX250-SPR1 12
PROFINET EX245-SPN2A 639 AS-Interface, Negative common (PNP).

SDACN EX245-SPN3A SDTA (8in/8 out, 31 slave modes, 2 power supply systems) EX250-5AS3 X/05

EX260 Integrated type (For Output) SDTB AS-Interface, Negative common (PNP), EX250-SAS5
g )’;p ; pSI e (4in/4 out, 31 slave modes, 2 power supply systems) 639 QZ
Applicable  [Numoer nit part no. C icati "
Symbol of — Page AS-Interface, Negative common (PNP),
SyQA protocol 0?@5 b:;gxmgecgmnsxolnj(mvm :;S)lgvzeggﬂmsog':jg) connecor 9 SDTC (8in/8 out, 31 slave modes, 1 power supply system) EX250-5AS7 sq
. 60-! 1 - :
DeviceNet™ AS-Interface, Negative common (PNP), g

gﬁg (132 E;gggggg? Eiggggggg M12 SDTD (4in/4 out, 31 slave modes, 1 power supply system) EX250-8A89
"SNB | 16 EXZSO:SPRS EX260:SPR4 SDY | CANopen, Negative common (PNP) EX250-SCA1A VFS
SNC | PROFIBUS DP 32 |EX260-SPR5 | EX260-SPR6 besub SDZEN| EtherNet/IP™, Negative common (PNP) | EX250-SEN1
aND | -sul

SND 16 |EX260-SPR7 | EX260-SPR8 VFR

SVA ) 32 |[EX260-SMJ1 | EX260-SMJ2 M For details about the EX series (Serial Transmission System), refer to Best

SVB CC-Link 16 |EX260-SMJ3 | EX260-SMJ4 12 F‘neumatics No. 1f1 and the Qperation Manual. Please download the vu7

SDA EtherCAT 32 |EX260-SEC1 | EX260-SEC2 M12 639 Operation Manual via SMC website, http:/www.smcworld.com

SDB 16 | EX260-SEC3 | EX260-SEC4

SFA 32 |EX260-SPN1 | EX260-SPN2

SFB PROFINET 16 | EX260-SPN3 | EX260-SPN4 M12

SEA | 32 | EX260-SEN1 | EX260-SEN2

SEB | CiMerNeVIP™ 6 TEx260-5EN3 | Ex260-SEN4| 12

SGA |Ethernet 32 |EX260-SPL1 — M12

SGB | POWERLINK [ 16 |EX260-SPL3 —

SKA |10-Link 32 |EX260-SIL1 — M12
Manifold Options For details about options, refer to page 476 or later of the VQ4000 series.

ing plate bly Indivi SUP spacer Individual EXH spacer SUP/EXH block plate

VVQ4000-10A-1 VVQ4000-P-1- 32 VVQ4000-R-1- 32 VVQ4000-16A (1 pc./set)

/ @ EXH block plate
~ (Order q'ty: 2 pcs.
SUP block plate ¢ aty:2pes)

Restrictor spacer Double check spacer with residual pressure exhaust SUP stop valve spacer Interface regulator (P, A, B port regulation)
VVQ4000-20A-1 VVQ4000-25A-1 Note) VVQ4000-37A-1 AHBQ4000-00-§-1

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

vVQC4000
Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System
VvV5QC41

S kit (Serial transmission kit: EX600)
Power supply with M12 connector

L2
5.5 47 m + 66 L1
Output connector
Digital Input Unit Digital Output Unit 655 65
Communication
Input connector
“Bu connecter connector S1 Unit Indicator light
Power connector Manual override 2%
"
% FE terminal EZ T RTRTERTERTE T =
o
= & v / ]
[ 58 [ Beecs
. —@F e b blb[e|b|lb|b|b ol o
© &
g EIEING o T 1S (0 od o () Ul o e
w | 10 P 1)) U Us) GR) UL By
0 ® e
S ED © » DIRI G g o L .
% Marker groove\ \;.} T i
2 47 47 o
2 x M4 Mounting hole 6, n Valve plate -
Connector for Handheld Terminal
End plate
a4r D side] (Stations) (D)2 (D& (&-D®) (D) [Uside]
P
L] - - - - L]
AW «
PNESESESESESES Qgg
¢ RN
YanVanNiVai YaVanNiVai ol ©
DANANANAN AN AN AR T
©
1/8" g‘ 2 Sl
External pilot port - 27.9 -
" 33.5
1/8 1/4", 3/8"
PE. port C6, C8, C10, C12, N7, N9, N11 7.5
4(A), 2(B) port 45.2
Bottom ported
<P/R port side> <Bottom side>
345 477
‘ ¥
Ehor o=ty ]
CT7ANIAY 1 l:ﬂ
OO T8
7N 7Y o l:ﬂ
COWE W0
T i
2n x 1/4"

4(A), 2(B) port
+ Other dimensions are the same as the side ported type.

Dimensions Formula: L1=25n + 106, L2 = 25n + 184 = L2 is the dimension without /O Unit. Add 47 mm for each additional I/O Units. » “m” is number of /O Units. n: Stations (Maximum 16 stations)
L UK 2 3 4 5 6 7 8 9 10 1" 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 209 234 259 284 309 334 359 384 409 434 459 484 509 534 559 584

® 618
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




vVQC4000
Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System

Plug-in Unit VQC4000 series

VV5QC41

S kit (Serial transmission kit: EX600)

Power supply with 7/8 inch connector

€

16.5 L2
5.5 47 m + 66 L1 SYJ
Communication
connector 65.5 65
Digital Output Unit sz
Digital Input Unit | || Output connector Indicator light .
Manual override  £2% VF
Input connector N
W RTORTERTETERTER j:‘f VP4
/ o
va
- JIRIRIRIRIRIR) ol o 12
©
5 7 iy e i A
0 pT el el P el 0@ 45
@ vac
~ © S ex B || o
1 [ et | 12
Marker groove i G—F Vac
3
Power connector 26 47m 47 Valve plate =)
FE terminal Connector for Handheld Terminal QZ
2 x M4 Mounting hole
End plate s
3/4"
Gelony) (DO B E©-D-®® VFS
2 P
- E; G va7
e o ol &
a m ol vl &
© W ~| @ —
8 ARANNTEL
,,,,,,,, P P T T | Sy Y
oty
External pilot port 27.9
108 &
PE. port 1375
45.2
1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions Formula: L1 = 25n + 106, L2 = 25n + 184 = L2 is the dimension without /O Unit. Add 47 mm for each additional I/O Units. * “m” is number of /O Units. n: Stations (Maximum 16 stations)
L 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 209 234 259 284 309 334 359 384 409 434 459 484 509 534 559 584
619 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

vVQC4000
Kit (Serial transmission kit): For EX500 Gateway Decentralized System 2 (128 points)

VV5QC41
S kit (Serial transmission kit: EX500)

Indicator light Manual override
L2
39.5 L1 (6.5)

+

D'*XD"DD"D D'ém E'EJi

43.9

101.4
90.9
[ ] ]
il T o
— "
\TJ
—
—
—— 1
s
——
\TJ
Ao ©
j°A 22
——
\TJ
—"
T T
143
163

&) o b o &
- o
SI Unit = | ]
e
3/4"
(Station 1) ------------—--—-—- (Station n) 3(R) port
1/2"
1(P) port
3 ﬁﬁ
~ vl | 2
R of E OO0 Rk
5 . o
| ol © o € = AN o i ]
< 3 L Vw
% 8l FreO0/000R QeI g
8| /mi2 ”,_’W 215]|_ (6.5
1/8" 1/8" 27
127, ]
External pilot port PE port 31
1/4", 3/8" 38.7
6, C8, C10, C12, N7, N9, N11/ P =25 65.5

4(A), 2(B) port

Note) The dimensions of the bottom ported type are common to all S kits.

Formula: L1 =25n + 106, L2 = 25n + 152 n: Stations (Maximum 16 stations)

[ 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 177 202 227 252 277 302 327 352 377 402 427 452 477 502 527 552

® 620
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit VQC4000 series

vVQC4000
Kit (Serial transmission kit): For EX500 Gateway Decentralized System (64 points)

VV5QC41
S kit (Serial transmission kit: EX500)

L2
39.5 L1 6.5

Indicator light Manual override Re

o TV VR = s
= VAV AN A A0 ()
R i an

==
5|5 |5|K
=

o

HER::
7 |°R |

To ]
2 4/
Sl @ @@~ OO D@D v
1.
3/4"
3(R) port
12"
1(P) port
M12 8-pin socket [ 7
P = = = f;g\
B d
(2] o
=N f \J WWWW@WW@ mv,:'m“
QT FO LI VanY VanYVanYVan f'\f’\@ = @
o Sy e [P T v
mw afe
M12_8-pin plug 1/8" = 279 &
e PE. port 335 | v
External pilot port 37.5
1/4", 3/8" 452
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions Formula: L1 = 25n + 106, L2 = 25n + 152 n: Stations (Maximum 16 stations)
L0 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 177 202 227 252 277 302 327 352 377 402 427 452 477 502 527 552
621 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

@

a

2
(7]
L

=<
[

ol

NS
o

=~
=

o
~



VQC4000 series

vVQC4000
Kit (Serial transmission kit): For EX260 Integrated-type (Output) Serial Transmission System

VV5QC41
S kit (Serial transmission kit: EX260)

L2
39.5 L1 6.5

Indicator light

IR e e =
]|
i- i
) njunEnIyIm D
— . i

tations— D@~ @D~®®D-®® i

3/4"
<Communication connector D-sub> 3(1'2?0“
1(P) port
@
ran
ke P Y N
oo Za ol =
[N — Tn V4N ol vl &
= 2
I Ny W Jr
| "1 P=e O = raN ([} @
O[T o [ S0 ]
¥ m[ afo
1/8" 1/8" = |ze] R
i PE. port
External pilot port pol 33.5
1/4", 3/8" 37.5
C6, C8, C10, C12, N7, N9, N11 45.2
4(A), 2(B) port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions n: Stations (Maximum 16 stations)
L1 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 177 202 227 252 277 302 327 352 377 402 427 452 477 502 527 552

® 622

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit VQC4000 series

vVQC4000
Kit (Serial transmission kit): For EX245 Integrated-type (I/O) Serial Transmission System
VVvV5QC41
S kit
(Serial transmission: EX245)
Marker mounting hole L1

i
=

6.5 \ L3 L2 6.5
Output Input 85 (Pitch) 65.5 SYJ
90 connector || connector Indicator light P =25
4 Sz
B S EEEEE TR 3
1=
= VF
®
g | - glgl } VP4
Z A I Y
o =
A va
® Ho 12
va
15.7 M5 Mounting hole’ n 455
- ~ < vac
427 End plate 5 12
Digital output module' Digital input module
(Station n)------~ (Station 1) 4/
VV5QC41-CJ00SDACNCC: s QZ
< i g 13(R) port]
é (Station 1) ----=-=--n-mmmmememoooof (Station n) 1/ su
[1(P) port]
3 E ad VFS
-3 - {/ o~
1 v =
i " SISl sl sl e de e te EEE VER
0 b e :l N
0 | ANANANANZAN AN A s I Va7
. 1/8" © 27.9|a] o
" 1/4", 3/8" - ARP=1
(External pilot port) C8, C8, C10, C12, - 33.5 «
1/8" N7, N9, N11 37.5
(PE port) 4(A),2(B) port 452
L3 =54n2 + 97.6
Dimensions FomulalL1 = 25n + 2166 L2=25n+106 + The L1 dimension is the dimension without an /O module. Add 54 mm to this dimension for each /0 module. = n2 is the number of /O module stations.
= 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
L1 2416 | 266.6 291.6 316.6 341.6 366.6 3916 | 416.6 | 4416 | 466.6 | 491.6 516.6 | 541.6 566.6 | 591.6 616.6
L2 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
622-1 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit VQC4000 series

vVQC4000

Kit (Serial transmission kit): For EX250 Integrated-type (I/O) Serial Transmission System
VV5QC41
S kit
(Serial transmission kit: EX250)

€

L2
5.5 108 L1 6.5
Indicator light P=25 65.5 ‘ 'Manual override SYJ
ST TV FEeTHeHeTHeTer =t 8z
| 21121 63 o E
’ s j IR R VP4
FE Inanunununenanmm T
0 11 - ﬂ 12
i Ewal” = i

o
Input block -
S| Unit

[0 site ] o) @ @@ @ ®- @ @@ @ 3

=
NS
(]

ﬁ

3/4"
3(R) port QZ
2xM12 1/2"
1(P) port su
[P 4 71
il \i N VFS
0,00 oo o & w| =
8 VIO © RS VFR
©
OO l© @
POO IS
mT ote va7
~— o
- a9l &
<
PE. port 33.5
1/8"
External pilot port 375
452
1/4", 3/8"
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions Formula: L1 = 25n + 106, L2 = 25n + 205 (For one input block. Add 21 mm for each additional input block.) n: Stations (Maximum 16 stations)
L ® 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 230 255 280 305 330 355 380 405 430 455 480 505 530 555 580 605
623 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

vVQC4000
Kit (Serial transmission kit): For EX126 Integrated-type (Output) Serial Transmission System

VV5QC41
S kit (Serial transmission kit: EX126)

Indicator light
Manual override
L2
79.5 L1 6.5
72 P=25 65.5

2 x M5 Mounting hole

offF

EIEV/EMEE
H | @
AN b1 bl Ol Bl BIBIBI O ol o
; ¥ g (T [T L TR [ 38
e | S R
B o L S
< i
° B BRI~
555 Sl Unit e
Please use drip proof plug
assembly (AXT100-B04A) with
unused conduit port (G1/2).
[0 side ] Gor) D~ @@ @D~ B ® D ® @
3/4'
4xG1/2
Conduit port 3(R) port
1/2"
2 1(P) port
e Y N R I TR TR |
0 _~a T
= [ I S
I s s
5 Y [ SESEESes o 8|3
Slol F o VIV VNV Y J L RN
Sg y 7?}/'\/'\/'\/'\/'\/‘\/’\{9*6 @
~ 33.5 o ~le
] 1/8" :[ gl &
1/8" PE. port 5:;;
External pilot port ‘3;
1/4",3/8" =
6, C8, C10, C12, N7, N9, N11 452
4(A), 2(B) port

Note) The dimensions of the bottom ported type are common to all S kits.

Dimensions Formula: L1 = 25n + 106, L2 = 25n + 192 n: Stations (Maximum 16 stations)
L~ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 217 242 267 292 317 342 367 392 417 442 467 492 517 542 567 592

® 624

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series
VQC4000

Kit (D-sub connector kit) L2200 s 1 E )

for electrical

* Using our D-sub

greatly

labor, while it also minimizes wiring and saves space.

* We use a D-sub connector (25P) that conforms to MIL standards and is
therefore widely compatible with many standard commercial models.
 Top or side entry for the connector can be changed freely, allowing for
changes even after mounting, to meet any changing needs for space.

Electrical Wiring Specifications

Cable Assembly

D-sub connector

Standard wiring

Station 1 {
Station 2
Station 3
Station 4
Station 5

Station 6

Station 8
Station 9
Station 10
Station 11

{
{
{
{
{
Station 7{
{
{
{
{
{

Station 12

As the standard electrical wiring specification
used is for 12 stations or less, double wiring
(connected to SOL. A and SOL. B) is used for
the internal wiring of each station regardless
of valve and option types.

Mixed single and double wiring are available
as options.

Refer to special wiring specifications (options)
below.

015
AXT100-DS25-030
050

<D-sub connector cable assemblies can be ordered with manifolds.>

Refer to manifold ordering.

Connector terminal no.

Lead wire colors for
D-sub connector assemblies

(AXT100-DS25-63)
050

Terminal Lead wire Dot
no. color marking
1 Black None
14 Yellow Black
2 Brown None
15 Pink Black
3 Red None
16 Blue White
4 Orange None
17 Purple None
5 Yellow None
18 Gray None
6 Pink None
19 Orange Black
7 Blue None
20 Red White
8 Purple White
21 Brown White
9 Gray Black
22 Pink Red
10 White Black
23 Gray Red
1 White Red
24 Black White
12 Yellow Red
25 White None
13 Orange Red

Special Wiring Specifications (Options) \

(For 25P)

626

Mixed single and double wiring are available as
options. The maximum number of manifold
stations is determined by the number of
solenoids. Count one point for a single solenoid
type and two points for a double solenoid type.
The total number of solenoids (points) must not
exceed 24.

Com

Lead wire colors for
D-sub connector
cable assembly
terminal numbers

Cable Lead
0.3 mm? x 25 cores Tev’mmal wire mg(lzi‘\g
. / 0D.ol4 Eolle
[1]. Approx. 810 1 | Black | None
J 2 | Brown | None
II Seal (length indication) 3 Red | None
o 4 |Orange| None
a 5 | Yellow | None
Molded cover 6 | Pink |None
< 2 X M2.6 X 0.45 7 | Bue | None
< 8 | Purple | White
1» L _Connector DB-258F-N 9 Gray | Black
o [ manufactured by 10 | White | Black
i 7k Japan Aviation —
By Electronics Industry, Limted | 11 | White | Red
N 55 ) 12| Yellow | Red
Socket side 13 |Orange| Red
° Terminal no. 14 | Yellow | Black
- 15 | Pink | Black
16 | Blue | White
17 | Purple | None
18 | Gray | None
19 |Orange| Black
20 | Red |White
21 | Brown | White
D-sub cable 22 | Pink | Red
Cable 23 | Gray | Red
length [L] Part no. Note 24_| Black | White
1.5m | AXT100-DS25-015 Cab 25 | White | None
able
3m AXT100-DS25-030 03 mmex25 cores
5m AXT100-DS25-050
* When using a standard commercial
connector, use a type 25P female connector
conforming to MIL-C-24308.
* Cannot be used for transfer wiring.
* Lengths other than the above is also
available. Please contact SMC for details.
Electrical istics C Example
ftem |Characersi - Fujitsu, Limited
Conductor resistance - Japan Aviation Electronics Industry, Limited
o 65 0rless
Qkm, 20°C -J.S.T. Mfg. Co., Ltd.
Voltage limit - HIROSE ELECTRIC CO., LTD.
1000
V, 1 minute, AC
Insulation resistance 5 or more
MQkm, 20°C

Note) The minimum bending
radius for D-sub
connector cables is 20 mm.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




pug-nunit VQC4000 Series

VQC4000
Kit (D-sub connector kit)

VV5QC41
L2
27 L1 6.5
Indicator light P=25 65.5 Manual override SV
'
d -
ST [ FTFTReTeTeeraeTer o= SYJ
>
L
| Sz
<] © B e ]
®| ™
TN S el ol 2|8 v
Syt
<
N 5 || o VP4
2 va
Manual release for switching connector direction - 12
-0 O 0 @O ®-D® @ "
Applicable connector: D-sub connector (25P) 3(R) port ¥/gc
(Conforms to MIL-C-24308) 172
1(P) port v
) ¥ 4
R20 (Min. bending inner radius) @ any
of = T\ (WU (W W m',:m'- su
©l o ; -mmmmmmmm;ﬁ — ©
i A A A e i e ]
~
5 3} of @ VFS
- - 279 A
335 VFR
37.5
45.2 Va7
D-sub connector cable assembly (25P) External pilot port Q
AXT100-DS25-015: 1.5 m 1140, 378"
AXT100-DS25-030: 3 m / C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
AXT100-DS25-050: 5 m
Bottom ported
<P/R port side> <Bottom side>
345 477
oA I
D . B
B ®F o Ef el ]
@ a| : I
-t @ RO e[ |
B g ;
el  [rorterdl ]
4(A), 2(B) port
« Other dimensions are the same as the side ported type.
Dimensions Formula: L1= 25n + 106, L2 = 25n + 139.5 n: Stations (Maximum 16 stations)
L 0] 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 164.5 189.5 2145 239.5 264.5 289.5 3145 339.5 364.5 389.5 414.5 439.5 464.5 489.5 514.5 539.5
627 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series
VQC4000

Kit (Flat ribbon cable kit) [z BT

* Using our flat ribbon cable for electrical connections greatly

reduces labour, while it also minimizes wiring and saves space.

* We use flat ribbon cables whose connectors (26P and 20P)

conform to MIL standards, and are therefore widely compatible

with many d cial
* Top or side entry for the connector can be changed freely,

allowing for changes even after mounting, to meet any changing

needs for space.

Electrical Wiring Specifications Cable Assembly
1
Flat ribbon cable connector AXT100-FC gg- 2
Double wiring (connected to SOL. A 3
260 025 and SOL. B) is used for the internal } )
240 023 wiring of each station regardless of Type ZGE flat ribbon cable cqnnector a;semblles can be ordered
200 021 valve and option types. with manifolds. Refer to manifold ordering.
200 019 Mixed single and double wiring are
180 017 available as options. .
:jg E:; Refer to special wiring specifica- 6 Terminal no. 28AWG
120 011 tions (options) below.
10009
soQO7 —
60 05| ™\_Connector terminal number % %
4003 [
2001 7o)
“_Triangle mark indicator position e 5
<26P> <20P>
Terminal Terminal (15.6)
no. no.
SOL.A 1 SOL.A 1 L
Station 1 { SOL.B 2 Station 1 { SOLB 2 ! '
A~ SOLA 3 SOL.A 3
Station 2 { SOL.B , Station2 { SOLB Flat ribbon cable connector blie:
Station 3 { ~SOLA, g Station 3 { p~~nSOLA, Cable Part no.
ation SOL.B 6 ation SOL.B 6 length [L] 26P 20P
stati { ~~SOLA, 5 ) { ~SOLA, 15m AXT100-FC26-1 AXT100-FC20-1
ration 4 soLp, o Swton4 | SOLB, 4 am AXT100-FC26-2 AXT100-FC20-2
) {~~nSOLA, o ' e SOLA, o 5m AXT100-FC26-3 AXT100-FC20-3
Station 5 { SOL.B Station 5 { SOL.B - -
10 10 = When using a standard commercial connector, use a type 26P
. {~~~SOLA, . e SOLA connector conforming to MIL-C-83503 or a type 20P with strain relief.
Station 6 { { ~~~~SOLB, 5 Station 6 { { ~~SOLB, 45 = Cannot be used for transfer wiring.
~~~SOL.A 13 ~~SOLA g # Lengths other than the above is also available. Please contact SMC
Station 7 { SOL.B 14 Station 7 { SOLB, 14 for details.
{ ~~~SOLB, { ~~-~SOLB,
SOL.A SOL.A
p—rrnSOLA, 45 | ~~~SOLA, 45
Station 8 { soLe. 1o Station 8 { SoLB. 1 Connector Manufacturers Example
| ~~-SOLA, 4, | ~~SOLA, ., - HIROSE ELECTRIC CO., LTD.
Station 9 { SsoLB, 5 Station { SOLB. 14 . 3M Japan Limited
SOL.A 19 - Fujitsu, Limited
Station 10{ SOLB, 5 ) COM. | 49 - Japan Aviation Electronics Industry, Limited
SOL.A 21 COM.  », -J.8.T. Mfg. Co., Ltd.
Station 11 { SOL.B 2 - Oki Electric Cable Co., Ltd.
SOL.A
. { ~~~SOLA o3
Station 12{ SOLB o4
{——COM., o5 Special Wiring Specifications (Option)
COoM. 26
com CcomMm
260 02| com coM
240 023 —
220 O21
200 019 200 019 Mixed single and double
180 017 180 017 wiring are available as
160 0O15 160 O15 options. The maximum
140 013 140 013 number of manifold stations
120 O 120 dn is determined by the number
100 09 100 d9 of solenoids. Count one
80 07 80 O7 point for a single solenoid
60 0Os 60 O5 type and two points for a
4 3 4 23 double solenoid type. The
2 ! 2 1 total number of solenoids
(points) must not exceed 24.
(For 26P) (For 20P)
628

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



vQC4000

pug-nunit VQC4000 Series

Kit (Flat ribbon cable kit)

VV5QC41

L2
27 L1 6.5
Indicator ight Pz, 655 Manual override SV
+
d =t
ST T W FReH e ey = sYJ
(=]
] b SANININY SZ
0 o
U 2 g 52
~
NI nanuBInan A VF
NS
~ (=2}
5l e VP4
== “—;—llr»
Manual release for switching connector direction = )"/g
Applicable connector: (Stations) - (D-2)-@-(@)- &))@ (&) i
Flat ribbon cable connector (26P) alons) - (D-@- @@ & ©-@ ® va
(Conforms to MIL-C-83503) 4/5
3/4" vac
Flat ribbon cable connector assembly (26P) 3(R) port 1/2
AXT100-FC26-1: 1.5 m 12"
AXT100-FC26-2: 3m 1(P) port A5
AXT100-FC26-3: [ =
90-FC263 510 \ S=1=1=1=1=1-1= Vaz
®_ o r o te wn o
\ 4 s Soooooon ¢ o g 5 sQ
o ~ WY\ W ml,:m'-
° & \;anmmmmmmmnw 5 o
\ [ [T/A= 9 |o+ola+ala e+ aie ¥ elapola ol ol TP VFS
".w mw ©
w - o
- 1/8" - 27.9 « VFR
PE. port 335
1/8"
37.5
External pilot port vu7
1/4", 3/8" 45.2
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
Bottom ported
<P/R port side> <Bottom side>
345 477
—RA I
7 0
wsde) | €D . 8
g 13
o f : &
= o H o
5 g ;
1S g !
&)
2n x 1/4"
4(A), 2(B) port
+ Other dimensions are the same as the side ported type.
Dimensions Formula: L1 = 25n + 106, L2 = 25n + 139.5 n: Stations (Maximum 16 stations)
L~ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 164.5 189.5 214.5 239.5 264.5 289.5 314.5 339.5 364.5 389.5 414.5 439.5 464.5 489.5 5145 | 539.5
629 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series
T VQC4000

Kit (Terminal block box kit)

® This kit has a small terminal block inside a junction box.
The provision of a G3/4 electrical entry allows

connection of conduit fittings.

Terminal Block Connection

Step 1. How to remove terminal block cover

terminal block cover.

Mounting screw (M4)

Step 3. How to replace the terminal block cover

correctly.

Loosen the 4 mounting screws (M4) and remove the All stations are provided with double wiring

ﬁ) Terminal block cover

Securely tighten the screws to the torque shown in the
table below, after confirming that the gasket is installed

Proper tightening torque [N-m]

0.7t01.2

Step 2. The diagram below shows the terminal block wiring.

regardless of the valves which are mounted.
Connect each wire to the power supply side, according
to the markings provided inside the terminal block.

M3 screw

Gasket

Electrical entry
2xG3/4

* Applicable crimped terminal: 1.25-3S,1.25Y-3,1.25Y-3N,1.25Y-3.5
* Name plate: VVQ5000-N-T
« Drip proof plug assembly (for G3/4): AXT100-BO6A

Electrical Wiring Specifications (Conforms to IP67)

28

Station 4

TN
KX
L

Station 5

Station 7
The internal wiring is double (con-
nected to SOL. A and SOL. B) for
all stations regardless of the type
of valve or options.
Mixed single and double wiring Station 9
are available as options.

Station 8

Station 10

(
(
(
(
(
Station 6 {
(
(
{
{

Standard wiring Special Wiring Specifications (Option) ‘

Terrl%lna\ Mixed single and double wiring are available as

Ie) 9) . options. The maximum number of manifold stations

] Station 1 1A is determined by the number of solenoids. Count

iﬁ 1B one point for a single solenoid type and two points

@@ 2A for a double solenoid type. The total number of
[:i]ﬁ Station 2 % solenoids (points) must not exceed 20.

%ﬁ . 3A 1. How to Order
@@ Station 3 3B Indicate option symbol "-K" in the manifold part
= an number and be sure to specify station positions for

single or double wiring on the manifold specification
4B sheet.

A - P
5 2. Wiring specifications
58 Connector terminal numbers are connected from
6A solenoid station 1 on the A side in the order
6B indicated by the arrows without skipping any
7A terminal numbers.
7B (®)
8A - &
9 £
Blols
e e
10A [
108 [59)
()=
CoM L
s

630

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



T

vQC4000
Kit (Terminal block box kit)

Plug-in Unit VQC4000

Series

VV5QC41
L2
79.5 L1 6.5
7 Indicator light P=25_ 655 :
Manual override SV
o7 o700 sSYJ
v| |V|e|v/f5|v]alv|a|v|s|v
o Sz
G © ) <] 2] © VF
g IR
3 (N VP4
:2 = = | | Vu
®, = 12
101 2xM5 )l’/%
Mounting hole
S D @@ @-®-®-D-®-® o
3/4"
v
1/2"
2xG3/4 1(P) port vaz
Conduit port SQ
1 o
o anY EE VFS
Rl ol A4 RIS
< ¢ 0 ¢ VFR
~ 1/8" e
" S
- External pilot port « V07
1/8"
PE. port 37.5
1/4", 3/8" 452
Ce, C8, C10, C12, N7, N9, N11
4(A), 2(B) port
Bottom ported
<P/R port side> <Bottom side>
34.5  47.7
Y I
3
Q1S >3
Ny [N vl
RO
ET=r=ri|
4(A), 2(B) port
+ Other dimensions are the same as the side ported type.
Dimensions Formula: L1 = 25n + 106, L2 = 25n + 192 n: Stations (Maximum 16 stations)
L 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 217 242 267 292 317 342 367 392 417 442 467 492 517 542 567 592
631 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

vVQC4000
Kit (Lead wire kit)

¢ Direct electrical entry type

® |P67 enclosure is available with use of cables with
sheath and waterproof connectors.

Electrical Wiring Specifications

Lead wire specifications Lead wire length

Lead wil
OzamrTV:g;SZS cores, As the standard electrical wiring specification VV5QC41 - 08 C1 2 LD

used is for 12 stations or less, double wiring
(connected to SOL. A and SOL. B) is used for Lead wire length
the intemal wiring of each station regardless

0 0.6m
of valve and option types. 1 15
Mixed single and double wiring are available =
as options. 2 3.0m
EDE Refer to special wiring specifications (options) Electrical characteristics
— below. i o
i Sheath Conductor resistance | . |
Color: Urban white Qkm, 20°C orless
Terminal LeadI wire Dgg ~ ~
no. color marking Insulation resistance
o 5 or more
Stati 1{ Black None MQ/km, 20°C
ation Yellow Black Note) Cannot be used for
. Brown None transfgr .Wmng' "
Station 2{ ) The minimum bending
Pink Black radius for cables is 20 mm.
. Red None
Station 3
Blue White
Orange None
Station 4{ 9
Purple None
. Yellow None
Station 5{
Gray None
i Pink None
Station 6{
Orange Black
R Blue None
Station 7{
Red White
Purple White
Station 8{ urP !
Brown White
Gra) Black
Station 9{ y Y
Pink Red
. White Black
Station 10{
Gray Red
N White Red
Station 11{ i
Black White
. Yellow Red
Station 12{ .
White None
Orange Red

\ Special Wiring Specifications (Option) |

Mixed single and double wiring are available as options. The maximum number of
manifold stations is determined by the number of solenoids. Count one point for a
single solenoid type and two points for a double solenoid type. The total number of
solenoids (points) must not exceed 24.

632

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



L

VQC4000
Kit (Lead wire kit)

Plug-in Unit VQC4000 series

VV5QC41
L2
48 L1 6.5
Indicator light SV
P=25 65.5 )
Manual override
- Y
g TUTOTLTOOTO : SYJ
"L\ V| |[v|gv|8lv|alv|8v|alv EE% SZ
o
] blo| b o|p|bdDIO|B o o VF
(A T T ¢
o o L (R} AT ARy ] VPa
[ Tf = -
g H = 0
i ‘ 12
[D side] Gt} D@ @@ ®-® @@ @ [Uside] Va
c E
S 34" 4/5
S E
o5 3(R) port vac
'§;. 1/2" 12
o
ST Q’/ Al
B o o
~ M1 ISESSEans o bl 5 0z
gl ~ © VWU OwIwww of X| 9 2
9 e TA510/00000/0/08R i sQ
¥ m[ ol ©
— - o
1/8" T~ 27| N VFS
External pilot port 335
PE. port 5
375 VFR
1/4",3/8" 45.2
C6, C8, C10, C12, N7, N9, N11
4(A), 2(B) port Va7
Bottom ported
<P/R port side> <Bottom side>
345 477
R Y
[S1eh 3
B n ©
Te @ ¢ oo toa( |
Bello-el o i Hordorgl |
Folfs-e RO
D08
S U of
4(A), 2(B) port
« Other dimensions are the same as the side ported type.
Dimensions Formula: L1 = 25n + 106, L2 = 25n + 160.5 n: Stations (Maximum 16 stations)
L ) 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
L1 | 131 156 181 206 231 256 281 306 331 356 381 406 431 456 481 506
L2 | 1855 | 2105 | 2355 | 260.5 | 2855 | 310.5 | 3355 | 360.5 | 385.5 | 410.5 | 4355 | 460.5 | 4855 | 5105 | 5355 | 560.5
633 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series
VQC4000

Kit (Circular connector kit) Lld-¥&=JulsJ[E:ls)

® Use of circular connectors helps streamline wiring
procedure to save labor.

* |P67 enclosure is available with use of waterproof
multiple connectors.

Electrical Wiring Specifications

Cable Assembly

Multiple connector

Double wiring (connected to
SOL.A and SOL.B) is used for
the internal wiring of each
station regardless of valve and
option types. Mixed single and
double wiring are available as
options. Refer to special wiring
specifications (options) below.

Terminal
no.
~~~SOL.A
SOL.B
SOL.A

SOL.B

SOL.A

SOL.B
SOL.A
SOL.B
SOL.A 9
SOLB, 4o

SOLA, 44

SOL.B
SOLA, 43
SOL.B
~~SOLA, g
SOL.B
~~SOLA -
SOL.B
~~nSOLA ;19

~~SOLB , 5,

~~nSOLA | 5y

SOL.B
SOLA, o3
SOL.B

Station 1

Station 2

Station 3

NGO ©N =

Station 4

Station 5

Station 6

Station 7

Station 8

Station 9

Station 10

Station 11

Station 12

(
(
(
(
(
(
(
(
{
(
(
(

Special Wiring Specifications (Option) \

Mixed single and double wiring are available as an option. The maximum number
of manifold stations is determined by the number of solenoids. Count one point for
a single solenoid type and two points for a double solenoid type. The total number
of solenoids (points) must not exceed 24.

634

015
AXT100-MC26-030
050

Type 26P circular connector cable assemblies can be ordered
with manifolds. Refer to manifolds ordering.

Cable

0.3 mm?2x 25C

O.D.o1.4

| 7] Approx. 10

Lead wire colors for
circular connector
cable assembly
terminal numbers

60

Circular connector cable

Seal (Length)

Plug

Terminal no.

M27 Female thread

Terminal no. | Lead wire color | Dot marking

1 Black None
2 Brown None
3 Red None
4 Orange None
5 Yellow None
6 Pink None
7 Blue None
8 Purple White
9 Gray Black
10 White Black
1" White Red

12 Yellow Red
13 Orange Red

14 Yellow Black
15 Pink Black
16 Blue White
17 Purple None
18 Gray None
19 Orange Black
20 Red White
21 Brown White
22 Pink Red
23 Gray Red
24 Black White
25 White None
26 White None
Electric characteristics
Item Property
Conductor resistance 65 o less
Qkm, 20°C
Voltage limit
V, 1 minute, AC 1000
Insulation resistance
Mokm20c  |0oMOre

Note) The minimum bending
radius of the multiple
connector cable is 20
mm.

Cable Assembly part no.
length [L] 26P
15m AXT100-MC26-015
3m AXT100-MC26-030
5m AXT100-MC26-050

= Cannot be used for transfer wiring.
# Lengths other than the above is also
available. Please contact SMC for details.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




vQC4000

Plug-in Unit VQC4000 series

Kit (Circular connector kit) Lld-¥&=JulsJ[E:li)

VV5QC41
48 6.5
Indicator light SV
Manual override SYJ
|
& WL g o=
5 B Sz
2 3 VE_
& 2 E;j VP4
~ = = || o,
i 5 H = va
"o 12
o) (D@ @-&-©-D- & a Va
4/5
3/4"
3(R) port vac
Circular connector cable assembly 12
AXT100-MC26-015: 1.5 m C"Z“‘i’ anonﬁlch‘l(\)/réésspm) 112" m
made
AXT100-MC26-030: 3m 4 1(P) port 4
AXT100-MC26-050: 5 m M27 Male thread =] o TC
oG 1% o
g « 530000000 ¢ i S0
: “23 00000000 g so_
ETEE VFS
1/8" . = S
External pilot port 1/8
PE. port VFR
1/4", 3/8"
Ce, C8, C10, C12, N7, N9, N11 vu7
4(A), 2(B) port
Bottom ported
<P/R port side>
al 4
DOE
2B e S
B®-® 2 O[]
FUD B ool
+ Other dimensions are the same as the side ported type.
Dimensions Formula: L1 = 25n + 106, L2 = 25n +150.5 n: Stations (Maximum 16 stations)
L 1 2 3 4 5 7 8 9 13 14 15 16
L1 131 156 181 206 231 281 306 331 431 456 481 506
L2 185.5 210.5 235.5 260.5 285.5 335.5 360.5 385.5 485.5 510.5 535.5 560.5
635 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




VQC4000 series
Construction

Plug-in Unit

Metal seal type

vacsor @)

513
(R1)(P)(R2)

)
2

A)(B]
vacazor QO

513
(R1)(P)(R2)

? ? ? ’

y 4 [j g gﬂ
il \ ns
vacasoo §5 vacazor §Q
513 513
(R1)(P)(R2) (R1)(P)(R2)
vacadoo Q' vacador Q@
513 513
(R1)(P)(R2) (R1)(P)(R2)
vacasoo §6 vacaso1 B©
513 513
(R1)(P)(R2) (R1)(P)(R2)
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminum die-casted 1 Body Aluminum die-casted
2 Spool/Sleeve Stainless steel 2 Spool valve Aluminum, HNBR
3 Piston Resin 3 Piston Resin

Replacement Parts

Replacement Parts

Pilot valve
assembly

A
V11801-0J-B
E
Coil type

[Nil [ Standard (0.95 W)

[: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

Pilot valve
assembly

A
V118[1-0J-B
E
Coil type

[ Nil [ Standard (0.95 W)

Low wattage type (0.4 W)

[O: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

® 636

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series
Exploded View of Manifold

Housing assembly and S| Unit

D-side end plate assembly

Manifold block assembly ‘ U-side end plate assembly

EX600

S Kit (Serial transmission)
EX245

[ Ex2s0 |

EX126

F Kit
(D-sub connector) ‘

P Kit

(Flat ribbon cable)

T Kit
(Terminal block)

L Kit
(Lead wire)

M Kit
(Circular connector)

Corresponding kit
S(EX600, EX250, EX126), F, P, T

Corresponding kit
S(EX500, EX260), L, M

Corresponding kit
S(EX245)

<

(%]
<
[

s|<||
V(M| N
E~Y

| <
S0 RS

=
NS
(]

i

/5

=
[=]
N

HEHE
u:ucno

Note) There are two kinds of manifold blocks available, 2 stations integrated
type and 1 station type. 2 stations integrated type is used for even sta-
tions while 2 stations integrated type and 1 station type are combined
for odd stations.

Toreens D fC TR Y/ R Bereeens Bererenne

5 stations (Odd number) [ 2 stations [ 2 stations [1 stafion]

6 stations (Even number) [ 2 stations | 2 stations [ 2 stations |

637 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

Manifold Assembly Part No.

Housing Assembly and S| Unit/Input Block

No. Description Part no. Note
EX600-SDN1A DeviceNet™, Negative common (PNP)
EX600-SDN2A DeviceNet™, Positive common (NPN)
EX600-SMJ1 CC-Link, Negative common (PNP)
EX600-SMJ2 CC-Link, Positive common (NPN)
EX600-SPR1A PROFIBUS DP, Negative common (PNP)
EX600-SPR2A PROFIBUS DP, Positive common (NPN)
EX600-SEN1 EtherNet/IP™ (1 port), Negative common (PNP)
EX600-SEN2 EtherNet/IP™ (1 port), Positive common (NPN)
EX600-SEN3 EtherNet/IP™ (2 port), Negative common (PNP)
® | siunit EX600-SEN4 EtherNet/IP™ (2 port), Positive common (NPN)
- EX600-SPN1 PROFINET, Negative common (PNP)
EX600-SPN2 PROFINET, Positive common (NPN)
EX600-SEC1 EtherCAT, Negative common (PNP)
EX600-SEC2 EtherCAT, Positive common (NPN)
EX600-WEN1 Nete) | Wireless base module EtherNet/IP™ Negative common (PNP)
EX600-WEN2Nte) | Wireless base module EtherNet/IP™ Positive common (NPN)
EX600-WPN1 No) | Wireless base module PROFINET Negative common (PNP)
EX600-WPN2Nete) | Wireless base module PROFINET Positive common (NPN)
EX600-WSV1Noe) | Wireless remote module Negative common (PNP)
EX600-WSV2Nete) | Wireless remote module Positive common (NPN)
EX600-DXNB NPN input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXPB PNP input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXNC NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs
EX600-DXNC1 NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
EX600-DXPC PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs
- ’ EX600-DXPC1 PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
Digital Input Unit
EX600-DXND NPN input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXPD PNP input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXNE NPN input, D-sub connector, 25 pins, 16 inputs
EX600-DXPE PNP input, D-sub connector, 25 pins, 16 inputs
EX600-DXNF NPN input, Spring type terminal box, 32 pins, 16 inputs
EX600-DXPF PNP input, Spring type terminal box, 32 pins, 16 inputs
@ EX600-DYNB NPN output, M12 connector, 5 pins (4 pcs.), 8 outputs
EX600-DYPB PNP output, M12 connector, 5 pins (4 pcs.), 8 outputs
Digital Output Unit EX600-DYNE NPN output, D-sub connector, 25 pins, 16 outputs
EX600-DYPE PNP output, D-sub connector, 25 pins, 16 outputs
EX600-DYNF NPN output, Spring type terminal box, 32 pins, 16 outputs
EX600-DYPF PNP output, Spring type terminal box, 32 pins, 16 outputs
EX600-DMNE NPN input/output, D-sub connector, 25 pins, 8 inputs/outputs
Digital Input/Output Unit EX600-DMPE PNP input/output, D-sub connector, 25 pins, 8 inputs/outputs
EX600-DMNF NPN input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
EX600-DMPF PNP input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
Analog Input Unit EX600-AXA M12 connector, 5 pins (2 pcs.), 2-channel input
Analog Output Unit EX600-AYA M12 connector, 5 pins (2 pcs.), 2-channel output
Analog Input/Output Unit EX600-AMB M12 connector, 5 pins (4 pcs.), 2-channel input/output
EX600-ED2 M12 power supply connector, B-coded
. EX600-ED3 7/8 inch power supply connector
@ End plate
EX600-ED4 M12 power supply connector IN/OUT, A-coded, Pin arrangement 1
EX600-ED5 M12 power supply connector IN/OUT, A-coded, Pin arrangement 2
@ Valve plate EX600-ZMV1 Enclosed parts: Round head screws (M4 x 6) 2 pcs., Round head screws (M3 x 8) 4 pcs.
EX500-S103 Gateway decentralized system 2 (128 points), Negative common (PNP)
® | SlUnit EX500-Q001 Gateway decentralized system (64 points), Positive common (NPN)
EX500-Q101 Gateway decentralized system (64 points), Negative common (PNP)

Note) The wireless system is suitable for use only in a country where it is in accordance with the Radio Act and regulations of that country.
® 638

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Manifold Assembly Part No.

Exploded View of Manifold VQC4000 Series

Housing Assembly and S| Unit/Input Block

No. Description Part no. Note
EX260-SDN1 DeviceNet™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SDN2 DeviceNet™, M12 connector, 32 outputs, Positive common (NPN)
EX260-SDN3 DeviceNet™, M12 connector, 16 outputs, Negative common (PNP) SV
EX260-SDN4 DeviceNet™, M12 connector, 16 outputs, Positive common (NPN)
EX260-SRP1 PROFIBUS DP, M12 connector, 32 outputs, Negative common (PNP) sYJ
EX260-SRP2 PROFIBUS DP, M12 connector, 32 outputs, Positive common (NPN)
EX260-SRP3 PROFIBUS DP, M12 connector, 16 outputs, Negative common (PNP) SZ
EX260-SRP4 PROFIBUS DP, M12 connector, 16 outputs, Positive common (NPN)
EX260-SRP5 PROFIBUS DP, D-sub connector, 32 outputs, Negative common (PNP) VF
EX260-SRP6 PROFIBUS DP, D-sub connector, 32 outputs, Positive common (NPN)
EX260-SRP7 PROFIBUS DP, D-sub connector, 16 outputs, Negative common (PNP) VP4
EX260-SRP8 PROFIBUS DP, D-sub connector, 16 outputs, Positive common (NPN)
EX260-SMJ1 CC-Link, M12 connector, 32 outputs, Negative common (PNP) va
EX260-SMJ2 CC-Link, M12 connector, 32 outputs, Positive common (NPN) 12
EX260-SMJ3 CC-Link, M12 connector, 16 outputs, Negative common (PNP) va
® | slUnit EX260-SMJ4 CC-Link, M12 connector, 16 outputs, Positive common (NPN) 45
EX260-SEC1 EtherCAT, M12 connector, 32 outputs, Negative common (PNP) vac
EX260-SEC2 EtherCAT, M12 connector, 32 outputs, Positive common (NPN) 1/2
EX260-SEC3 EtherCAT, M12 connector, 16 outputs, Negative common (PNP) v
EX260-SEC4 EtherCAT, M12 connector, 16 outputs, Positive common (NPN) 4
EX260-SPN1 PROFINET, M12 connector, 32 outputs, Negative common (PNP)
EX260-SPN2 PROFINET, M12 connector, 32 outputs, Positive common (NPN)
EX260-SPN3 PROFINET, M12 connector, 16 outputs, Negative common (PNP) su
EX260-SPN4 PROFINET, M12 connector, 16 outputs, Positive common (NPN)
EX260-SEN1 EtherNet/IP™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SEN2 EtherNet/IP™, M12 connector, 32 outputs, Positive common (NPN) ‘VFS
EX260-SEN3 EtherNet/IP™, M12 connector, 16 outputs, Negative common (PNP)
EX260-SEN4 EtherNet/IP™, M12 connector, 16 outputs, Positive common (NPN) VFR
EX260-SPL1 Ethernet POWERLINK, M12 connector, 32 outputs, Negative common (PNP)
EX260-SPL3 Ethernet POWERLINK, M12 connector, 16 outputs, Negative common (PNP) Vu7
EX260-SIL1 10-Link, M12 connector, 32 outputs, Negative common (PNP)
EX245-SPN1A C ication connector: Push Pull connector (SCRJ): 2 pes./Power supply connector: Push Pull connector (24 V): 2 pes.
@ | sl unit EX245-SPN2A C i tor: Push Pull connector (RJ45): 2 pes./Power supply connector: Push Pul connector (24 V): 2 pes.
EX245-SPN3A Communication connector: M12 connector (4-pin, Socket, D-coded): 2 pes./Power supply connector: 7/8 nch connector (5-pn, Plug): Um
7/ inch connector (5-pin, Socket): 1 pc.
® Digital input module EX245-DX1 Digital input (16 inputs)
©® Digital output module EX245-DY1 Digital output (16 outputs)
() End plate EX245-EA2-4
EX250-SPR1 PROFIBUS DP, Negative common (PNP)
EX250-SAS3 AS-Interface, 8 in/8 out, 31 slave modes, 2 power supply systems, Negative common (PNP)
EX250-SAS5 AS-Interface, 4 in/4 out, 31 slave modes, 2 power supply systems, Negative common (PNP)
@ | slunit EX250-SAS7 AS-Interface, 8 in/8 out, 31 slave modes, 1 power supply system, Negative common (PNP)
EX250-SAS9 AS-Interface, 4 in/4 out, 31 slave modes, 1 power supply system, Negative common (PNP)
EX250-SCA1A CANopen, Negative common (PNP)
EX250-SDN1 DeviceNet™, Negative common (PNP)
EX250-SEN1 EtherNet/IP™, Negative common (PNP)
EX250-1E1 M12, 2 inputs
@ | Input block EX250-1E2 M12, 4 inputs
EX250-IE3 M8, 4 inputs
P EX250-EA1 Direct mounting
@ | End plate assembly EX250-EA2 DIN rail mounting
@ SlI Unit EX126D-SMJ1 CC-Link, Positive common (NPN)
@ | Terminal block plate VVQC1000-74A-2 For EX126 S| Unit mounting
@ | D-sub connector housing assembly | VVQC1000-F25-1 F kit, 25 pins
. . VVQC1000-P26-1 P kit, 26 pins
@ Flat ribbon cable housing Y "VVQC1000-P20-1 P kit, 20 pins
@ | Terminal block box housing assembly | VVQC1000-T0-1 T kit
VvVQC1000-L25-0-1 L kit with 0.6 m lead wire
@ | Lead wire housing assembly VVQC1000-L25-1-1 L kit with 1.5 m lead wire
VvVQC1000-L25-2-1 L kit with 3.0 m lead wire
@ Circular connector i y | vvQC1000-M26-1 M kit, 26 pins
639 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




VQC4000 series

Manifold Assembly Part No.

D-side end plate assembly Manifold block assembly
D D-side end plate assembly part no. 2 Manifold block assembly part no.
VVQC4000-3A- Q vvQc4000-1 [A]-[D]- F
Option Thread type
Nil [ Standard | Type (Thread port only)
g | Buitin silencer, [AT Foristaon ] Nil Re
Direct exhaust F G
Note 1) Tie-rods (2 pcs.) for addi- T NPTF
':"ll_':read;ype tional stations included. N NPT
U c Note 2) Bottom ported type is ;
G available only for 1 sta- Port size
T NPTF tion. Symbol Port size
Kit type N NPT C6 |06
2 [F. P, T, (EX126, EX250, EX600) kit W'"/%va’% é:1 Loz
i g (l\éxz‘t(;XKZ‘FO EXS00) kit S [Single wiring Note 3| C12 |o12
Note 3) Single wiring is N7 _|o1/4" .
B available only for 1 N9 | 05/16
U-side end plate assembly station. T; ?/34/8
29U-side end plate assembly part no. 03 |3
B 1/4" bottom ported

3 Tie-rod assembly part no. (2 units)

VVQC4000-2A-1 Q
Option

———— ‘ VQC4000 | VWQC4000-TR-O
s B‘{”"'n silencer, Note 1) Please order when reducing the number
Direct exhaust of manifold stations. When increasing the
number of stations, additional orders are
Thread type not required since they are included in the
Nil Rc manifold block assembly.
F G Note 2) Number of stations, 02 to 16
T | NPTF
N | NPT

® 640

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Exploded View of Manifold VQC4000 Series

List of Valves, Options, and Mounting Bolts

Number

Qty

o opions Valve and options Bolt part no. (pcs) Note Option mounting diagram
= =
Single valve AXT632-17-4 3 Valve
(M3 x 37)
Blanking plate AXT632-38-1 .
(VVQ4000-10A- ;) (M3 x 14) 4 | For manifold Ianklg pla(e . SYJ
Valve + Individual SUP spacer @ AXT632-17-10 (M3 x 62) 3 For manifold
(VVQ4000-P- §- 83 (2 AXT632-17-19 (M3 x 26) 2 Sz
Valve + Individual EXH spacer @ AXT632-17-10 (M3 x 62) 3 For manifold VF
(VVQ4000-R- § -3 (2 AXT632-17-19 (M3 x 26) 2
Valve + Restrictor spacer (D AXT632-17-10 (M3 x 62) 3 @ ® \IP4
1 o~ N %
(VVQ4000-20A- 5) (2) AXT632-17-19 (M3 x 26) 2| Not necessary when mounting the sub-plate. = =
Valve + Release valve spacer @ AXT632-17-10 (M3 x 62) 3 For manifold Valve )"/g
(VVQ4000-24A- § D) (2 AXT632-17-19 (M3 x 26) 2 ]|
— Spacer va
1 | Valve + SUP stop valve spacer @ AXT632-17-10 (M3 x 62) 3 O [ Q¢ 45
(VVQ4000-37A- 3) (2) AXT632-17-19 (M3 x 26) 2| Notnecessary when mounting the suo-plate. vac
Valve + Double check spacer with residual pressure exhaust | (D AXT632-17-11 (M3 x 87) 3 12
(VVQ4000-25A- §) (2) AXT632-41-1 (M3 x 54) 2 | Not necassary when mounting the sub-piate. va
Valve + Imerfac;e regulator (1) AXT632-17-11 (M3 x 87) 3
(ARBQ4000-008- }) (2 AXT632-17-8 (M3 x 52) 2| Not necessary when mounting the suo-plate vaz
(D) AXT632-41-4 (M3 x 42 3 Ommrrrrrraele
Blanking plate + SUP stop valve - (M3x42) : g Blanking plate 2
sQ
(Top) (Bottom) P ace
(2) AXT632-17-19 (M3 x 26) 2 U0 0 O
Valve + Individual SUP + Individual EXH (1) AXT632-17-11 (M3 x 87) 3 VFS
(Top) (Bottom) — For manifold
(Bottom) (Top) (2) AXT632-17-8 (M3 x 52) 2 VER
Valve + Restrictor + Individual SUP or Individual EXH| (1) AXT632-17-11 (M3 x 87) 3 | For manifold
(Top) (Top) — The individual EXH cannot be
(Bottom) (Bottom) (2) AXT632-17-8 (M3 x 52) 2 | mounted on the top. va7
Valve + SUP stop valve + Individual SUP, ©)] -17- ) )
(Top) Individual EXH or AXT652-17:11 (M3 x 87) 8 For manifold \'D\ 2
Restrictor (Bottom) | (2) AXT632-17-8 (M3 x 52) 2 = =
Valve + Double check spacer with + Individual SUP or | (1) AXT632-17-14 (M3 x 112) 3 Valve
residual pressure exhaust  Individual EXH - For manifold eal
(Top) (Bottom) (2) AXT632-41-2 (M3 x 78) 2 Spacer (Top)
2 Valve + Interface regulator + Individual SUP, Individual EXHor | (1) AXT632-17-14 (M3 x 112) 3 | For manifold Spacer (Bottom) ]
(Top) Resfrictor — The individual EXH and restrictor
(Bottom) (2) AXT632-41-2 (M3 x 78) 2 | can be mounted on the top.
Valve + Restrictor + Double check spacer with | (1) AXT632-17-14 (M3 x 112) 3
(Top) residual pressure exhaust — For manifold
(Bottom) (2 AXT632-41-2 (M3 x 78) 2
Valve + Double check spacer with + Interface requlator | (1) AXT632-17-16 (M3 x 137) 3
residual pressure exhaust (Top) - For manifold
m) (2 AXT632-41-3 (M3 x 103) 2
o—= =4 .
. . (D AXT632-17-17 (M3 x 66) 3 -~ Blanking plate ] /2
Blanking plate + SUP(s_It_?);:)valve + In%glgﬁiln?)UP For manifold Spacer (Top) I
(2) AXT632-17-8 (M3 x 52) 2 Spacer (Bottom)
Valve + SUP stop valve (Top) (1 AXT632-17-14 (M3 x 112) 3
+ Individual SUP (Middle, Bottom) — For manifold
+ Individual EXH (Middle, Bottom) (2) AXT632-17-13 (M3 x 77) 2 N
Valve + Double check spacer with residual pressure | (1) AXT632-17-16 (M3 x 137) 3 2
exhaust (Top) + Individual SUP (Middle, Bottom) — For manifold =
+ Individual EXH (Middle, Bottom) (2) AXT632-41-3 (M3 x 103) 2 Valve
Valve + Spacer (Top): Interface regulator (D) AXT632-17-16 (M3 x 137) 3 | For manifold S T e
3 Spacer (Middle): “Individual SUP or Individual EXH'/*Restrictor” — The individual EXH and restrictor pacer (Top) i
Spacer (Bottom): “Restrictor’Findividual SUP o Individual EXH’ | (2) AXT632-41-3 (M3 x 103) 2| can be mounted on the top. Spacer (Middle)
Valve + Double check spacer with residual pressure | (1) AXT632-17-16 (M3 x 137) 3 Spacer (Bolwm)Ui
exhaust (Top) + SUP stop valve (Middle) — For manifold
+ Individual SUP (EXH) (Bottom) (2) AXT632-41-3 (M3 x 103) 2
Vglve +>Interface regulator (Top) + Double check spacer | (1) AXT632-17-20 (M3 x 162) 3 | For manifold
with residual pressure exhaust (Middle) — available as special order
+ Individual SUP (EXH) (Bottom) (2) AXT632-41-5 (M3 x 128) 2 P
Note) When the SUP stop valve and individual SUP are mounted, the stop valve is mounted on the top of the individual SUP.
641

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

Ak

Valve Precautions.

Specific Product Precautions 1

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

\ Continuous Duty |

\ Valve Mounting

A Warning

When the product is continuously energized for a long
period of time (10 minutes or longer), select the low
wattage type (DC specification). The AC type cannot
be continuously energized for 10 minutes or longer. If
anything is unclear, please contact SMC.

\ Manual Override

/A Warning

Since connected equipment will operate when the
manual override is activated, confirm that conditions
are safe prior to activation.

H VQC4000
Push type (Tool required)

Bore 05 Push down the manual override

button with a small screwdriver,
etc., until it stops.

The manual override will return
when released.

Push down the manual override

Locking type (Tool required)

button with a small flat head

(45 screwdriver until it stops, and
Bore 65 turn it clockwise 90° to lock it.
Tum it counterclockwise to release it.
Locking type (Manual)
d) Push down the manual override

button with a small flat head
screwdriver or with your finger
until it stops, and turn it
clockwise 90° to lock it. Turn it
counterclockwise to release it.

13 mm

@PUSH T
¥\ TURN

D" ock]

/\ Caution
Do not apply excessive torque when turning the
locking type manual override. (0.1 N-m or less)

A\ Caution

After confirming that the gasket is installed correctly,
securely tighten the mounting screws according to the
tightening torque shown below.

Mounting screw (M3)

Proper tightening torque [N-m]
0.8t01.2

\ Replacement of One-touch Fittings |

/A Caution

Cylinder port fittings are available in cassette type and
can be replaced easily. Fittings are secured with a
retaining clip that is inserted from the top side of the
valve. After removing the valve, remove the clip with a
flat head screwdriver to replace the fittings. To mount a
fitting, insert the fitting assembly until it stops and
reinsert the retaining clip
to its designated position.

Applicable | Fitting assembly part no.
tube 0.D. VQC4000
26 VVQ4000-50B-C6
28 VVQ4000-50B-C8

210 VVQ4000-50B-C10
e12 VVQ4000-50B-C12
o1/4" | VVQ4000-50B-N7
5/16" | VVQ4000-50B-N9
3/8" | VVQ4000-50B-N11

\ Lead Wire Connection \

/A Caution

Plug-in sub-plate (With terminal block)

* If the junction cover (1) of the sub-plate is re-
moved, you can see the plug-in type terminal
block 2 mounted inside the sub-plate.

* The terminal block is marked as
follows. Connect wiring to each of
the power supply terminals.

Terminal block =
marking A COM B T
Model

vacf1o0 Aside CcOoM — —
vac 209 Aside COM B side —

3
vacé 2o A side COoM B side —

6

ote 1) There is no polarity. It can also be used as -COM.

N
Note 2) The sub-plate is double wired even for the VQCZ10.
* Applicable terminal: 1.25-3s, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5

® 642

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC4000 series

Ak

Valve Precautions.

Specific Product Precautions 2

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

Installation and Removal of Light Cover |

Internal Wiring Specifications

/A Caution

Installation/Removal of light cover

* Removal
Open the cover by inserting a small flat head screwdriver into the
slot on the side of the pilot assembly (see drawing below), lift the
cover out about 1 mm
and then pull off. If it is
pulled off at an angle, the
pilot valve may be dam-
aged or the protective O-
ring may be scratched.

* Installation
Place the cover straight over the pilot assembly so that the pilot
valve is not touched, and push it until the cover hook locks
without twisting the protective O-ring. (When pushed in, the
hook opens and locks automatically.)

\ Replacement of Pilot Valve \

/A Caution

* Removal
1) Remove the mounting screw
that holds the pilot valve using
a small screwdriver.
« Installation
1) After confirming the gasket is
correctly placed under the
valve, securely tighten the
bolts with the proper torque
shown in the table below.

Light assembly

= Refer to page 636 for pilot valve assembly part number.

Proper tightening torque [N-m]

0.1t00.13

Note) The light circuit boards: A side is
orange and the B side is green.
It must be mounted on the pilot
valve in accordance with the
mounting indicators.

(Yol [To}

/' B

Mounting
indicator

A\ Caution
:}(H
+O)

SOoL

Varistor

V;

€

(%]
<
[

LED: Orange COM: +(-)
DC: Single
A side: — (+) B side: — (+) "P4
va
5 l w8 12
SoL ~§ .g soL va
- T - ‘ 45
Aside LED: Orange COM: +() B side LED: Green ¥/gC
DC: Double

Note) Coil surge voltage generated when OFF is about —60 V. Please contact
SMC separately for further suppression of the coil surge voltage.

How to Calculate the Flow Rate

For obtaining the flow rate, refer to flont matter.

2= EB
(=}l <
oS

HEE
~N|| || on

643 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Ak

VQC4000 series

Valve Precautions.

Specific Product Precautions 3

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

Serial Wiring EX500/EX260/EX250/EX126 Precautions

A\ Warning

W

Ey

o

1. These products are intended for use in general

factory automation equipment.

Avoid using these products in machinery/equipment which
affects human safety, and in cases where malfunction or
failure can result in extensive damage.

.Do not use in explosive environments, in the

presence of inflammable gases, or in corrosive
environments. This can cause injury or fire.

. Work such as transporting, installing, piping, wiring,

operation, control and maintenance should be
performed by knowledgeable and qualified
personnel only. As handling involves the risk of a
danger of electrocution, injury or fire.

. Install an external emergency stop circuit that can

promptly stop operation and shut off the power supply.

. Do not modify these products. Modifications done to

these products carry the risk of injury and damage.

A Caution

w

(3

-]

©

1. Read the Operation Manual carefully, strictly

observe the precautions and operate within the
range of the specifications.

.Do not drop these products or submit them to

strong impacts. This can cause damage, failure or
malfunction.

. In locations with poor electrical conditions, take

steps to ensure a steady flow of the rated power
supply. Use of a voltage outside of the specifications
can cause a malfunction, damage to the Unit,
electrocution or fire.

. Do not touch connector terminals or internal circuit

elements when current is being supplied. There is a
danger of malfunction, damage to the Unit or
electrocution if connector terminals or internal circuit
elements are touched when current is being supplied.
Be sure that the power supply is OFF when adding or
removing manifold valves or input blocks or when connecting
or disconnecting connectors.

. Operate at an ambient temperature that is within the

specifications. Even when the ambient temperature
range is within the specifications, do not use in
locations where there are rapid temperature changes.

. Keep wire scraps and other extraneous materials

from getting inside these products. This can cause
fire, failure or malfunction.

. Give consideration to the operating environment

depending on the type of enclosure being used.

To achieve IP67 protection, provide appropriate wiring between
all Units using electrical wiring cables, communication
connectors and cables with M12 connectors. Also, provide
waterproof caps when there are unused ports, and perform
proper mounting of Input Units, input blocks, SI Units and
manifold valves. Provide a cover or other protection for
applications in which there is constant exposure to water.

. Use the proper tightening torques.

There is a possibility of damaging threads if tightening
exceeds the tightening torque range.

. Provide adequate protection when operating in

locations such as the following:

- Where noise is generated by static electricity

- Where there is a strong electric field

- Where there is a danger of exposure to radiation
- When in close proximity to power supply lines

644

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

A\ Caution

10. When these products are installed in equipment,
provide adequate protection against noise by using
noise filters.

11. Since these products are components whose end
usage is obtained after installation in other
equipment, the customer should confirm conformity
to EMC directives for the finished product.

12. Do not remove the name plate.

13. Perform periodic inspections and confirm normal
operation, otherwise it may be impossible to
guarantee safety due to unexpected malfunction or
erroneous operation.

14, Take great care since the Sl Unit side surface of the
EX260-SPNCI may become hot, causing burn hazard.

15.Do not use in places where there are cyclic
temperature changes.

In case that the cyclic temperature is beyond normal temperature
changes, the inside product unit is likely to be adversely effected.

16. Do not use in direct sunlight.

Do not use in direct sunlight. It may cause malfunction or damage.

17. Do not use in places where there is radiated heat
around it.

Such a place is likely to cause malfunction.

\ Power Supply Safety Instructions

/\ Caution

1. Operation is possible with a single power supply or a
separate power supply. However, be sure to provide
two wiring systems (one for solenoid valves, and one
for Input and Control Units). When it is UL compliant,
use a class 2 power supply unit in accordance with
UL1310 for a combined direct current power supply.

. Select the proper type of enclosure according to the
environment of operation.

IP65/67 protection class is achieved when the following
conditions are met.

1) The Units are connected properly with wiring cable for power
supply, communication connector, and cable with M12 connector.
2) Suitable mounting of each Unit and manifold valve.

3) Be sure to mount a seal cap on any unused connectors.

If using in an environment that is exposed to water splashes,
please take measures such as using a cover.

For IP40 protection class, do not use in atmospheres with
corrosive gas, chemicals, sea water, water, steam, or where
there is direct contact with any of these.

When EX260-SPR5/6/7/8 are connected, the enclosure of the
manifold should be IP40.

N

\ Cable Safety Instructions

/A Caution

1. Avoid miswiring, as this can cause a malfunction,
damage and fire in the Unit.

2. To prevent noise and surge in signal lines, keep all

wiring separate from power lines and high voltage

lines. Otherwise, this can cause a malfunction.

Check wiring insulation, as defective insulation can

cause damage to the Unit when excessive voltage

or current is applied.

. Do not bend or pull cables repeatedly, and do not
place heavy objects on them or allow them to be
pinched. This can cause broken lines.

Lod

F)



Ak

VQC4000 series

Valve Precautions.

Specific Product Precautions 4

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

EX600 Precautions \

Design / Selection |

Mounting |

A Warning

1. Do not use beyond the specification range.

Using beyond the specification range can cause a fire, mal-
function, or damage to the system.
Check the specifications before operation.

2. When using for an interlock circuit:

* Provide a multiple interlock system which is oper-
ated by another system (such as mechanical pro-
tection function).

* Perform an inspection to confirm that it is working
properly.

Otherwise, this may cause possible injuries due to malfunction.

A\ Caution

1. When applicable to UL, use a Class 2 power supply

N

(2]

unit conforming to UL1310 for direct current power
supply.

. Use within the specified voltage range.
Using beyond the specified voltage range is likely to cause the
product to be damaged or to malfunction.

. The power supply for the unit should be 0 V as the
standard for both power supply for output as well
as power supply for control/input.

———————————°+24V ———————————°+24V

T Power supply for output = Power supply for output
———————o0V

——————————o0V
in, Power supply for controlfinput = T Power supply for control/input

o +24V ——o-24V

4. Do not install in places where it can be used as a

(3}

o

~

foothold.
Applying any excessive load such as stepping on the product
by mistake or placing a foot on it, will cause it to break.

. Keep the surrounding space free for maintenance.
When designing a system, take into consideration the amount
of free space needed for performing maintenance.

. Do not remove the name plate.

Improper maintenance or incorrect use of Operation Manual
can cause equipment failure or malfunction. Also, there is a
risk of losing conformity with safety standards.

. Beware of inrush current when the power supply is
turned on.

Some connected loads can apply an initial charge current
which will trigger the over current protection function, causing
the Unit to malfunction.

A\ Caution

1. When handling and assembling Units:

* Do not touch the sharp metal parts of the connec-
tor or plug.
* Do not apply excessive force to the Unit when dis-
assembling.
The connecting portions of the Unit are firmly joined with seals.
* When joining Units, take care not to get fingers
caught between Units.
Injury can result.

2. Do not drop, bump, or apply excessive impact.

Otherwise, this can cause damage, equipment failure or mal-
function.

3. Observe the tightening torque range.

Tightening outside of the allowable torque range will likely
damage the screw.

IP67 cannot be guaranteed if the screws are not tightened to
the specified torque.

4. When lifting a large size Manifold Solenoid Valve

Unit, take care to avoid causing stress to the valve
connection joint.

The connection joint with the Unit may be damaged.

Because the product may be heavy, carrying and installation
should be performed by more than one operator to avoid
strain or injury.

5. When placing a manifold, mount it on a flat surface.

Torsion in the whole manifold can lead to trouble such as air
leakage or contact failure.

Wiring \

A\ Caution

1. Provide the grounding to maintain the safety of the

reduced wiring system and to improve the noise
immunity.

Provide a specific grounding as close to the Unit as possible
to minimize the distance to grounding.

2. Avoid repeatedly bending or stretching the cable

and applying a heavy object or force to it.

Wiring applying repeated bending and tensile stress to the
cable can break the circuit.

3. Avoid miswiring.

If miswired, there is a danger of malfunction or damage to the
reduced wiring system.

645

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

v
VP4
i

E
vz
S0
VFs
VFR_

vaz

=



Ak

VQC4000 series

Valve Precautions.

Specific Product Precautions 5

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

EX600 Precautions \

Wiring |

Operating Environment |

A\ Caution

4. Do not wire while energizing the product.

(3]

[}

~

There is a danger of malfunction or damage to the reduced
wiring system or input/output device.

. Avoid wiring the power line and high pressure line
in parallel.

Noise or surge produced by signal line resulting from the pow-
er line or high pressure line could cause a malfunction.

Wiring of the reduced wiring system or input/output device
and the power line or high pressure line should be separated
from each other.

. Check for the wiring insulation.

Defective insulation (contact with other circuits, improper insu-
lation between terminals, etc.) may cause damage to the re-
duced wiring system or input/output device due to excessive
voltage or current.

. When the reduced wiring system is installed in
machinery/equipment, provide adequate protection
against noise by using noise filters etc.

Noise in signal lines may cause a malfunction.

8. When connecting wires of input/output device or

©

Handheld Terminal, prevent water, solvent or oil
from entering inside from the connecter section.
Otherwise, this can cause damage, equipment failure or mal-
function.

. Avoid wiring patterns in which excessive stress is
applied to the connector.

This may cause equipment failure or malfunction due to con-
tact failure.

Operating Environment

/A Warning

1. Do not use in an atmosphere containing an inflam-

mable gas or explosive gas.

Use in such an atmosphere is likely to cause a fire or explo-
sion. This system is not explosion-proof.

A\ Caution

1. Select the proper type of enclosure according to the

environment of operation.

IP65/67 is achieved when the following conditions are met.

1) Provide appropriate wiring between Units using electrical
wiring cables, communication connectors and cables with
M12 connectors.

2) Suitable mounting of each Unit and manifold valve.

3) Be sure to mount a seal cap on any unused connectors.

If using in an environment that is exposed to water splashes,

please take measures such as using a cover.

When the enclosure is IP40, do not use in an operating envi-

ronment or atmosphere where it may come in contact with

corrosive gas, chemical agents, seawater, water, or water va-
por. When connected to the EX600-DOCE or EX600-DOICIF,
manifold enclosure is 1P40.

Also, the Handheld Terminal conforms to IP20, so prevent for-

eign matter from entering inside, and water, solvent or oil from

coming in direct contact with it.

646

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

1

1

1

1

A\ Caution

2.

3.

4.

5.

6.

7.

8.

9.

0.

ury

2.

3.

Provide adequate protection when operating in lo-
cations such as the following.

Failure to do so may cause a malfunction or equipment failure.
The effect of countermeasures should be checked in individu-
al equipment and machine.

1) Where noise is generated by static electricity etc.

2) Where there is a strong electric field

3) Where there is a danger of exposure to radiation

4) When in close proximity to power supply lines

Do not use in an environment where oil and chemi-
cals are used.

Operating in environments with coolants, cleaning solvents,
various oils or chemicals may cause adverse effects (damage,
malfunction) to the Unit even in a short period of time.

Do not use in an environment where the product
could be exposed to corrosive gas or liquid.

This may damage the Unit and cause it to malfunction.

Do not use in locations with sources of surge gen-
eration.

Installation of the Unit in an area around the equipment
(electromagnetic lifters, high frequency induction furnaces,
welding machine, motors, etc.), which generates the large
surge voltage could cause to deteriorate an internal circuitry
element of the Unit or result in damage. Implement counter-
measures against the surge from the generating source, and
avoid touching the lines with each other.

Use the product type that has an integrated surge
absorption element when directly driving a load
which generates surge voltage by relay, solenoid
valves or lamp.

When a surge generating load is directly driven, the Unit may
be damaged.

The product is CE marked, but not immune to light-
ning strikes. Take measures against lightning
strikes in your system.

Keep dust, wire scraps and other foreign matter
from entering inside the product.

This may cause equipment failure or malfunction.

Mount the Unit in such locations, where no vibra-
tion or shock is affected.

This may cause equipment failure or malfunction.

Do not use in places where there are cyclic tem-
perature changes.

In case that the cyclic temperature is beyond normal tempera-
ture changes, the internal Unit is likely to be adversely affect-
ed.

. Do not use in direct sunlight.

This may cause equipment failure or malfunction.

Observe the ambient temperature range.

This may cause a malfunction.

Do not use in places where there is radiated heat
around it.

Such places are likely to cause a malfunction.



VQC4000 series
c Specific Product Precautions 6
Be sure to read this before handling the products.

Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

Valve Precautions.
\ EX600 Precautions |

\ Maintenance |

A Warning

1. Do not disassemble, modify (including circuit board
replacement) or repair this product.
Such actions are likely to cause injuries or equipment failure.
2. When an inspection is performed,
* Turn off the power supply.
 Stop the air supply, exhaust the residual pressure
in piping and verify that the air is released before
performing maintenance work.
Unexpected malfunction of system components and injury
can result.

A\ Caution

1. When handling and replacing Units:
* Do not touch the sharp metal parts of the connec-

\ Adjustment / Operation |

A Warning

1. Do not perform operation or setting with wet hands.
There is a risk of electrical shock.

<Handheld Terminal>

2. Do not apply pressure to the LCD.

There is a possibility of the crack of LCD and injuring.

3. The forced input/output function is used to change
the signal status forcibly. When operating this func-
tion, be sure to check the safety of the surround-
ings and installation.

This may cause, injuries or equipment damage.

4. Incorrect setting of parameters can cause a mal-
function. Be sure to check the settings before use.
This may cause injuries or equipment damage.

i tor or plug.
AcaUtlon * Do not apply excessive force to the Unit when dis-
1. Use a watchmakers’ screwdriver with thin blade for assembling.

the setting of each switch of the Sl Unit.
When setting the switch, do not touch other unre-
lated parts.
This may cause parts damage or malfunction due to a short circuit.
2. Provide adequate setting for the operating conditions.
Failure to do so could result in malfunction.
Refer to the Operation Manual for setting of the switches.
3. For details on programming and address setting,
refer to the manual from the PLC manufacturer.

The content of programming related to protocol is designed by
the manufacturer of the PLC used.

The connecting portions of the Unit are firmly joined with seals.
* When joining Units, take care not to get fingers

caught between Units.

Injury can result.

2. Perform periodic inspection.

Unexpected malfunction in the system composition devices is
likely to occur due to malfunction of machinery or equipment.

3. After maintenance, make sure to perform an appro-
priate functionality inspection.

In cases of abnormality such as faulty operation, stop opera-
tion. Unexpected malfunction in the system composition
devices is likely to occur.

4. Do not use benzine and thinner for cleaning Units.
Damage to the surface or erasure of the display can result.
Wipe off any stains with a soft cloth.

If the stain is persistent, wipe off with a cloth soaked in a dilute
solution of neutral detergent and wrung out tightly, and then
finish with a dry cloth.

<Handheld Terminal>

4. Do not press the setting buttons with a sharp point-
ed object.
This may cause damage or equipment failure.

5. Do not apply excessive load and impact to the set-
ting buttons.
This may cause damage, equipment failure or malfunction.

\ Other

A\ Caution

1. Refer to the catalog of each series for Common Pre-
cautions and Specific Product Precautions on
manifold solenoid valves.

When the order does not include the SI Unit, a valve plate which |
connects the manifold and Sl Unit, is not mounted. Use attached |
valve holding screws and mount the valve plate. I
(Tightening torque: 0.6 to 0.7 N-m)

|

|

|

|

Screw tightened parts |
: 4 places |

|
|
|
|
|
|
|

M Trademark
DeviceNet™ is a trademark of ODVA.
EtherNet/IP™ is a trademark of ODVA.
EtherCAT® is registered trademark and patented technology, licensed by Beckhoff Automation GmbH, Germany.

647

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Base Mounted

Plug-in: Single Unit

VQC5000 Series (¢

Model
—
Flow rate characteristics Response time [ms] .
Series | Configuration Model Portsize] 1~ 4/2(P— AlB) | 4/2— /3 (AIB— EAIEB) | Standard: | o" Watage| "/eIoM
Cldm¥(sba) | b Cv | Cpm¥sbag)| b Cv 0.95W 0ty4p ?I:\I L
g Single Metal seal VvQCcs5100 12 0.14 29 14 0.18 3.4 35 38 0.59
2 Rubber seal |VQC5101 16 0.33 4.4 17 0.31 4.7 40 43 0.58
NB. - Metal seal | VQC5200 12 014 | 29 14 0.18 | 34 20 23 0.62
Rubber seal |VQC5201 16 0.33 4.4 17 0.31 4.7 25 28 0.60
Closed |Metalseal |VQC5300 11 024 | 26 1 023 | 28 50 53 0.65
center Rubber seal |VQC5301 12 0.33 34 13 0.37 3.7 60 63 0.58
VQC5000 12
_| Exhaust |Metalseal |VQC5400 12 013 | 29 14 0.18 | 3.4 50 53 0.65
:% center Rubber seal |VQC5401 14 0.39 3.9 16 0.35 4.5 60 63 0.58
2| Pressure |Metalseal |VQC5500 12 023 | 29 13 024 | 33 50 53 0.65
“ center Rubber seal |VQC5501 13 0.32 3.4 14 0.40 3.9 60 63 0.58
Double |Metalseal  |VQC5600 8.0 — — 8.5 — — 62 65 1147
check | Rubber seal |VQC5601 8.3 — — 9.0 — — 75 78 1.10

Note 1) Value for valve on sub-plate

Note 2) Cylinder port 1/2: Value for valve on sub-plate

Note 3) Based on JIS B 8419: 2010. (Supply pressure: 0.5 MPa {5.1 kgf/cm?}, with indicator light and surge voltage
suppressor, clean air. This will change depending on pressure and air quality.) The value when ON for the double type.

Note 4) Table: Without sub-plate, With sub-plate: Add 0.65 kg.

Standard Specifications

Valve construction Metal seal Rubber seal
Fluid Air/Inert gas
[ Max. operating pressure 1.0 MPa
.% Min. Single 0.10 MPa 0.20 MPa
Symbol & | operating Double 0.10 MPa 0.15 MPa
2-position single 3-position closed center g | Ppressure 3-position 0.15 MPa 0.20 MPa
ne & | Ambient and fluid temperature =5 to 50°C Note 1)
g Lubrication Not required
o
> Manual override Push type/Locking type (Tool required) Option/Locking type (Manual)
AR ROENR2) Impact/Vibration resistance 150/30 m/s2 Note 2)
2-position double (Metal) 3-position exhaust center Enclosure Dust-tight (IP67 compatible) Note 3)
oo *®) w | Coil rated voltage 12,24 VDC
£ c
v M}% § 2 | Allowable voltage ion +10% of rated voltage
= 8 " : N
o 52 | Coil 1 type Class B or equivalent
513 5
(R1)(P)(R2) (R1)(P)(R2) w ;’.n_ Power i ‘24 vDC 0.95, 0.4
2-position double (Rubber) 3-position pressure center @ | W] ‘ 12 VvDC 0.95, 0.4
(A)(B) (A)B)
42 4 Note 1) Use dry air to prevent condensation when operating at low temperatures.
Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial direction
and at the right angles to the main valve and armature in both energized and de-
513 513 energized states every once for each condition. (Values at the initial period)
(RI(P)(R2) - (RIPR2) Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was
3-position double check performed at both energized and de-energized states in the axial direction and at
we the right angles to the main valve and armature. (Values at the initial period)
ﬂm Note 3) Only applicable to S, T, L and M kits
513
(R1)(P)(R2)
® 648

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



B singie unit VQC5000 Series

How to Order Valves c E
Thread type SV
Type of actuation Nil Rc
2-position single 3-position closed center N NPT
(/2) (g) T NPTF SYJ
1 3 E G Sz
513 .
(m‘ri(é)(anz) (ROPIR2) Port size VF
2-position double 3-posit\on( e;((ha)ust center Nil Without sub-plate
(A)(B) (A) (B (For manifold)
5 42 47 04 12 VP4
g 4
513 513 Porti ificati b
2 (R1)(P)(R2) (R1)(P)(R2) mor _lngs.:pe(: :‘ca fons 12
2-position double 3-position pressure center 1de porte va
" ®E) [ B | Bottom ported | 45
5 42 42
s 5 . vac
2 Manual override 1,2
(mS)(;)(SRZ) (Rf;(g,)(aﬁz) Nil: Non-locking B: Locking type | C: Locking type
— push type (Tool required) (Manual) 4/5
Note) For double check type, 3 PDSI"OT double check (Tool required) &

refer to page 524 of

the VQ4000/5000 4
= ) A By | F

)

=
o
N

El

32

EX
[
o

Body
0: Plug-in Seal Light/Surge voltage suppressor VFR
sub-plate [0 [ Metalseal | [Nl | Yes \
[ 1| Rubber seal | Without light, with surge voltage suppressor Vu7
Function .
NilNoe ) | Standard (0.95 W) Coil voltage
Y Low wattage type (0.4 W) ‘ 5 ‘ 24 VDC ‘
R Note2) External pilot ‘ 6 ‘ 12 vDC ‘

Note 1) When the power is energized continuously, refer
to “Specific Product Precautions 1” on page 680.

Note 2) For details about external pilot type, refer to page
527 of the VQ4000/5000 series. In addition,
external pilot type cannot be combined with a
double check spacer.

Note 3) When multiple symbols are specified, indicate
them alphabetically.

C€

How to Order Sub-plates [Option]

VQ5000-PW -

Portln specifications CE- compllant
Slde poned
Bottom poned “ CE-compliant e e e .

Thread type ! Replacement of pilot valve assemblyi

Port size Nil Rc i (Voltage) H
1/2 N NPT + - Refer to page 678 for pilot valve assembly

Note) For bottom ported, T NPTF : part numbers. :
port size is 1/2 only. 3 G e Refer to page 681 for replacement method '

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

Plug-in Type

Conduit terminal

2-position single: VQC5109
2

Indicator light

Manual override,

G1/2
Electrical entry

16| M5 x 0.8 ground screw

2-position double: VQC5209

Indicator light

1(P), 4(A), 2(B), 5(R1), 3(R2) port

Manual override

G1/2
Electrical entry

@
— 1 =
) B8 0
, OAK—11s
i ! B
1/8" | 275 | 275 | 18"
PE. port 41 4 External pilot port
1/2"
3-position closed center: VQC5309
3-position exhaust center: VQC540
3-position pressure center: VQC5509
194.8 (200.3)
121.8 73 (78.5)
105.8 59.5
4(A) port 17.5 135 2(B) port
L &
e
(o RN B
T - @ 2|88
Q& P
i w—
LL, 53 2x06.5
Mounting hole
= ‘ o
‘ «©
m O 8
oL .
256 R
;; m@ B e EIF" 5=
1/8" | 275 | 275 | 1/8"
PE. port 41 41 External pilot port

® 650

12"

1(P), 4(A), 2(B), 5(R1),

3(R2) port

Numbers inside ( ) are for metal seal 3-position type.

194.8
121.8 73 2 195
105.8 59.5 73
4(A) port 17.5 135 2(B) port 59.5
10.0] _M5x 0.8 Ground screw || 3/8" 27.5 | 275
5(R1), 3(R2) port
g1 (O ———== iR 18I AN
9 [ © L 0 ,gj,w R
8 =il | ) I ol ol @ . - + Aol
At | | | B
A = < )
35 53 2x06.5 175 13.5
Mounting hole 35 53
Bottom ported drawing 12
) 1(P), 4(A), 2(B) port
=

3-position double check: VQC5609

Indicator light
2 ;

2135
[121.8 91.7
105.8 59.5
(Aport) 175 135 (Bpor)
iE  ——
HI é ]
[ L TR A
R ds \_’_/ & a 98|18
S ]
Sle a0 () —
35 | 53 | \2x065
Manual override, Mounting hole
=} i e
& =
T j ,E N
©
Fl g
1 T
o2 D~
@ N o8
MEEG
1/8" 27.5(27.5
PE. port . 41 41 1/8"
2 External pilot port
1(P), 4(A), 2(B), 5(R1),
3(R2) port

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit

VQC5000 Series (¢

How to Order Manifold

VV5QC5 1-[08][03]] |[TDO] = FELEM

kS

VV5QC§1 -[12]03] ][SDQ EEE— = S
VQC5000 series Enter only for Enter only for

Base mounted plug-in EX600-compliant S Kit::ceeeeeeee EX250-compliant S kit
o Valve stations 6 S| Unit output polarity
’_01 ‘ 1 station ‘ SI Unit outout polarit EX250 integrated-type (for I/0) serial transmission system
R : | PULPOIANY ™ o iceNet™ | PROFIBUS DP | AS-Interface | GCANopen | EtherNetIP™
The maximum number of stations differs depending on Nil ‘+ coMm — — — — —
the electrical entry. (Refer to @) =
Note) In the case of compatibility with the S kit/As- N ‘ coll) o o © © ©
Interface, the maximum number of solenoids is T L : el
as shown below, so please be careful of the silUnitloutput polarity i EX260 |ntegrat§d type (for output) serial transmission system i
number of stations. DeviceNet™ |PROFIBUS DP| CC-Link |EtherCAT|PROFINET |EtherNet/IP™ |Eirenei POVERINK| 10-Link
8in/8 out: Maximum 8 solenoids Nil ‘+ comMm o o [e) o o O — —
4 in/4 out: Maximum 4 solenoids N ‘_ COM [e) o) [e) [e) o [e) [e) o)
SI Unit output polarit EX500 Gateway Decentralized EX500 Gateway Decentralized
put p Y System 2 (128 points) System (64 points)
Nil [+ COM — o
N [-com ] o

EX600 integrated-type (for I/O) serial transmission system (Fieldbus system)

) EferNelP™] PROFINET [\ireless
DeviceNet™ [PROFIBUS DP| CC-Link | EtherNetIP™ | EtherCAT [PROFINET)| compatible | compatible t
wireless base|wireless base| "€MOte

S| Unit output polarity

[DSide] tatons < 1 2.3 4 w5 n [U 58]
+ Stations are counted from station 1 on the D-side.

Nil [+ COM o o ¢ ¢ o o
N [-com o o [ o o o o[ ol o
+ Leave the box blank for without SI Unit (SDOLJ, SD60).

e Cylinder port size

03 R @ 10 unit stations (9] |2PUt b||°;3k ;);pe it with EX250,
04 1/2 (Enter only for EX600-compliant S kit.) - (Enter only for - it l:.omp iant wit )
B Bottom ported 1/2 Nil None '\:“ Wlt’:;l?:t ;‘?:’:;:)Ck
cMm Mixed 1 1 station 2 M12‘ 4 inputs
g :_ 3 M8, 4 inputs
e Thread t 9 9 stations
- read type Note 1) Without SI Unit, the symbol is nil.
Nil Re Note 2) SI Unit is not included in I/O Unit stations. @ Input block COM
F G Note 3) When 1/O Unit is selected, it is shipped (Enter only for S kit compliant with EX250.)
N NPT separately, and assembled by customer. Refer -
to the attached operation manual for mounting Nil PNP sensor input
T NPTF method. or without input block
Note 4) Refer to page 646 for details about the enclosure. N NPN sensor input
@ End plate type
(Enter only for EX600-compliant S kit.) © Number of input blocks ® option
Nil Without end plate _ Enter only for S kit compliant with EX250.) Nil None
2 | M12 power supply connector, B-coded ":;I Wvl\;I:?ut 'S_I Un‘\tb(ISDkO) K | Special wiring ions (except for double wiring)
3 7/8 inch power supply connector '_ ou .|npu oc! N With name plate (available for T kit only)
4 |M12 poveer supply connector INIOUT, A-coded, Pin 1 1 With 1 input block
5 [M12 power supply connector INJOUT, A-coded, Pin E _ :
Note) Without SI Unit, the symbol is nil. 4 With 4 m?m blocks
* The pin layout for *4” and 5 pin connector is - : Refer to Best Pneumatics No. 1-1 and the
different. 8 With 8 input blocks Operation Manual for the details of EX600

Integrated-type (For 1/0) Serial Transmission
System. Please download the Operation Manual
via our website, http://www.smcworld.com

@ 652
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



pug-nunit VQC5000 Series

3 ) #The number in parentheses indicates the maximum number of stations and the maximum number of solenoids that can be used in the case of mixed single and
0 Kit type/Electrical entry/Cable length  double wiring. The total number of solenoids determines the maximum number of stations, When ordering mixed wiring, please add the option symbol “-K”.

Kit Kit Kit
(Serial transmission kit (Fieldbus system) E (Serial transmission kit: EX500 gateway-type) (Serial transmission kit:
: EX600 integrated-type (for 1/0)) EX260 integrated-type

s |[|A|ANA|Nn
MmN < | <<
[

=
I
E~Y

Sl Unit: EX260 1P67 compliant I}
[Symbol| Protocol | Nuntedosgus]Communication comector] _ Stations 12
SDO Serial klt:;lvznhou! Sl Unit 110 12 stations va
SD60 | Serial kit without SI Unit DeviceNet™ M12 —— |45
SD6Q | DeviceNet™ 16 opit) vac
SD6N__| PROFIBUS DP ?2 Mi2 1112 5‘3"01? = ‘1/2
SD6V. CC-Link Note) A separate Gateway Unit and v . PROFIBUS DP [ )
SD6F | PROFINET communication cable are required. I{TELIUIEI 32 D-sub Note ) 11012 staions V
D6ZE | EtherNet/P™ (1 port) 1 ‘("zfpzﬁfg’)”s SDO_| Serial kit without SI Unit —_ 1 = ;g Sl s\alm::swms‘ 4
| SD6EA | EtherNet/IP™ (2 port) SDA3 EX500 Gateway Decentralized 2 1to 12 SVB CC-Link 16 M12 . g
[SD6D | EtherCAT System 2 (128 points) ouputs ¢ 1| stations » o1 S‘am“s”‘ )
E | EtheretIP™ ol less base o5l EtherCAT M12
| SDEWE | EhrhllP™ compabl wilss aseNM EX500 Gateway Decentralized| 16 | L8S40s/SPB) erC 16 [ o)
D6WF | PROFINET compatible wireless base ") SDA2 Syst 64 point outputs (12 stations,
SDBWS | Wireless remote M%) ystem (64 points) PUIS | i pois) PROFINET ?2 M12 1o 'zs‘a'm‘",s 5
1 pai
Kit 32 1to 12 stations
E (Serial ission kit: EX250 integ type (for /0)) EtherNet/IP™ —= M2 woil| |\/FS
SGA| Ethemet | 32 W12 1o 12 stations
SGB| POWERLINK | 16 [zt oo
SKA| 10-Link 32 M12 110 12 stations VFR
SDO Serial kit without SI Unit V07
sbQ DeviceNet™ 1to 12 stations
SDN PROFIBUS DP
SDTA AS-Interface, 8 in/out, 31 slave modes, 2 power supply systems | o4 stafions (§ stations, 8 points)
SDTB AS-Interface, 4 in/out, 31 slave modes, 2 power supply systems | o2 stations (4 stations, 4 points)

SDTC Note2)| AS-Interface, 8 in/out, 31 slave modes, 1 power supply system | 1 to4stations (8 sations, 8 poinis)
SDTD Note2)| AS-Interface, 4 in/out, 31 slave modes, 1 power supply system | 1 to2 statons (¢ sations, 4 poinis)

. . SDY CANopen i
Sl Unit: EX250 1P67 compliant SDZEN | EtherNetIP™ 1 to 12 stations

Kit Kit
E (Serial ission kit: EX126 integ type (for output)) (Flat ribbon cable kit)

P40 compliant

Note) For a 20P flat ribbon cable, the cable
assembly must be ordered separately.

PDO | Flat ribbon cable kit (26P) without cable
PD1 | Flat ribbon cable kit (26P) with 1.5 m cable 1 to 12 stations
SI Unit: EX126 1P67 compliant PD2 | Flat r!bbon cable k?ﬁ (26P) w?lh 3.0 m cable
PD3 | Flat ribbon cable kit (26P) with 5.0 m cable
SDVB [ Serial kit for CC-Link [ 1108 tatons 12 tatons, 16 poits) | PDC | Flat ribbon cable Kit (20P) without cable Note) 1109 stations (12 stations, 18 points)
Kit Kit Kit Kit
(D-sub connector kit) (Circular connector kit) (Terminal block box kit) (Lead wire kit)

FDO | D-sub connector kit (25P) without cable Circular connector kit (26P) without cable 1P67 compliant
FD1 | D-sub connector kit (25P) with 1.5 m cable Circular connector kit (26P) with 1.6 m cable | 1 to 12 LDO | Lead wire kit, 0.6 m lead wire 11012
FD2 | D-sub connector kit (25P) with 3.0 m cable Circular connector kit (26P) with 3.0 m cable | stations . 110 10 stations| LD1 | Lead wire kit, 1.5 m lead wire 9
\ stations
FD3 | D-sub connector kit (25P) with 5.0 m cable 3 | Circular connector kit (26P) with 5.0 m cable 0| rerminal block box kit (125tafons, 20 poins) | L D2 | Lead wire kit, 3.0 m lead wire
 The maximum number of stations and the maximum number of solenoids indicated Note 2) When selecting SI Units with SDTC or SDTD Note 3) When selecting D-sub S kit specifications only, IP40 is
in parentheses are applied to special wiring specifications only (Option “K). specifications, there are limits to the supply compatible. (All other SI Units are IP67 compliant.)
Note 1) When using the Sl Unit with 32 outputs, use the current from the SI Unit to the input block or Note 4) For the Sl Unit part no., refer to page 655.
GW Unit compatible with the EX500 Gateway valve. For details, refer to page 805 in Best Note 5) The wireless system is suitable for use only in a country where it is
Decentralized System 2 (128 points). Pneumatics No. 1-1. in accordance with the Radio Act and regulations of that country.

653 ©

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

How to Order Valves

vQcs

Mo ol o

® Type of actuation . Seal type (F) Manual override
2-position single 3-position exhaust center | Metal seal | N
(A) B) *) (®) \ 1 [ Rubber seal | )
42 4,2 Non-locking
1 4 i push type
©fu‘ndlon (Tool required) ~_ =
513 513 Nil™® "] Standard (0.95 W)
(R1)(P)(R2) (R1) (P)(R2) Y Low wattage type (0.4 W)
[RNee?) External pilot
2-position double (Metal) 3-position pressure center Note T) When the power is energized con-
A‘: (ZE) AA) (ZBJ tinuously, refer to “Specific Prod-
v uct Precautions 1” on page 680.
5 Note 2) For details about external pilot B
type, refer to page 527 of the |
513 513 Push-turn
(R1)(P)(R2) (R1)(P)(R2) VQ4000/5000 series. locking type ©
2 * When multiple symbols are specified, in- .
2-position double (Rubber) 3-position double check dicate them alphabetically. (Tool required) =z
(A) (B) A) (B
© Avleryly @ Coil voltage
513 513 [ 5 ] 24 VDC Note) |
(R1)(P)(R2) (R1)(P)(R2) 6 12 VDC | c
3-position closed center Note) S kit is only available for 24 VDC. —
(A) (B) . urn locking
42 (B Light/Surge type (Manual) O
3 voltage suppressor
513 Yes
(R1)(P)(R2) ithot , with surge vol Ssor

How to Order Manifold Assembly

Example (VV5QC51-[1SD6[])

Digital Input Unit

Digital Output Unit

2-position single

EX600-DXPD EX600-DYPB VQC5100-51 (3 sets)
End plate Note) Sl Unit Note) 2-position do
EX600-ED2 EX600-SDN1A VQC5200-51

P

/o Unit
stations

uble
(2 sets)

Manifold Specifications

VV5QC51-0503SD6Q2N2--1 set (S kit 5-station manifold base part number)
*VQC5100-51--- --.3 sets (2-position single part number)
*VQC5200-51- 2 sets (2-position double part number)
*EX600-DXPD. 1/0 Unit part number (Station 1)
+*EX600-DYPB 1/0 Unit part number (Station 2)

The asterisk denotes the symbol for assembly.
+ Prefix it to the part numbers of the valve etc.

The valve arrangement is numbered as the 1st station from the D side.
Under the manifold part number, state the valves to be mounted, then the /O Units in
order from the 1st station as shown in the figure above. If the arrangement becomes
complicated, specify on a manifold specification sheet.

Note) Do not enter the S Unit part number and the end plate part number together.

5---Valve stations

Piping specifications

Note2) | Applicable 5-station
Series Base model Connection type Port Port size Note 1) Applicable solenoid weight
direction | 1,3 (P, R) 2,4 (A,B) stations valve [9]
WF kit: D-sub connector F,L,M,P kit
WP kit: Flat ribbon cable p: -I:/];EE o 38172 (1 to12 Slaﬂor\S) 4330
T kit: Terminal block box Side F T it vQCs000-51 | - S kit
VQC5000 | VV5QC51-0I000 | oo o0 2o (e, G, NPTINPTF) | (Re, @, NPTINPTF) | 4 16 10 stations (Without Uit
it: Serial transmission b e Raa S kit VQC5001-51 | . Not including
ML kit: Lead wire (Re, G, NPTINPTF) 11012 tatons: EX250, EX80 valve weight.
MM kit: Circular connector Bottom 1/2 1o 12staions: EXS0, EXEND
(Re, G, NPT/NPTF)

Note 1) One-touch fittings in inch sizes are also available.
Note 2) As an optional specification, the maximum number of stations can be increased by special wiring specifications.

o 654

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Sl Unit Part Number Table

pug-nunit VQC5000 Series

EX600 EX126
Symbol Applicable Sl Unit part no. Page \Symbol\ Applicable protocol \ Sl Unit part no. \ Page \
Y protocol Negative common (PNP) | Positive common (NPN) g \SDVB\ CC-Link, Positive common (NPN) \ EX126D-SMJ1 \ 677 \
SD6Q| DeviceNet™ EX600-SDN1A EX600-SDN2A X .
SD6N| PROFIBUS DP EX600-SPR1A EX600-SPR2A EX500 Gateway Decentralized System 2 (128 points)
SD6V| CC-Link EX600-SMJ1 EX600-SMJ2 Symbol Sl Unit part no. Page SV
SD6F | PROFINET EX600-SPN1 EX600-SPN2 Negative common (PNP) 9
SD6ZE| ﬁ";%’r'f)empw EX600-SEN1 | EX600-SEN2 SDA3 EX500-5103 o6 | |SYJ
EtherNet/IP™
SD6EA (2 port) EX600-SEN3 EX600-SEN4 676 EX500 Gateway Decentralized System (64 points) SZ
SD6D| EtherCAT EX600-SEC1 EX600-SEC2 Symbol Sl Unit part no. Page
SDGWE EtherNet/|P™ compatible EX600-WEN1 EX600-WEN2 4 Positive common (NPN) Negative common (PNP) 9 VF
wireless base ¢!
PROFINET compatible SDA2 EX500-Q001 EX500-Q101 676
SDBWF| | irciecs basanet EX600-WPN1 EX600-WPN2 \'\P4
SDBWS| Wireless remoteNo)] EX600-WSV1 EX600-WSV2 va
Note) The wireless system is suitable for use only in a country where it is in EX250 12
accordance with the Radio Act and regulations of that country.
EX260 Symbol Applicable protocol Sl Unit part no.| Page va
Applicable |Numbe] SI Unit part no. o SDQ | DeviceNet™, Negative common (PNP) | EX250-SDN1 45
- s e P )| comecor | 298 SDN | PROFIBUS DP, Negative common (PNP)| EX250-SPR1 vac
SQA - 32 |EX260-SDN1 | EX260-SDN2 AS-Interface, Negative common (PNP), g 12
SQB DeviceNet™ 16 | EX260-SDN3 | EX260-SDN4 SDTA (8in/8 out, 31 slave modes, 2 power supply systems) EX250-SA83 VaQ
SNA 32 |[EX260-SPR1 | EX260-SPR2 M12 SDTB AS-Inteﬁace, Negative common (PNP), EX250-SAS5
SNB 16 | EX260-SPR3 | EX260-SPR4 (4in/4 out, 31 slave modes, 2 power supply systems) 677
SNC PROFIBUS DP 32 |EX260-SPR5 | EX260-SPR6 SDTC AS-Interface, Negative common (PNP), EX250-SAS7 VQZ
SND 16 |EX260-SPR7 | EX260-SPR8 D-sub (8in/8 out, 31 slave modes, 1 power supply system)
SVA - 32 |EX260-SMJ1 |EX260-SMJ2 AS-Interface, Negative common (PNP), ~
SVB CC-Link 16 [EX260-SMJ3 |EX260-SMJ4 M12 SDTD (4in/4 out, 31 slave modes, 1 power supply system) EX250-5AS9 sQ
SDA 32 |EX260-SEC1 | EX260-SEC2 677 SDY | CANopen, Negative common (PNP) EX250-SCA1A s
spB | ENeCAT 5 TEx260-SEC3 [Exzs0.sECa| M2 SDZEN| EtherNet/IP™, Negative common (PNP) | EX250-SEN1 VF
gE’B\ PROFINET ?Z Eigggggz; :iggg:gzi Mi12 For details about the EX series (Serial Transmission System), refer to Best VFR
SEA 35 |EX260-SEN1 | EX260-SEN2 Pneumatics No. 1-1 and the Operation Manual. Please download the
SEB Eth 16 EX260-SEN3 EX260‘SEN4 M12 Operation Manual via SMC website, http://www.smcworld.com vu7
SGA |EtherNet 32 | EX260-SPL1 — V12
SGB | POWERLINK| 16 | EX260-SPL3 —
SKA |10-Link 32 |[EX260-SIL1 — M12
Manifold Options For details about options, refer to page 522 or later of the VQ5000 series.
—————————
Blanking plate assembly Individual SUP spacer Individual EXH spacer
VVQ5000-10A-1 VVQ5000-P-1-33 VVQ5000-R-1-33
04
EXH block plate Restrictor spacer SUP stop valve spacer
VVQ5000-16A-2 (1 pc./set) VVQ5000-20A-1 VVQ5000-37A-1
(Order q'ty: <
2 pcs.)
SUP block plate Double check spacer with residual pressure exhaust | Interface regulator
VVQ5000-16A-1 VVQ5000-25A-1 (P, A, B port regulation)
N ARBQ5000-00-5-1
655 ©

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

VQC5000
Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System
VV5QC51

S kit (Serial transmission kit: EX600)
Power supply with M12 connector

L2
5.5 47n2+ 82.5 L1 10
44 1 8
26 47 x n2 47 59.5 P=41
End plate
Power connector 47 Manual override
% i % SO QN QIR g u% i 3
| s -
o @ P 4
i 8 | f& pr g g
p pT Pl P P 5 =] hd q
o gm ] # = kg ® v|s
© K a K a o ~ S| 2 q
® o : = (A (A o e hi s 3|2
g R qu T T T T 10 o b
> =
FEterminal | Communication 5 PdPePoPoPol it B g 12 w0
0 connector & e s B A e 23 | e
ey e * N
Connector for Handheld Terminal ) . 12
Indicator light
21
Communication connector
47.5
(Bl
1/8"
PE. port
- /4
(D side | Gtations) - (12 (&) (D (&-(®- [ 1(P), 5(R1), 3(R2) port
12" M5 x 0.8 Ground screw
3(R) port
8 ®P P N P P
) % -
1 *7 === 7ap\ =] oo app app op oz, o| v,:
o ! 0 &J DT O TOTOTO T ool T
g 3 ru e e sl 7N 0 N N N N N N S o8l ©
0 i v s e | 2 A 245 S\ E\N S e e N | § e
) 34 =8
1/2" 69.5 345
1(P) port 48
[BlaiBy
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port

Bottom ported

<P/R port side> <Bottom side>
292 58
- _ Al
o 8O n g ‘ ‘
L g :
8 g@ @E I s =15 \:jﬂ
[ PN Ay oS o8l
8 2 = T
I NS
- @Sm mg 1 SN D g
8- S

4(A), 2(B) port

* Other dimensions are the same as the side ported type.

Dimensions  Fomula: L1 =41n+77, 12=41n+ 175+ 2 s the dimension without 0 Unit. Add 47 mm for each aditional O Unis. # " is number of O Units. n: Stations (Maximum 12 stations)

[ 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 216 257 298 339 380 421 462 503 544 585 626 667

® 656

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Plug-in Unit VQC5000 series

VQC5000
Kit (Serial transmission kit): For EX600 Integrated-type (I/O) Serial Transmission System
VV5QC51

S kit (Serial transmission kit: EX600)
Power supply with 7/8 inch connector

€

165 L2
55 47n: + 82,5 L1 10 SYJ
26 47 x nz SZ
End plate
47 Manual override VF
I 3 Oy O[o A oo @
] ﬁ ; e T VP4
o ) = )
— gls LY. ey |2 3 oo 2 Wa
4 q - = # T PT PT P B o e @ 1| g «
8 A= Y B o md md md md *‘g R 3 q | \P* 12
8y g g mdm R : . va
g R f (g T4 O T4 T N_ RIEIP S a5
[~ k3 o
9 FE terminal Communication S P P P P P P 2o § b v F [t} vac
connector = e A s § ) 3 g -
S S + e 2 12
Connector for Handheld Terminal Indicator light 12 vac
Communication 21 4/
Power connector connector 475
7/8" tor (5 pi
connector (5 pins) Sl Unit | | Valve plate L 0z
PE. port su
3/4"
[D side ] tations) - (1) -(2) ()-(D & 1(P), 5(R1), 3(R2) port VFS
12" M5 x 0.8 Ground screw
3(R) port
© ®p NEAEAENEN va7
| ol an | op | ep | of ~
T =I==T=1 o~ oo = oo~ oo~ oo ~~ oo ~a &] -
o e e YL of gl
®© 0 ) r @ Yai 1 Bl 9
© P — PN O e Ve Ve Waa WYds Wal v e
e 34 =]
1/2" 695 34.5
1(P) port 48
2
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions  Fomula: Lt =41+ 77, 12=4in + 175« L21s the dimension without IO Unit. Add 47 mm for each additional /0 Units. * ‘n2" s number of /0 Units. n Stations (Maximum 12 stations)
o~ A 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 216 257 298 339 380 421 462 503 544 585 626 667
657 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series
VQC5000

Kit (Serial transmission kit): For EX500 Gateway Decentralized System 2 (128 points)

VV5QC51
S kit (Serial transmission kit: EX500)

Indicator light
Manual override

L2
L1 10
35 59.5 (n-1) x 41 58.5
41
% g UMUM ooy gig/T oo <}
’; v a|v a|v a|v, a|v =
& o E] E
o BT @
° 7 7 [ [ ——* 2 % © 5
i P 3 3 ] b o T £ S 0 Ne -
& (-3 -
: a a o dl fe q RIE= p o\ _ |2
- - & I
a a q o a 9 - 88 n a \§ 2
3 2 i
i ) o b o] b o 5 a
i i I g ﬂ 232 \‘%ﬂ/‘:
D : 2 58 ol
= =51 =i - - s
Sl Unit 119 12
12
3 x 3/4' 475

1(SUP), 5(R1), 3(R2) port

1/8"

(Pilot EXH. port)
rrrrrr D@ @@ B ® s
12" <3(R) port> s | = | = | = | =8
Communication connector C1 M5 Ground screw
(M12 Female thread) —S
1 B A BB A BB AN BjE AN B8 A Bl A of E
\NPARN o
o~ (2] 0 |28
° 8 7aNWa L d d L
2 /mi [u[=1] mm\\ mm\\ m|@ mE 3 o \; ttNi
Communication connector C2 24 34.5
<=2 =20 N 178"
(M2 Male threac) . 595 | 41 | 48| (External pilot port)
1/2" <1(P) port> 2nx3/8", 1/2" <4(A), 2(B) port> 68.5

Note) The dimensions of the bottom ported type are common to all S kits.

Formula: L1 = 41n + 77, L2 = 41n + 122 n: Stations (Maximum 12 stations)
L0 1 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 163 204 245 286 327 368 409 450 491 532 573 614

® 658
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit VQC5000 series
VQC5000

Kit (Serial transmission kit): For EX500 Gateway Decentralized System (64 points)

VV5QC51
S kit (Serial transmission kit: EX500)

€

L2
L1 10 SYJ
35 | _59.5 P=41
Indicator light sz
Manual override VF
1 Y Oy Q77 ajm = =
T z 1s ™
o g &
(puiit] = |3 =R
b b pf b b b 5= 2 | 1| MNg e va
olols0g e
. a q q q L NSRS q 1/2
8 Z°E QY
L d o q L o - E é 1 e va
bl pl Pl Pl Pl P ® S |8 q ;/& ‘E © 45
e |8 =
||| Y 5 = o vac
™ -y T + N 1/2
12
© B
47.5
(Stations)- (1)@ (D~ E-®-® 18" 0z
3/4" su
100 1(P), 5(R1), 3(R2) port VFS
3(R) port
Communication connector C1 E;j L] in ﬁi G M5 x 0.8 Ground screw VFR
(M12 Female thread) ol by | gln —
7 8o~ 8l ~~8la 8l a8 &1 N V07
ol |2 : @a vl
3 g 2 § ‘ 58
AN AN o AN P AN s AN s A 1
¥ 1o ela
Communication connector C2 34 3 =l a
(M12 Male thread) 69.5 -
172" 34.5
1(P) port .48 |
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions Formula: L1 =41n + 77, L2 = 41n + 122 n: Stations (Maximum 12 stations)
L I 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 163 204 245 286 327 368 409 450 491 532 573 614
659 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

vQC5000 IP40 compliant
Kit (Serial transmission kit): For EX260 Integrated-type (Output) Serial Transmission System

VV5QC51
S kit (Serial transmission kit: EX260)

L2
35.2 L1 10
59.5 P=41
Indicator light
Manual override
INEAE R % S
v | av | av | av/| e z |2
— = |g
Lo © g |2 | *®
o 'BE I (RS
P P P P P o ;—‘ ol o ; w|E q 8 -
d d d o a o RIRI2 <2 q
UNODUALRIIN | o755 O
=} 3 |g R
L o Liid o q o . % q Ny
<] b ] P B o oy é’ 3 q I‘i 2
sl B LB R Uil s
12
21
47.5
Saors- (DD ~@- D~ O-® e
PE. port
3/4"
1/2" 1(P), 5(R1), 3(R2) port
8(R) port i E;j E;j = F = M5 x 0.8 Ground screw
op | B | o N
slo 8l 8o 8l 8o~ o] F =
© -
© (’; 2 = ol ! 5 § 3
© B[ A eV W as' W als W alp Vals Wl
¥ ol N o
34 w| —I A
69.5
1/2" 34.5
1(P) port 48 |
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
<Communication connector D-sub> |
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions Formula: L1 = 41n + 77, L2 = 41n + 122.2 n: Stations (Maximum 12 stations)
L no1 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 163.2 204.2 245.2 286.2 327.2 368.2 409.2 450.2 491.2 532.2 573.2 614.2

® 660
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit VQC5000 series

VQC5000
Kit (Serial transmission kit): For EX250 Integrated-type (I/O) Serial Transmission System

VV5QC51
S kit (Serial transmission kit: EX250)

€

L2
55 1245 L1 10 SYJ
59.5 P=41
Indicator light E
Manual override VF
T FTE T T 5 v
_ 1.5 g o |vpa
g mm fm Ht 2 |8 o0Hg 5
mm P T PT PT PT P o = ol g = va
= d e rmd e T IR 1k q | \PY* 12
RCRIAMA 0 | «77% E
o d Lilg Lild Lilg Lilg Liid 2 2 § q . va
2 bl bl bl bl bl b o sz PASPL ag 45
i 9 e 2 e LA & ¥/gc

/S! Unit o 12
Input block 21 C

ﬁ

47.5
[D5i6e]) Gitors)- (D@~ @@ ~(®)(® [Usige] /i 0z
PE. port
Lw SQ
1700 1(P). 5(R1), 3(R2) port
2xM12 R
3(R) port 1T Eﬁ T F T MS5 x 0.8 Ground screw VFS
4 x M8 (Sl
p ol 2. » N
- {7\~ 8z 82~ 8o 1~ 8o 1 Bl B = VFR
ol N2 o - . vl o
ol @ |2 Y o 5 Glg ©
; DA DD DR va7
¥ ol N &
2xM12 34 w7
M3 69.5 N
1/ 34.5
1(P) port .48 |
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions  Fomula: L1 =41n+77, L2 = 41n + 196 (For one input block. Add 21 mm for each additional input block.) n: Stations (Maximum 12 stations)
L 0 1 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 237 278 319 360 401 442 483 524 565 606 647 688
661 @

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series
VQC5000

Kit (Serial transmission kit): For EX126 Integrated-type (Output) Serial Transmission System

VV5QC51
S kit (Serial transmission kit: EX126)

L2
L1 10
59.5 P=41
Indicator light
Manual override
' }
1] OOy o7y Om —_
™
| @ bl AEAEAE :/\ aF g
= ©
: gy i ELE
5 & q b P P P P o g—‘ = i \E -
ﬂ q q a a q q 1 q |\
(R ;
L L o Lild L q s q ) J
q b b b b b o o K il b
5 2 3 @Ei cs
0 L g £ o g L4 T e — + e = i A
5.5 Sl Unit 12
117 o
47.5
G- (D @ @@~ ®-®-® S
1/8"
PE. port
G s srEpon
© 3(R) port ). 5(R1), ) p
o
= Fi ﬁi = E;j = j M5 x 0.8 Ground screw
B | om o | @ ~
~ fl = lo A~ 8le A 8o A~ Ble A el A sle A~ o & ~
SlolJo IS 2RV UIoTOTw ol ol T
NEEN Vansll Wz NS ol vl @
oy A T W e Wele\ValsPals Vs s Wl [k ©
33.5 ~
! 222 34 o=l
69.5 345
12" -
1(P) port l.48 |
3/8", 1/2" 68.5 1/8"
4(A), 2(B) port External pilot port
Note) The dimensions of the bottom ported type are common to all S kits.
Dimensions Formula: L1 = 41n + 77, L2 = 41n + 182.8 n: Stations (Maximum 12 stations)
L n 1 2 3 4 5 6 7 8 9 10 1 12

L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 2238 | 264.8 | 3058 | 346.8 | 387.8 | 428.8 | 469.8 | 510.8 | 551.8 | 592.8 | 633.8 | 674.8

® 662

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

VQC5000
Kit (D-sub connector kit)

* Using our D-sub connector for electrical connections greatly reduces
labor, while it also minimizes wiring and saves space.

* We use a D-sub connector (25P) that conforms to MIL standards and is
therefore widely compatible with many standard commercial models.
 Top or side entry for the connector can be changed freely, allowing for
changes even after mounting, to meet any changing needs for space.

Electrical Wiring Specifications Cable Assembly
B-sub connector AXT100-DS25-03
050
As the standard electrical wiring specification D-sub connector cable assemblies can be ordered with manifolds.
used is for 12 stations or less, double wiring Refer to manifold ordering.
(connected to SOL. A and SOL. B) is used for Lead wire colors for
the internal wiring of each station regardless D-sub connector
of valve and option types. cable assembly
Mixed single and double wiring are available terminal numbers
as options. Cable Lead
Refer to special wiring specifications (options) 0.3 mm? x 25 cores Tev’:vu\mal wire ma?r(lzi‘ng
below. | 0OD.o1.4 color
1 | Black | None
Lead wire colors for ﬁ Approx. 610 2 Eona s
D-sub connector assemblies II 3 T Red TN
Connector terminal no. . 015 Seal (length indication e one
Gomedorlemiélie. - (AXT100-DS25-82) &~ Seal (eng ) = TGranga[ Nomo
Standard wirin Terminal Lead wire Dot a 5 | Yellow | None
9 no. color marking Molded cover 6 Pink | None
1 Black None 7 Blue | None
2 x M2.6 x 0.45
staton 1{ 14 Velow  Black ¥ 8_|Puple | White
Station 2 { 2 Brown None 1» L _Connector DB-258F-N 9 | Gray | Black
ation of [ manufactured by -
15 Pink Black Ly it Japen Aviaion 10 Wh!te Black
. 3 Red None = —— Electronics Industry, Limted | 11 | White | Red
Station 3 S 55
16 Blue White o Socket sid 12 | Yellow| Red
ocket side
Station 4{ 4 Orange None 13 |Orange| Red
17 Purple None © Terminal no. 14 | Yellow | Black
station 5{ 5 Yellow None - 15 | Pink Blaf:k
18 Gray None 16 | Blue | White
Station 6{ 6 Pink None :; P(;erle :one
19 Orange Black Y, one)
; Blue None 19 |Orange| Black
Station 7{ 0 H”d o 20 | Red |White
© e 21| Brown | White
Station 8 8 Purple  Whito D-sub cable i 22 | Pink | Red
21 Brown White Cable Partno Note 23 | Gray | Red
Station 9 ° Gray Black length [L] ) 24 | Black | White
22 Pink Red 15m [AXTI00DS25015 [ o 25 | White | None
i able
Station 10 { 10 White Black 3m [AXT100DS25080 |3, o
23 Gray Red 5m AXT100-DS25-050
Station 11 { " White Red * When using a standard commercial
24 Black White connector, use a type 25P female connector
X 12 Yell Re conforming to MIL-C-24308.
Station 12{ © ?W ed  Cannot be used for transfer wiring.
25 White None « Lengths other than the above is also
13 Orange Red available. Please contact SMC for details.
Electrical istics C Example
ftem |Characteist . Fujitsu, Limited
Conductor resistance 65 or less - Japan Aviation Electronics Industry, Limited
Special Wiring Specifications (Options) | Qhm, 200 +J.S.T. Mfg. Co., Ltd.
Voltage limit 1000 - HIROSE ELECTRIC CO., LTD.
(For 25P) Mixed single and double wiring are available as V. 1 minute, AC
options. The maximum number of manifold Insulation resistance 5 or more
stations is determined by the number of MQ/km, 20°C
solenoids. Count one point for a single solenoid Note) The minimum bending
type and two points for a double solenoid type. radius for D-sub
The total number of solenoids (points) must not connector cables is 20 mm.
exceed 24.
COoM
664

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000
Kit (D-sub connector kit)

VV5QC51

pug-nunit VQC5000 Series

L2
435 L1 10 |:
Appli ) 59.5 _P=41 SV
pplicable connector:
D-sub connector (25P) Indicator light
(Conforms to MIL-C-24308) 2 X SYJ
Manual override
=0 il i 1 8z
o 1] gl 5 o g2 |V
L j el PIT PI PT P P = ol a1 ANg =
I | 8 \NVL]
[ - d d md e e M § s q if‘ \IP4
o = 8
I d Lild Lild Lild Liiqd Lig S 1 Aa va
7} B
5 el Pl Pl PLPLEP o} g q |\ Ei o 12
r s e ten a1 S5 e = & va
Manual release for switching connector direction 12 45
21 vac
47.5 12
[0 sice) Stters)-(D~ @ @-@ (&) ~®~(® [Usice] e va
PE 4/5
. port
3/4"
1(P), 5(R1), 3(R2) port vaz
12" 3/8", 1/2"
3(R) port 4(A), 2(B) port SQ
- - - - -
R20 (Min. bending inner radius) 4 ﬁ ﬁj MS5 x 0.8 Ground screw VFS
@ )
N A sla A elo A lo A da A s 2 e =
AN FTOTOTOTOTOTO T el ™ VFR
O 3| 1 n
B ARGARIAR AR AREAY, s
34 w| N
1/2" -
D-sub connector cable assembly (25P) 69.5 1(P) port 345
AXT100-DS25-015: 1.5 m
AXT100-DS25-030: 3 m v /| .48
AXT100-DS25-050: 5 m External pilot port |
Bottom ported
<P/R port side> <Bottom side>
292 58
vt g || |
151 Gl H
e R e
. 8 i i H
P N S R 7= W
g da oo
a ) :
P o
4(A), 2(B) port
+ Other dimensions are the same as the side ported type.
Dimensions Formula: L1 = 41n +77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations)
L N1 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 1715 2125 2535 | 2945 335.5 376.5 | 4175 | 4585 499.5 540.5 581.5 622.5
665 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series
VQC5000

Kit (Flat ribbon cable kit) [zl (BT

* Using our flat ribbon cable for electrical connections greatly
reduces labor, while it also minimizes wiring and saves space.

* We use flat ribbon cables whose connectors (26P and 20P)
conform to MIL standards, and are therefore widely compatible
with many standard commercial models.

* Top or side entry for the connector can be changed freely,
allowing for changes even after mounting, to meet any changing
needs for space.

Electrical Wiring Specifications Cable Assembly
1
Flat ribbon cable connector AXT100-FC gg- 2
Double wiring (connected to SOL. A 3
260 025 and SOL. B) is used for the internal } )
240 023 wiring of each station regardless of Type ZGE flat ribbon cable cqnnector a;semblles can be ordered
200 021 valve and option types. with manifolds. Refer to manifold ordering.
200 019 Mixed single and double wiring are
180 017 available as options. .
:jg E:; Refer to special wiring specifica- 6 Terminal no. 28AWG
120 011 tions (options) below.
10009
soQOo7 —
60 05| ™\_Connector terminal number % 3
4003 ISR
2001 0
_Triangle mark indicator position 85
<26P> <20P>
Terminal Terminal (15.6)
no. no.
_~nSOLA ~SOLA -y L
Station 1 { | .soLB, , Stationt { SOLB, , ' '
| ~~RSOLA, 4 | ~SOLA 4
Station 2 { soLB, , Station2 { SOLB, Flat ribbon cable connector blie:
SOL.A 5 ) SOL.A 5 Cable Part no.
Station 3 { SOL.B 6 Station 3 { SOL.B 6 length [L] 26P 20P
{~~nSOLA, 5 ) | ~nSOLA, 1.5m AXT100-FC26-1 AXT100-FC20-1
saon { [ sos, , sutona{[sos] 3m AXT100-FC26-2 AXT100-FC20-2
station's { { _~~SOLA, o Station 5 { { ~SOLA, g 5m AXT100-FC26-3 AXT100-FC20-3
. ation .
ation SOLB, 4o SOLB, 19 = When using a standard commercial connector, use a type 26P
{~~~SOLA, . e SOLA -y connector conforming to MIL-C-83503 or a type 20P with strain relief.
Station 6 { { ~~~SOLB, 5 Station 6 { {~~SOLB, 45 = Cannot be used for transfer wiring.
SOL.A 13 SOLA, 43 # Lengths other than the above is also available. Please contact SMC
Station 7 { SOL.B 14 Station 7 { SOLB, 44 for details.
SOL.A SOL.A
~~~~SOLA R,
Station 8 { soLB 12 Station 8 { soLB 12 Connector Manufacturers Example
) | ~~~SOLA, 4, | ~~SOLA, ., - HIROSE ELECTRIC CO., LTD.
Station 9 { soLB, 5 Stationo SOLB. 4 . 3M Japan Limited
‘ SOL.A 19 - Fujitsu, Limited
Station 10 { SOLB, ) COM. , 49 - Japan Aviation Electronics Industry, Limited
SOL.A 21 COM. 5, - J.8.T. Mfg. Co., Ltd.
Station 11 { SOLB o - Oki Electric Cable Co., Ltd.
SOL.A
. { ~~~SOLA, o3
Station 12
{ SOLB, ,,
 COM., o5 \ Special Wiring Specifications (Option) \
L COM. .4
com CcomMm
260 02| com coM
240 023 —
220 o021
200 019 200 019 Mixed single and double
180 017 180 017 wiring are available as
160 0O15 160 O15 options. The maximum
140 013 140 013 number of manifold stations
120 O 120 dnf is determined by the number
100 09 100 d9 of solenoids. Count one
8o 07 80 O7 point for a single solenoid
60 05 60 O5 type and two points for a
4 3 4 3 double solenoid type. The
2 ! 2 1 total number of solenoids
(points) must not exceed 24.
(For 26P) (For 20P)

666

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



vQC5000
Kit (Flat ribbon cable kit)

VV5QC51

pug-nunit VQC5000 Series

L2
43.5 L1 10
Applicable connector: 595 FR=41 SV
Flat ribbon cable connector (26P) Indicator light
Conforms to MIL-C-83503
( " ) Manual override SYJ
q = —
© g =
o T mey | E s o 8 2 VF
5 |8
Aé P P P p -] o ;j ol & N q g -
BEE g2 ilN
s 8 bl 8D VP4
& T L] il
b b b b b lo o b 8 q /? il Va
= g i}
2 e e D el
Manual release for switching connector direction 12 ‘4’/%
21
475 ] ¥/gc
[D5i8e ) Gatos-(D-~ @@~ @D~ ®~®-® e n
PE. port 4/05
3/4"
1(P), 5(R1), 3(R2) port
12" 3/8", 1/2" VQZ
3(R) port 4(A), 2(B) port\ |:SQ
?i s E;j = FE M5 x 0.8 Ground screw
N P et = VFS
ST FHOGTOTOTOTOTAN T o, T
3 S OLOLOLOLOLDIF =8
2= 34 o 8 & va7
Flat ribbon cable connector assembly (26P) 69.5 1(P) port 345
AXT100-FC26-1: 1.5 m .
AXT100-FC26-2: 3m UL R P
AXT100-FC26-3: 5m External pilot port 85
Bottom ported
<P/R port side> <Bottom side>
292 58
w0 | gl || |
) E i
s PO =) ¢
U sid =) 3 =) i
PR - VS 7
Fm KDy <y 2 =Y. o
oo o
S o :
@
|72 Y722 _
&V
4(A), 2(B) port
= Other dimensions are the same as the side ported type.
Dimensions Formula: L1 =41n + 77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations)
L N 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 1715 | 2125 | 2535 | 2945 335.5 376.5 | 4175 | 4585 | 499.5 540.5 581.5 622.5
667 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series
T VQC5000

Kit (Terminal block box kit)

® This kit has a small terminal block inside a junction box.
The provision of a G3/4 electrical entry allows
connection of conduit fittings.

Terminal Block Connection

Loosen the 4 mounting screws (M4) and remove the
terminal block cover.

ﬁ) Terminal block cover

Mounting screw (M4)

Gasket

0.7t01.2

Step 1. How to remove terminal block cover Step 2. The diagram below shows the terminal block wiring.

2xG3/4
Step 3. How to replace the terminal block cover
Securely tighten the screws to the torque shown in the
table below, after confirming that the gasket is installed
correctly.
Proper tightening torque [N-m] * Applicable crimped terminal: 1.25-3S,1.25Y-3,1.25Y-3N,1.25Y-3.5

* Name plate: VVQ5000-N-T
« Drip proof plug assembly (for G3/4): AXT100-BO6A

All stations are provided with double wiring
regardless of the valves which are mounted.
Connect each wire to the power supply side, according
to the markings provided inside the terminal block.

M3 screw

Electrical entry

Electrical Wiring Specifications (Conforms to IP67)

Standard wiring
Terminal
no.

g

" 1A
@ﬁ Station 1 { B
o -
@ﬁ Station 2 { 28
[€9) i

@g Station 3 { 3B
(2 ' 4A

[ Station 4 {
4B
[0 5A
Station 5 { B
" 6A
Station 6 { B
7A

Station 7 {
The internal wiring is double (con- .
nected to SOL. A and SOL. B) for " 8A
all stations regardless of the type Station 8 { 8B
of valve or options. 9A
Mixed single and double wiring Station 9 { B
are available as options. 10n
Station 10 { 108
com

Special Wiring Specifications (Option) ‘

Mixed single and double wiring are available as
options. The maximum number of manifold stations
is determined by the number of solenoids. Count
one point for a single solenoid type and two points
for a double solenoid type. The total number of
solenoids (points) must not exceed 20.

1. How to Order

Indicate option symbol "-K" in the manifold part
number and be sure to specify station positions for
single or double wiring on the manifold specification
sheet.

2. Wiring specifications

Connector terminal numbers are connected from
solenoid station 1 on the A side in the order
indicated by the arrows without skipping any
terminal numbers.

g

S

e

s[ve]vel[ve]vi]| O

e

Lo

VeV Zvavevovevelv
I
2

B ER e A R ERER L

Sig)

668

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



T

VQC5000
Kit (Terminal block box kit)

VV5QC51

192.8

Plug-in Unit VQC5000 series

€

L2
(7.1) 88.7 L1 10 sYJ
59.5 P=41 SZ
@ o Indicator light
o TS ) Manual override VF
- e ——
L] -] ALARE %V Y = 1o VP4
8 peRa I é 3 oQ gl = Va
] P <] B <] ] ;—‘ LE o % a| Ng al 2 12
83 ' (Gl i d d rmd e md R R|E ¢|= 1| "
N I D DR R % i
' q Lild Lild Lilg Lilq - S q \: 4/5
bl Pl Pl Pl Pl b > Y g LAYl i vac
2 S e ton a1 T i LAlolE & 12
21 4/5
47.5 VQZ
(Stations (D)@ (@ (@&~ 1/8"
PE. port

1/2" 3/8", 1/2"
3(R) port 4(A), 2(B) port
b Eﬁ i F; F; M5 x 0.8 Ground screw
1 24 R 2
- } :L o ~ele 8o ~~ B el e Al ~
NN A\ | N o ol @
~lgl 3 w § a g
~ 11 V ala ala " ala N ala N ala N}
o N N
EERER 34 g«
a 12" -
69.5 1(P) port 345
1/8" 48
External pilot port
plotp 68.5
Bottom ported
<P/R port side> <Bottom side>
292 58
o 8 n o ‘ ‘
: wn
e g :
o s PO
g g : 1
s N P
b gdor o :
5 g :
& oo 1
e
'
1
4(A), 2(B) port
* Other dimensions are the same as the side ported type.
Dimensions Formula: L1 = 41n + 77, L2 = 41n + 182.8 n: Stations (Maximum 12 stations)
L ] 1 2 3 4 5 6 7 8 9 10 11 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 | 2238 | 264.8 | 3058 | 346.8 | 387.8 | 428.8 | 469.8 | 510.8 | 551.8 | 555.8 | 596.8 | 637.8

3/4"
1(P), 5(R1), 3(R2) port

HEEE
u:ucno

669 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

VQC5000
Kit (Lead wire kit)

* Direct electrical entry type

® |P67 enclosure is available with use of cables with
sheath and waterproof connectors.

Electrical Wiring Specifications

Lead wire specifications Lead wire length

Lead wil
0.eeamrTV1v?”xe25 cores As the standard electrical wiring specification VV5QC51 - 08 C1 2 LD

used is for 12 stations or less, double wiring
(connected to SOL. A and SOL. B) is used for Lead wire length
the intemal wiring of each station regardless

0 0.6m
of valve and option types. 1 15
Mixed single and double wiring are available =
as options. 2 3.0m
Refer to special wiring specifications (options) Electrical characteristics
— below. i o
Sheath Conductor resistance | . |
Color: White Qkm, 20°C oriess
Terminal LeadI wire Dgg u .
no. color marking Insulation resistance
- 5 or more
Stati 1{ Black None MQ/km, 20°C
ation Yellow Black Note) Cannot be used for
transfer wiring.
B N
Station 2{ rc.nwn one The minimum bending
Pink Black radius for cables is 20 mm.
Red None
Station 3{
Blue White
O N
Station 4{ range one
Purple None
" Yellow None
Station 5{
Gray None
N Pink None
Station 6
Orange Black
N Blue None
Station 7{
Red White
Purple White
Station 8{ ue !
Brown White
Gi Black
Station 9{ ey ac
Pink Red
. White Black
Station 10{
Gray Red
. White Red
Station 11{ i
Black White
Yellow Red
Station 12 ‘
White None
Orange Red

\ Special Wiring Specifications (Option) |

Mixed single and double wiring are available as options. The maximum number of
manifold stations is determined by the number of solenoids. Count one point for a
single solenoid type and two points for a double solenoid type. The total number of
solenoids (points) must not exceed 24.

670

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Plug-in Unit VQC5000 series

L VQC5000
Kit (Lead wire kit)

VV5QC51
L2
43.5 L1 10
59.5 P=41
)
Indicator light
Manual override sYJ
I g gy .
a g Sz
5 | @
b © S
P P Pl p b o @2 q| ANg Ny 2 VF
e B d rd md rmd e md |8 q | \°
: : Iinfidibiingl ; E
& g L)g Lild Lild Lld Lid S q ) VP4
b b b B b o 2 q /? b A
g . va
o # PR =— e A9 & 12
= e -
8
s 21 4/5
e 475 vac
g . 12
o 1/8
(D side] Gatons} (1D~ (D @D~ (& (&)~ [Uside] o et X/ﬂC
34"
1(P), 5(R1), 3(R2) port az
12" 3/8", 1/2" SQ
3(R) port 4(A), 2(B) port
VFS
E;j - ﬁi - ™ M5 x 0.8 Ground screw |:
C7s - S VFR
Ne A~ do A sl A alo A slo A<als Yo &F ~
N FFOTOTOTOTOTO] T el
1Y n
o DD DL DD D T B Va7
of of ~ | N
- - - 34 o] N
12" AN
69.5 1(P) port 34.5
1/8" 48
External pilot port
plotP 68.5
Bottom ported
<P/R port side> <Bottom side>
292 58
0 §O n
G S
=IS-Q o
P NS
P
G E :
- = gy 1
D sid &
18 !
4(A), 2(B) port
* Other dimensions are the same as the side ported type.
Dimensions Formula: L1 =41n + 77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations)
L N1 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 1715 212.5 253.5 294.5 335.5 376.5 417.5 458.5 499.5 540.5 581.5 622.5

671 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

VQC5000
Kit (Circular connector kit)

® Use of circular connectors helps streamline wiring
procedure to save labor.

® |P67 enclosure is available with use of waterproof
multiple connectors.

Electrical Wiring Specifications Cable Assembly
" 015
Multiple connector AXT100-MC26-030
Double wiring (connected to 050
SOL.A and SOL.B) is used for Type 26P circular connector cable assemblies can be ordered
the internal wiring of each with manifolds. Refer to manifolds orderin:
station regardless of valve and . 9.
option types. Mixed single and
double wiring are available as Cable
options. Refer to special wiring 0.3 mm2 x 25C Lead wire colors for
specifications (options) below. OD. 1.4 circular connector
cable assembly
I <1 Approx. 210 terminal numbers
Seal (Length) Terminal no. | Lead wire color | Dot marking
1 Black None
2 Brown None
Terminal 3 Red None
no. 4 Orange None
—~nSOLA 5 Yellow | None
Station 1 { SOL.B 2 6 Pink None
SOL.A 3 7 Blue None
Station 2 { SOL.B 4 8 Purple White
SOLA 5 9 Gre?\y Black
Station 3 { SOLB, 4 0N ERWhits T B ack
SOLA 1" White Red
Station 4 { " "soLs” 12 Yellow Red
tation : 8 13 | Orange | Red
SOL.A 9 g 14 Yellow Black
Station 5 { SOLB 4o 15 Pink Black
SOL.A 1 16 Blue White
Station 6 { SOLB, 1, Plug 17 | Purple | None
SOL.A 13 18 Gray None
Station 7 { SOLB, 4, 19 | Orange | Black
SOLA 20 Red White
) " e rC 18 21 Brown | White
station 8 { [ __s0L8 4 22 | Pink | Red
) { ~~SOLA, 47 23 Gray Red
Station 9 { SOLB, g 030 24 Black White
SOL.A 19 25 White None
Station 10 { SOLB, 5 26 White None
SOL.A
i ~~~SOLA 5y . : .
Station 11 { SOLB. 5, Terminal no. Electric characteristics
| nSOLA, o4 il __|IAE23)
Station 12 { SOLB 54 Conductor resistance 65 or less
CoM. o Qkm, 20°C
COM. Voltage limit
)
26 V, 1 minute, AC 1000
M27 Female thread  —— ———————
Insulation resistance 5 o more
MQkm, 20°C
Note) The minimum bending
radius of the multiple
connector cable is 20
Circular connector cable mm.
Cable Assembly part no.
length [L] 26P
15m AXT100-MC26-015
Special Wiring Specifications (Option) \ 3m AXT100-MG26-030
— = - - - 5m AXT100-MC26-050
Mixed single and double wiring are available as options. The maximum number of G b 4 for transfer wiri
manifold stations is determined by the number of solenoids. Count one point for a z L::nl%s :trl::?th:r: trhznz:;\):gri?ga.lso
single solenoid type and two points for a double solenoid type. The total number of i avai?able Please contact SMC for details.
solenoids (points) must not exceed 24. " )

672

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



vVQC5000

Kit (Circular connector kit) Lld-¥&=JulsJ[E:lil

VV5QC51

Circular connector cable assembly/

AXT100-MC26-015: 1.5 m

AXT100-MC26-030: 3 m

AXT100-MC26-050: 5 m

L2

Plug-in Unit VQC5000 series

43.5 L1

59.5 P=41

Indicator light

Manual override

€

(%]
<
[

%ﬂw

mge

i

=
I
E~Y

Do
Yoo |
9.5
107.8
=< ||
" N

(3-position: Metal seal type)
o

——
[T
295
=<
NS

[0588] oD~~~ D~ ®)~®~(D [Usie]

NN

=
b
GO

47.5 vac
12
1/8"
vac
PE.

1(P), 5(R1), 3(R2) port

=
o
N

1/2" 3/8", 1/2" sa
3(R) port 4(A), 2(B) port VFS
Circular connector (26 pins) E;j E;j a5 F; {5
made by CONINVERS M5 x 0.8 Ground screw
ol dn | dn ) VFR
la A gla A ola AN ol A sla A sfo S a] 2
I HOFrOTOTOTOTOTO T T o
©| 3| n
8,5 DDA T
of of ~ vl
=l 34 w| N
1/2" -
695 1(P) port 345
1/8" 48
External pilot port
plotp 68.5
Bottom ported
<P/R port side> <Bottom side>
292 58
wgo | g || |
®E E H
— o T o = )-lg
U sid & 3 - = U
> 5 A\
S PN F S a7z
N kA :
) o :
& Sy
B0 !
'
-
4(A), 2(B) port
* Other dimensions are the same as the side ported type.
Dimensions Formula: L1 =41n + 77, L2 = 41n + 130.5 n: Stations (Maximum 12 stations)
L N 2 3 4 5 6 7 8 9 10 1 12
L1 118 159 200 241 282 323 364 405 446 487 528 569
L2 1715 2125 253.5 294.5 335.5 376.5 | 4175 | 4585 | 499.5 540.5 581.5 622.5
673 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series
Construction

Plug-in Unit
Metal seal type

Rubber seal type

VQC5500 (A)(B)
42
513
(R1)(P)(R2)
Component Parts Component Parts
No. Description Material Note No. Description Material Note
1 Body Aluminum die-casted 1 Body Aluminum die-casted
2 Spool/Sleeve Stainless steel 2 Spool valve Aluminum, HNBR
3 Piston Resin 3 Piston Resin

Replacement Parts

Replacement Parts

Pilot valve
assembly

A
V1180)-0-B
E
Coil type

[Nl |_Standard (0.95 W)

Low wattage type (0.4 W)

[O: Coil rated voltage
Example) 24 VDC: 5

A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

Pilot valve
assembly

A
V118[)-0-B
E
Coil type

['Nil | _Standard (0.95 W)

[: Coil rated voltage

Example) 24 VDC: 5
A: With light (For A side)
B: With light (For B side)
E: Without light

(A/B side common)

® 674

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



f Manifold
[

iew o
D-side end plate assembly

Exploded V

VQC5000 series

‘ U-side end plate assembly

Manifold block assembly

Housing assembly and S| Unit

=12 ||| 2 s EMS gl E|S
n n
AR ENESESIES] S < [ BRI

009X3 00sx3 | 09zx3 f 0gzx3 9z1x3 (o192 uoqa Jet)

[ worsuuos ans-a)

(to01q feutuisa)) 7

(uoissiwsuel [el1ds) UY S i md Md il

675

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



VQC5000 series

Manifold Assembly Part No.

Housing Assembly and S| Unit/Input Block

No. Description Part no. Note
EX600-SDN1A DeviceNet™, Negative common (PNP)
EX600-SDN2A DeviceNet™, Positive common (NPN)
EX600-SMJ1 CC-Link, Negative common (PNP)
EX600-SMJ2 CC-Link, Positive common (NPN)
EX600-SPR1A PROFIBUS DP, Negative common (PNP)
EX600-SPR2A PROFIBUS DP, Positive common (NPN)
EX600-SEN1 EtherNet/IP™ (1 port), Negative common (PNP)
EX600-SEN2 EtherNet/IP™ (1 port), Positive common (NPN)
EX600-SEN3 EtherNet/IP™ (2 port), Negative common (PNP)
® | siunit EX600-SEN4 EtherNet/IP™ (2 port), Positive common (NPN)
- EX600-SPN1 PROFINET, Negative common (PNP)
EX600-SPN2 PROFINET, Positive common (NPN)
EX600-SEC1 EtherCAT, Negative common (PNP)
EX600-SEC2 EtherCAT, Positive common (NPN)
EX600-WENT1 Note) | Wireless base module EtherNet/IP™ Negative common (PNP)
EX600-WEN2Noe) | Wireless base module EtherNet/IP™ Positive common (NPN)
EX600-WPN1 No©) | Wireless base module PROFINET Negative common (PNP)
EX600-WPN2Nete) | Wireless base module PROFINET Positive common (NPN)
EX600-WSV1 Noe) | Wireless remote module Negative common (PNP)
EX600-WSV2Nee) | Wireless remote module Positive common (NPN)
EX600-DXNB NPN input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXPB PNP input, M12 connector, 5 pins (4 pcs.), 8 inputs
EX600-DXNC NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs
EX600-DXNC1 NPN input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
EX600-DXPC PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs
- ’ EX600-DXPC1 PNP input, M8 connector, 3 pins (8 pcs.), 8 inputs, with open circuit detection
Digital Input Unit
EX600-DXND NPN input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXPD PNP input, M12 connector, 5 pins (8 pcs.), 16 inputs
EX600-DXNE NPN input, D-sub connector, 25 pins, 16 inputs
EX600-DXPE PNP input, D-sub connector, 25 pins, 16 inputs
EX600-DXNF NPN input, Spring type terminal box, 32 pins, 16 inputs
EX600-DXPF PNP input, Spring type terminal box, 32 pins, 16 inputs
@ EX600-DYNB NPN output, M12 connector, 5 pins (4 pcs.), 8 outputs
EX600-DYPB PNP output, M12 connector, 5 pins (4 pcs.), 8 outputs
Digital Output Unit EX600-DYNE NPN output, D-sub connector, 25 pins, 16 outputs
EX600-DYPE PNP output, D-sub connector, 25 pins, 16 outputs
EX600-DYNF NPN output, Spring type terminal box, 32 pins, 16 outputs
EX600-DYPF PNP output, Spring type terminal box, 32 pins, 16 outputs
EX600-DMNE NPN input/output, D-sub connector, 25 pins, 8 inputs/outputs
Digital Input/Output Unit EX600-DMPE PNP input/output, D-sub connector, 25 pins, 8 inputs/outputs
EX600-DMNF NPN input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
EX600-DMPF PNP input/output, Spring type terminal box, 32 pins, 8 inputs/outputs
Analog Input Unit EX600-AXA M12 connector, 5 pins (2 pcs.), 2-channel input
Analog Output Unit EX600-AYA M12 connector, 5 pins (2 pcs.), 2-channel output
Analog Input/Output Unit EX600-AMB M12 connector, 5 pins (4 pcs.), 2-channel input/output
EX600-ED2 M12 power supply connector, B-coded
. EX600-ED3 7/8 inch power supply connector
@ End plate
EX600-ED4 M12 power supply connector IN/OUT, A-coded, Pin arrangement 1
EX600-ED5 M12 power supply connector IN/OUT, A-coded, Pin arrangement 2
@ Valve plate EX600-ZMV1 Enclosed parts: Round head screws (M4 x 6) 2 pcs., Round head screws (M3 x 8) 4 pcs.
EX500-S103 Gateway decentralized system 2 (128 points), Negative common (PNP)
® | SlUnit EX500-Q001 Gateway decentralized system (64 points), Positive common (NPN)
EX500-Q101 Gateway decentralized system (64 points), Negative common (PNP)

Note) The wireless system is suitable for use only in a country where it is in accordance with the Radio Act and regulations of that country.
® 676

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Manifold Assembly Part No.

Exploded View of Manifold VQC5000 Series

Housing Assembly and S| Unit/Input Block

No. Description Part no. Note
EX260-SDN1 DeviceNet™, M12 connector, 32 outputs, Negative common (PNP)
EX260-SDN2 DeviceNet™, M12 connector, 32 outputs, Positive common (NPN)
EX260-SDN3 DeviceNet™, M12 connector, 16 outputs, Negative common (PNP) sv
EX260-SDN4 DeviceNet™, M12 connector, 16 outputs, Positive common (NPN) E
EX260-SRP1 PROFIBUS DP, M12 connector, 32 outputs, Negative common (PNP)
EX260-SRP2 PROFIBUS DP, M12 connector, 32 outputs, Positive common (NPN) SZ
EX260-SRP3 PROFIBUS DP, M12 connector, 16 outputs, Negative common (PNP)
EX260-SRP4 PROFIBUS DP, M12 connector, 16 outputs, Positive common (NPN) VF
EX260-SRP5 PROFIBUS DP, D-sub connector, 32 outputs, Negative common (PNP)
EX260-SRP6 PROFIBUS DP, D-sub connector, 32 outputs, Positive common (NPN) VP4
EX260-SRP7 PROFIBUS DP, D-sub connector, 16 outputs, Negative common (PNP) va
EX260-SRP8 PROFIBUS DP, D-sub connector, 16 outputs, Positive common (NPN) 12
EX260-SMJ1 CC-Link, M12 connector, 32 outputs, Negative common (PNP) E
EX260-SMJ2 CC-Link, M12 connector, 32 outputs, Positive common (NPN) 4/5
EX260-SMJ3 CC-Link, M12 connector, 16 outputs, Negative common (PNP) vac
Sl Unit EX260-SMJ4 CC-Link, M12 connector, 16 outputs, Positive common (NPN) 12
EX260-SEC1 EtherCAT, M12 connector, 32 outputs, Negative common (PNP) Vi
EX260-SEC2 EtherCAT, M12 connector, 32 outputs, Positive common (NPN) 4
EX260-SEC3 EtherCAT, M12 connector, 16 outputs, Negative common (PNP)
EX260-SEC4 EtherCAT, M12 connector, 16 outputs, Positive common (NPN)
EX260-SPN1 PROFINET, M12 connector, 32 outputs, Negative common (PNP) sa
EX260-SPN2 PROFINET, M12 connector, 32 outputs, Positive common (NPN)
EX260-SPN3 PROFINET, M12 connector, 16 outputs, Negative common (PNP) VFS
EX260-SPN4 PROFINET, M12 connector, 16 outputs, Positive common (NPN)
EX260-SEN1 EtherNet/IP™, M12 connector, 32 outputs, Negative common (PNP) VFR
EX260-SEN2 EtherNet/IP™, M12 connector, 32 outputs, Positive common (NPN) vu7
EX260-SEN3 EtherNet/IP™, M12 connector, 16 outputs, Negative common (PNP)
EX260-SEN4 EtherNet/IP™, M12 connector, 16 outputs, Positive common (NPN)
EX260-SPL1 Ethernet POWERLINK, M12 connector, 32 outputs, Negative common (PNP)
EX260-SPL3 Ethernet POWERLINK, M12 connector, 16 outputs, Negative common (PNP)
EX260-SIL1 10-Link, M12 connector, 32 outputs, Negative common (PNP)
EX250-SPR1 PROFIBUS DP, Negative common (PNP)
EX250-SAS3 AS-Interface, 8 in/8 out, 31 slave modes, 2 power supply systems, Negative common (PNP)
EX250-SAS5 AS-Interface, 4 in/4 out, 31 slave modes, 2 power supply systems, Negative common (PNP)
@ | siunit EX250-SAS7 AS-Interface, 8 in/8 out, 31 slave modes, 1 power supply system, Negative common (PNP)
- EX250-SAS9 AS-Interface, 4 in/4 out, 31 slave modes, 1 power supply system, Negative common (PNP)
EX250-SCA1A CANopen, Negative common (PNP)
EX250-SDN1 DeviceNet™, Negative common (PNP)
EX250-SEN1 EtherNet/IP™, Negative common (PNP)
EX250-1E1 M12, 2 inputs
® Input block EX250-IE2 M12, 4 inputs
EX250-1E3 M8, 4 inputs
© | End plate assembly EX250-EA1 Direct mounting
EX250-EA2 DIN rail mounting
() SlI Unit EX126D-SMJ1 CC-Link, Positive common (NPN)
) | Terminal block plate VVQC1000-74A-2 For EX126 SI Unit mounting
@ | D-sub connector housing assembly | VVQC1000-F25-1 F kit, 25 pins
@ | Flatribbon cable housing bly VVQC1000-P26-1 P k?t’ 2 pins
VVQC1000-P20-1 P kit, 20 pins
@ | Terminal block box housing assembly | VVQC1000-T0-1 T kit
VvVQC1000-L25-0-1 L kit with 0.6 m lead wire
(5] Lead wire housing assembly vvQC1000-L25-1-1 L kit with 1.5 m lead wire
VVQC1000-L25-2-1 L kit with 3.0 m lead wire
@ | Circular connector housing assembly | VVQC1000-M26-1 M kit, 26 pins
677 ©

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




VQC5000 series

Manifold Assembly Part No.

D-side end plate assembly
(7 D-side end plate assembly part no.

VVQC5000-3A-2

Thread type
Nil Rc
F G
T NPTF
N NPT

U-side end plate assembly
20 U-side end plate assembly part no.

VVQ5000-2A-1| |-L-W
Thread type
Re

Nil

F G
T NPTF
N NPT

® 678

Manifold block assembly
(®Manifold block assembly part no.

VVQC5000-1 [A]-[D]-[C6] F
Thread type

Type (Thread port only)
[ A [For 1 station ] Nil [ Re
Note) Tie-rods (2 pcs.) F G
for additional T NPTF
stations included. N NPT
Wiring specifications Port size
"D [ Double wiring | Symbol Port size
'S [ Single wiring | 03 [3/8"
04 [1/2"
B 1/2" bottom ported

(9Tie-rod assembly part no. (2 units)
‘ VQC5000

VVQC5000-TR-OJ

Note 1) Please order when reducing the number
of manifold stations. When increasing
the number of stations, additional orders
are not required since they are included
in the manifold block assembly.

Note 2) Number of stations, 02 to 16

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Exploded View of Manifold VQC5000 Series

List of Valves, Options, and Mounting Bolts

Number of

<

o
=<
[

=
)
E~Y

<
B

Spacer (Bottom): “Restrictor’/“Individual SUP or Individual EXH"

optors Valve and options Bolt part no. (‘C]Q(’:tsy.) Note Option mounting diagram
Single valve AXTE32-25-4 4 = =
g (M4 x 50) Valve
o =
Was001 wanr | [srimpie ]
(VVQ5000-10A- 1) (M4 x 17) 4 | For manifold Blanking plate
Valve + Individual SUP spacer ® AXT632-25-5 (M4 x 82) 4 ‘
\/VQ5000-P-1 - 3 — For manifold
( -P-5 - 02) (2) AXT632-25-10 (M4 x 34) 2
Valve + Individual EXH spacer (D AXT632-25-5 (M4 x 82) 4 E ifold
VVQ5000-R-1- 3% =~ or manifol
( 5704 (2) AXT632-25-10 (M4 x 34) 2
Valve + Restrictor spacer @ AXT632-25-5 (M4 x 82) 4 @ 2
(VVQ5000-20A-3) (2) AXT632-25-10 (M4 x 34) 2 | Not necessary when mounting the sub-plate. i S’
D Val
Valve + Release valve spacer (1D AXT632-25-5 (M4 x 82) 4 For manifold alve A
1 —
(VVQ5000-24A- 1 D) (2) AXT632-25-10 (M4 x 34) 2 - SEaceur o
Valve + Double check spacer (D) AXT632-25-6 (M4 x 114) 4
1 with residual pressure exhaust
(VVQ5000-25A- 1) (2) AXT632-66-1 (M4 x 64) 2 | Not necessary when mounting the sub-plate.
Valve + SUP stop valve spacer (D AXT632-25-5 (M4 x 82) 4
1 (7
(VVQ5000-37A- 5) (2) AXT632-25-10 (M4 x 34) 2| Notnecessary when mourting e sub e,
Valve + Interface regulator (D AXT632-25-6 (M4 x 114) 4
A
(ARBQ5000-00 - 3 (2) AXT632-66-1 (M4 x 64) 2 | Not necessary when mounting the sub-plate.
(D AXT632-25-4 (M4 x 50) 4
Blanking plate + SUP stop valve .
(Top) (Bottom) For manifold
(2 AXT632-25-10 (M4 x 34) 2
Valve + Individual SUP + Individual EXH (1) AXT632-25-6 (M4 x 114) 4
(Top) (Bottom) 2 p For manifold
(Bottom) (Top) () AXT632-25-11 (M4 x 66)
Valve + Restrictor + Individual SUP or Individual EXH | (1) AXT632-25-6 (M4 x 114) 4 | For manifold
(Top) (Top) —~ * The individual EXH cannot |
(Bottom) (Bottom) (2) AXT632-25-11 (M4 x 66) 2 be mounted on the top. D} .
Valve + SUP stop valve + Indjvidual SUP, (1) AXT632-25-6 (M4 x 114) 4 ) = = g
(Top) Individual EXH or 2 2 For manifold
Restrictor (Bottom) | (2) AXT632-25-11 (M4 x 66) Valve
Valve + Double check spacer with + Individual SUP or | (1) AXT632-25-7 (M4 x 146) 4 Spacer (Top) &
residual pressure exhaust  Individual EXH 2 ) 2 For manifold Spacer (Bottom) [
(Top) (Bottom) | (2 AXT632-66-2 (M4 x 96
2 O 0 00
Valve + Interface regulator + Double check spacer with | (1) AXT632-25-14 (M4 x 178) 4
(Top) residual pressure exhaust |~ For manifold
(Bottom) (2) AXT632-66-3 (M4 x 128) 2
Valve + Interface regulator + Individual SUP, (1) AXT632-25-7 (M4 x 146) 4 | For manifold
(Toj Individual EXH or # The individual EXH and restrictor
p (7
Restrictor (Bottom) (2 AXT632-66-2 (M4 x 96) 2 can be mounted on the top.
® 25- 4 O Baningpiais ] 2
Blanking + SUP stop  + Individual (D AXTE32:25-5 (M4 x 82) Blanking plate 2
plate valve UP For manifold Spacer (Top) I
(To) Bottom S Bott
(Top) ¢ ) (2) AXT632-25-11 (M4 x 66) 2 pacer (Bo °’“’u 0
Valve + .SUP stop valve (To.p). + Individual (1) AXT632-25-7 (M4 x 146) 4 ) @ ®
SUP (Middle, Bottom) + Individual EXH o) 2 For manifold = o ~
(Middle, Bottom) () AXT632-25-12 (M4 x 98) ‘
Valve + Double check spacer with residual pressure | (1) AXT632-25-14 (M4 x 178) 4 Single valve
3 exhaust (Top) + Individual SUP (Middle, Bottom) /% For manifold Spacer (Top) )
+ Individual EXH (Middle, Bottom) (2) AXT632-66-3 (M4 x 128) 2 Spacer (Middle) ULl
Valve + Spacer (Top): Interface regulator (1) AXT632-25-14 (M4 x 178) 4 | For manifold 3 otom 1L
Spacer (Middle): “Individual SUP or Individual EXH'/Restrictor" —  The individual EXH and restrictor pacer (Bottom)
() AXT632-66-3 (M4 x 128) 2 | can be mounted on the top. um oo um

Note) When the SUP stop valve and individual SUP are mounted, the stop valve is mounted on the top of the individual SUP.

679

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

==

s
ﬁ

=

o
N

8

=
-
(7]

=
-
=

=
o
<

NS

o



VQC5000 series

Ak

Valve Precautions.

Specific Product Precautions 1

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

\ Continuous Duty |

\ Valve Mounting

A Warning

When the product is continuously energized for a long
period of time (10 minutes or longer), select the low
wattage type (DC specification). The AC type cannot
be continuously energized for 10 minutes or longer. If
anything is unclear, please contact SMC.

\ Manual Override

AWarning

Since connected equipment will operate when the
manual override is activated, confirm that conditions
are safe prior to activation.

H VQC5000
Push type (Tool required)

Bore 06.1

Push down the manual override
button with a small screwdriver,
etc., until it stops.

The manual override will return
when released.

Push down the manual override
button with a small flat head

Locking type (Tool required)

‘ screwdriver until it stops, and

() turn it clockwise 90° to lock it.

Bore 6.1 Turn it counterclockwise to
release it.

Push down the manual override
button with a small flat head
screwdriver or with your finger
until it stops, and turn it
clockwise 90° to lock it. Turn it
counterclockwise to release it.

Locking type (Manual)

'
2 14 mm

A\ Caution
Do not apply excessive torque when turning the
locking type manual override. (0.1 N-m or less)

680

/A Caution

After confirming that the gasket is installed correctly,
securely tighten the mounting screws according to the
tightening torque shown below.

Proper tightening torque [N-m]
1t01.8

Mounting screw (M4)

\ Lead Wire Connection

A Caution

Plug-in sub-plate (With terminal block)
« If the junction cover (D of the sub-plate is removed, you can see
the plug-in type terminal block (2) mounted inside the sub-plate.

* The terminal block is marked as follows. Connect wiring to each
of the power supply terminals.

Terminal block -
marking A coMm B T
Model

vacs10§ Aside COM — —
vQcs5209 A side COoM B side —

3
vacsio? A side com B side —

6

Note 1) There is no polarity. It can also be used as -COM.
Note 2) The sub-plate is double wired even for the VQC510S.

* Applicable terminal: 1.25-3s, 1.25Y-3, 1.25Y-3N, 1.25Y-3.5

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Ak

VQC5000 series

Valve Precautions.

Specific Product Precautions 2

Be sure to read this before handling the products.
Refer to back page 50 for Safety Instructions and pages 3 to 9 for 3/4/5 Port Solenoid

Installation and Removal of Light Cover

Internal Wiring Specifications

A Caution

Installation/Removal of light cover

A Caution

€

(%]
<
[

* Removal 3 o -
To remove the pilot cover pull it straight off. If it is pulled off at E 2 Sz
an angle, the pilot valve may be damaged or the protective 2 § )
O-ring may be scratched. e v
LED: Orange COM.: +(-) VF
DC: Single
VP4
Light cover A side: —(+) B side: —(+)
= = va
3 3
% s 5 J v - 12
v E % —‘7 E va
3 I ‘ 8 4m
« Installation A side LED: Orange COM: +(-) B side LED: Green ¥gc
Place the cover straight over the pilot assembly so that the pilot DC: Double V
valve is not touched, and push it until the cover hook locks LED: Orange

without twisting the protective O-ring. (When pushed in, the
hook opens and locks automatically.)

b

A side
o

\ Replacement of Pilot Valve

/\ Caution

* Removal
1) Remove the mounting screw
that holds the pilot valve using
a small screwdriver.
« Installation
1) After confirming the gasket is
correctly placed under the
valve, securely tighten the
bolts with the proper torque
shown in the table below.

Solenoid coil

AC: Single

Light assembly

Solenoid coil

Solenoid coil
)

COM: +(-)

AC: Double

2= EB
[=}l <
oS

=
-
(7]

=
m
==

=
o
~

Proper tightening torque [N-m] \ How to Calculate the Flow Rate

0.1t00.13

For obtaining the flow rate, refer to flont matter.

Plug Lead Type |

Attaching and detaching connectors

* To attach a connector, hold the
lever and connector unit between
your fingers and insert straight
onto the pins of the solenoid valve
so that the lever's pawl is pushed
into the groove and locks.

* To detach a connector, remove
the pawl from the groove by
pushing the lever downward with
your thumb, and pull the connector
straight out.

Note) Do not pull on the lead wires with excessive force. This can
cause faulty and/or broken contacts.

M Trademark
DeviceNet™ is a trademark of ODVA.
EtherNet/IP™ is a trademark of ODVA.
EtherCAT® is registered trademark and patented technology, licensed by Beckhoff Automation GmbH, Germany.

681

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



	5 Port Solenoid Valve Metal Seal/Rubber Seal: VQC4000/5000 Series
	Features
	Pg. 2
	Pg. 3
	Pg. 4

	Cylinder Speed Chart
	Index
	VQC4000 Plug-in: Single Unit, Base Mounted, Model, Specifications
	How to Order Valves
	Dimensions

	How to Order Manifold VQC4000
	How to Order Continued
	Pg. 2

	How to Order Valves
	How to Order Manifold Assembly, Manifold Specifications
	SI Unit Part Number Table, Manifold Options

	S Kit
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7
	Pg. 8

	F Kit
	Pg. 2

	P Kit
	Pg. 2

	T Kit
	Pg. 2

	L Kit
	Pg. 2

	M Kit
	Pg. 2

	Construction
	Exploded View of Manifold
	Pg. 2
	Pg. 3
	Pg. 4

	List of Valves, Options, Mounting Bolts
	Specific Product Precautions 1
	Specific Product Precautions 2
	Specific Product Precautions 3
	Specific Product Precautions 4
	Specific Product Precautions 5
	Specific Product Precautions 6

	VQC5000 Plug-in: Single Unit, Base Mounted, Model, Specifications
	How to Order Valves
	Dimensions

	How to Order Manifold VQC5000
	How to Order Continued
	How to Order Valves, How to Order Manifold Assembly
	SI Unit Part Number Table, Manifold Options

	S Kit
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7

	F Kit
	Pg. 2

	P Kit
	Pg. 2

	T Kit
	Pg. 2

	L Kit
	Pg. 2

	M Kit
	Pg. 2

	Construction
	Exploded View of Manifold
	Pg. 2
	Pg. 3
	Pg. 4

	List of Valves, Options, Mounting Bolts
	Specific Product Precautions 1
	Specific Product Precautions 2





